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From PTB Exercise:
1. ‘Which of the following represents a collection of g are used to describe the structure of a
database? (FSD-14)/ (LHR-14)
a)  data warehouse b)
c) datastructure d) _ data typ
2. Which of following data model is more fléxible? ( -14)(FSD-19)
(a) network data model b ierarchical data model
(c) relational data model @b, £Objectlata model
3. Which of the following type of file require Jarges€processing time?
(a) sequential file (b) random file
(c) Indexed sequential file (d) direct access file
4. Which of the following may be a file?
(a) Master file transaction file
(¢) backup file none of these
From Punjab Board:
1. A collection of fiélds is cdled: (AJK-19)
(b) Record
(d) File
2. data is called: (SGD-19)
(b) Program file
anag (d) Query file
3. ich ofithe follgwing is also known as data set: (SWL-19)
{ (b) field
(d) module
4, iiitn;of a table correspond to (GRW-19) (D.G.K-19)
(b) record
(d) cell
5. that causes inconsistency lack in: (D.G.K-19)
(a) Good data (b) Dataredundancy

(¢) Data integrity (d) Data anomaly
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6. The process of arranging data in a logical sequence is called. (B ) (SWL-18)
(a) sorting (b) summarizing
(c) datacapturing (d) classifying

7. A set of related files created and managed by a DBMS is called. (SGD-18)
(a) Field (b) Record
() Database (d) Module

3. A collection of raw facts and figures is called. - 'NI/G1-15)
(a) Data (b) Information
(c) Processing (d) None

9. Storage and retrieval of data is related to: (RWP/G1-15)
(a) Data capturing (b) Data manipulation
(e) Managing (d) Datafinding

10. A set of related characters that represents a unit of data is (AJK/G1-14)
(a) Record (b) File
() Field (d) Nonekey

11. Which of the following database model is also referred as Inye (AJK-17)
(a) Hierarchal (b) Netwo,
(c) Relational (d) Obj

12. Data can be recovered in case of loss by using: (D.G.K-14)
(a) Master File (b) Transaci
(¢) Backup File (d)  Data Fil;

13. SQL is used for:
(a) Data definition
(¢) Data definition & manipulatio
14. SQL stands for:
(a) Structured query language
(c)  Self query language Seek query language
15. Data base development process \’ jes mapping of conceptual data model into: (8GD-14)
(a) Object oriented data model 3 Network data model
(c) Implementation modeF Hierarchical model

(FSD-14)/ (LHR-14)/ (SWL-14)

fields, each of which contains ane item of information. A set of records constitutes
personnel file might contain records that have three fields: a name field, an
ber field. In relational datab systems, records are called

e types from usage point of view and functional point of view?

(FSD-14), (FSD/G1-15) (RWP-19)
ypes (Usage Point of View):
File:- These file are latest updated files and never become empty. When the information in records
is changed it is updated in master files.
Transaction File:- In these files data is kept before processing. These can be temporary files. Data in these
files retained till the master files is updated.



Computer [Part-11] Solved Past Papers 3| Page

Backup File:- These are permanent like master files. These files are created using some 3 are utilities.
These files are used to protect data. Used to store copy of actual data.

File Types (functional Point of View)

Program Files These files contain software instruction.

Example: Source program files and executable files. The extension of source and &xecutabl .com
and .exe respectively.

Data File These files contain data. These files are created by the software be;

Example:
Files having extensions like .dat, .doc, .xls, .mdb etc.
Software File types
Word .doc, .rtf
Processar
Spread sheet
Database
ASCIL
Image files
Audio files
Video files
Q3. How do we organize the files on storage media?
Ans.  File Organization (Storage Point of View
Sequential Files: -These files store data
more time to store data. The data stored
last line in a sequential file of 23,000
for using sequential files is their degree of other Program. The drawback to sequential files is
that you only have sequential access to your data u access one line at a time, starting with the first line.
Direct or Random Files: Recdrd}in this type of file is stores on a calculated address. Each record in
accessed directly. In random files is stored exactly as it appears in memory, thus saving processing
time. Random access files can be w ©i,disk space because space is allocated for the longest possible
field in every record. For byte comment filed forces every record to use an extra 100 bytes
of disk space, even if onl d actually uses it. At the other extreme, it records are consistent
in length, especially if/they contiin mostly numbers, random files can save space over the equivalent
sequential form.
Example:

Ans.

In a database ¢

ransformation and Presentation.
Security Management.

ultiuser Access Control.

ackup and Recovery Management.

. Data Integrity Management.

. Database Access Languages and Application Programming Interfaces.
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Q5.  What are the four major comp of the y 2 Write in details.
Ans. Components of DBMS

Bl S o o

Software. This is the set of programs used to control and manage the overall dat
Hardware.

Data.

Procedures.

Database Access Language.

Query Processor.

Run Time Database Manager.

Data Manager.

Q6. Dlscuss the objectives of the databases in your own words?

Ans.  Various Objectives of Database Management System

Mass Storage. DBMS can store a lot of data in it.
Removes Duplicity. If you have lots of data then data dap
Multiple Users Access. No one handles the whole data
Data Protection.

Data Back up and recovery.

Everyone can work on DEMS.

Integrity.

occur for sure at any instance.

Platform Independent ,
Q7.  Describe the different database models. D-19)
Ans.  Types of database models

Q8.
Ans.

Q9.

Ans.

tal ol ol

J RN oL R WD =

Hierarchical database model.
Relational model.

Network model.
Object-oriented database
Entity-relationship model.
Document model.

sed end-user productivity
tage of Database Manag t System (DBMS)
creased casts
anagement intricacy
Maintaining currency
E Jofrom]

F upgr T cycles

1
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From Punjab Board:
1. Define attribute with example. (RWP-19)
Ans.  Inadatabase management system (DBMS), an attribute may describe a compon: databage! such

as a table or a field, or may be used itself as another term for a field.
2. Distinguish between DMBS and data base. (SWL-19)

Ans. The database contains data in a well-structured format. DBMS is a kind of s re that helps you to

3. Write the purpose of index file? (ATK-17), (AJK/G1-16) (AJ]

Ans.  An indexed file is a computer file with an index that allows
its file key. The key must be such that it uniquely identifies a s
other anes are called alternate indexes. The indexes are creatgs

4. List different objectives of Databases. (BWP-14)

Ans.  Various Objectives of Database Management Sy.

dom.actess to any record given
[fimore than one index is present the

. Mass Storage. DBMS can store a lot of data in if.
ieity will occur for sure at any instance.
pase alone.

tal

. Multiple Users Access. No one handles the wh?iz

. Data Protection.

. Data Back up and recovery.

. Everyone can work on DBMS.
. Integrity.

. Platform Independent.

(AJK/G1-14),(D.G.K/G1-15), (D.G.K-14), (LHR-14)

Ans. The camrying out of operal especially by a computer, to retrieve, transform, or classify

information. Data processing, ipulation of data by a computer. It includes the conversion of
“How of data through the CPU and memory to output devices, and
of output. Any use of computers to perform defined operations on data can

5. Define data processing?

formatting or trai
be included under

Ans.  The files th €t of instructions in m machine code to perform various tasks on data are known

executable files. These files have the file extensions exe. or com.

as@singular noun, a program file is a description of a file that stores the code to run
of file is commonly referred to as an executable file. When referring to more than

data dictionary? (AJK/G1-14) (SWL-19}(D.G.K - 19)

et of information describing the contents, format, and structure of a database and the relationship
een its elements, used to control access to and manipulation of the database. A data dictionary is a
file or a set of files that contains a database's metadata. The data dictionary contains records about other
objects in the database, such as data ownership, data relationships to other objects, and other data.
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8.
Ans.

Ans.

10.
Ans.

1L
Ans.

12.
Ans.

13.
Ans.

Define DBMS. JK/G1-15)
A database management system (DBMS) is system software for creating and managi s. The
DBMS provides users and programmers with a systematic way to create, retrieve, update an data,

Data Sources

Operational
System

F—

Operational
Systomn

Flat Filos =
What is a file?
We can think of a traditional database as an elecu'
A field is a single picce of information; a record is ol
records. For example, a telephone boak is analogous to a
Define the term DDL (Data definition langpage).
Data Definition language (DDL) in DBM§’
a standard for commands through whicl
creating and modifying the structure o

Mining
(AJK/G1-15), (GRW-14), (SWL-14)
em, organized by fields, records, and files.
et of fields; and a file is a collection of

(AJK/G1-15) (LHR-19)
ples: Data Definition Language can be defined as
flures are defined. It is a computer language that used for
ase obj€cts, such as schemas, tables, views, indexes, etc.

/GJET5), (MTN/G1-15), (RWP-17), (AJK-17)(FSD-19)

of your important data. In case offata failure or loSs of data, the data can be recovered by using the backup
copy of the data.
Describe consistency constraints.
Constraints are the rules gr a columns of a table. These are used to limit the type of data
that can go inlo a B ensures the accuracy and reliability of the data in
the database. Constraffits couldibe either on a column level or a table level.

Simply we can say £onsistency iniglatabase systems refers to the requirement that any given database

(SWL/G1-15)

information. (BWP-14), (LHR/G1-15), (D.G.K-14)
ata and information is that data is raw material that is to be processed and
d data. Data: ... It is unorganized data or facts that are to be processed. Data is
ocessed for further information.
ata are simply facts or figures— bits of infermation, but not information itself.
scd, interpreted, organized, structured or presented so as to make them meaningful or
d information. Information provides context for data.
Information is created from data

|Data| |Da!a| |Da!a|

Tralning
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14.
Ans.

15.

Ans.

16.
Ans.

17.

19.
Ans.

Why is report generator used in database system?
A report generator is a compuler program whose purpose is to take data from a source# -
XML stream or a spreadsheet, and use it to produce a document in a format which salisfie§a particular
human readership. A database report is the formatted result of database queries and gon(aing ial
decision-making and analysis. Most good business applications contain a built-i ingytodl? this is
simply a front-end interface that calls or runs back-end database queries that @te formatted for easy
application usage.
What is meant by reproduction? (SGD-14)
The process of making duplicate copies of output results (or data) is calledfepraducti ually, the output
result is reproduced to distribute it to different persons or users.

Describe network model, (RWP-18)
The network model is a database model conceived as a flexible wat, nting objects and their
relationships. Its distinguishing feature is that the schema, viewegs ch object types are nodes
and relationship types are arcs, is not restricted to being a hier@

Welcome

Add Receive item
Enlist different types of databas? 1 5. (MTN/G1-15), (LHR-14)

There are four structural ¢ Adinagement systems:

. Object-orie!
Differentiate bel ndancy and data inconsistency.

(SGD-19) (RWP-19)(D.G.K - 19) (FSD-19)

when the same piece of data exists in multiple places in
data inconsistency is a condition that occurs when the same data exists in

yilata inconsistency?  (AJK/G1-16) (SGD-19) (RWP-19) (D.G.K - 19) (FSD-19)
means that different files may contain different information of a particular object or
y leads to inconsi y. When the same data is stored at multiple locations, the

(GRW-14) (SWL-14)
For le, the telephone directory, your personal

are uod examples of desktop database programs. These programs allow users to enter data, stare it,
protect it, and retrieve it when needed. They include databases like SQL Server, Oracle Database, Sybase,
Informix, and MySQL
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21 Define data. Give example.
Ans. Information in raw or unorganized form (such as alphabets, numbers, or symbols) that ry
conditions, ideas, or objects. Data is limitless and present everywhere in the univ
Symbals or signals that are input, stored, and processed by a computer, for output g§ us
22, Define database system.
Ans. A database management system (DBMS) is system software for creating angd m:
DBMS provides users and programmers with a systematic way to create, retrii

ases. The
nage data

database

Ans. The purpose of a database is to store and retrieve
The purpose for a database management sy provide a system (o manage the
different databases it contains (performance, secufity, etc.)

24, Describe data manipulation, (GRW-14), (D.G.K/G1 BWP-14)

Ans. The process of applying different operation on the colle o achieve the required result is called data
manipulation. Data manipulation is the prdeess of ging data to make it easier to read or be more
organized. For example, a log of data copld be gtganized in alphabetical order, making individual entries
easier to locate.

way that is accurate and effective.

25. Describe activities in data processing. (D.G.K-14), (LHR/G1-15)
data to meaningful information through a process.
data entry, summary, calculation, storage, etc. Useful and informative

forms such as diagrams, reports, graphics, etc

Ans. Data processing is simply the conversion ol
The process includes activities
output is presented in various app

26. Define Sorting. 4

Ans.  The fields of a database cfn B&socted'dr rearranged in a number of ways: Ascending order - Arrangement
of data from lowest tophighe fuence. Multiple-field sorting - Sorting on two or more fields of
information, one primf *Gthers secondary. (OR)

The process of dta or records of a table in a specific order i.e., in alphabetical or numeric order
is called data sorl a lata is sorted based on a data in a specific field (or group of field).
27. Define file orgfi different types of file organization.(SGD-14),(FSD-14) (SWL/G1-15)
Ans. File organizdft if organizing the data or records in a file. There are several types of file
m pon of them are sequential, relative (direct) and indexed.

28. ent table and child table. (SGD-14)

Ans. ren s bledhat stores the primary key, A child is any table that references the parent with a
ny these tables parents and children because the child inherits values from the parent

29, (SGD-14) (GRW-14), (FSD-14)

Ans. Js the person who actually uses a product or service. This often differs from the customer,

the entity that purchases a product or service from the perspective of the seller.
[he following are illustrative examples of an end-user.

1. An‘afchitecture firm builds a hotel for a hotel company. The end-users are the guests who stay in the hotel.

2. Parents buy breakfast cereal and kids eat it.

3. A firm purchases business software and its employees use it. In this case, individual employees are end-

users.
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30, Differentiate between master file and transaction file. (LHR-18),(SG!
Ans, A collection of transaction records, The data in transaction files is used to update the
contain the data about the subjects of the organization (customers, employees, vend
file for examples of typical master records master file is never empty, it is always
or processing the master file is called transaction file.

31 What is direct Access File and Sequential Access File?
Ans.  "Sequential access must begin at the beginning and access each element in ordel

access allows the access of any element directly by locating it by its index
allow direct access. Magnetic tape has only sequential access, but CDs }ia

fter the other. Direct
r address. Arrays

32, List the file type from usage point of view, SD/G1-15) (RWP-19)
Ans.  File Types (Usage Point of View):
Master File
> These file are latest updated files and never become enj]
»  When the information in records is changed it is updatgd
Transaction File
> In these files data is kept before processing.
»  These can be temporary files.
3>  Datain these files retained till the master files is
Backup File
»  These are permanent like master fil

»

LONG QUESTIONS

L ahtapes and four disad ges of datab 2 system (DBMS).

(LHR/G1-16), (D.G.K/G1-16) (MTN-19) (D.G.K - 19) (SGD-19)
2. What i three types of database models. (SGD/G1-16) (FSD-19)
3. ibe the file types from usage point of view. (BWP/G1-16)(RWP-19)
4. tem? Explain any three major components of database systems.

(KSMR/G1-16), (MTN/G1-16), (AJK/G1-16) (SWL-19)

X 4 4
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1.

From Punjab mr :

From PTB Exercise:

Insert command is used to insert: 5) (LHR/G1-15) (FSD-19) (MTN-19)
a) anewtable i NeEw

c) aview d) depen?ies

CREATE command is used to create a:

a)  fable

c)  report urey

SQL is used for:

a) data defi.nitiuu b) ‘manipulation

c) 3
The furmgn key is fmmd in:
a)  parent table
c) pivot table

searching records

nd bl
index table

A table /Relation M; (SAYL- 14) (SGD-14) (MTN-19) (SWL-19) (LHR-19)
a) primary key secondary key
c) composite d) sortkey

A virtual tab cted from other tables is called: (RWP-19)

(a) vie ) Table (c) Relation (d) Tuple
Whi 8 correct association? (SWL-19)

(a) (b)  record =row

(d) record = table
loWing can be a primary key: (LHR-19)

(b) Salary
y (d) Region
gical grouping of characters is a :- (MTN-18) (RWP-19)
Field (b) Record
ile (d) Table
Creale command is used to create. (D.G.K/G1-15)
(a) Table (b) View

(c) Report (d) Query
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5. In a relational database, a single piece of information is called:- (MTN-18)
(a) Table (b) Record
(c) Entity (d) Attribute
[ An attribute is also known as a. (SGD-18) (AJK-19) (AJK/G1-15)(GRW-14)/( -14)
(a) Table (b) Relation
(c) Raw (d) Field
7. A primary key that consists of more than one attributes is called: (RWP-18)
(a) Foreign key (b) Composite key
(c) Multi valued key (d) Glabal key
8. Which of the following is used to inte entities with one anoth (SWL-18)
(a) attribute (b) relationship
(c) identifier (d) object
9. The foreign key is found in (SWL-18)
(a) parent table (b) pivot table
(c) dependent table (d) index tal
10. A row of a relation is called: (BWP-15)
(a) Auribute (b) Enti
() Tuple (d) Field
11. No. of primary keys can exist in a table: (MTN/G1-15)
(a) One Two ,
(c) Three
12, Which of the following keys does no (SWL/G1-15)
(a) Candidate key
(c) Primary key
13, Arow of a relation is called a(; (RWP/G1-15)
(a)  Auribute Entity
(¢) Tuple ( Field
14. In MS Access, table does (SGD-18)
(a) Field (b) Record
(c) Character (d) File
16. wn as control key? (AJK/G1-14) (SGD-19)
(b) Sort key
(d) Secondary key
17. een end user and data base administrator? (AJK/G1-14)
(b) Data base administrator
(d) Analyst
18. ta base is stored in: (AJK/G1-14)
(b) Queries
(d) Reports
20. (ATK/G1-16)
(b) Attribute
(d) Relationship
21. The Fow of a table is also called; (AJK/G1-16)

(a) Entity
(c) Cell (d)

(b) Auribute

Record
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22. A table in which the foreign key is found is called: (BWP-14)/ (D.G.K-14)/ (FS / (LHR-14)

(a) Parent Table (b) Dependent Table
(c) View (d) All these

23. A category of data or information that describes an entity is called a (n ): (BWP-14)
(a) Attribute (b) Dataltem
(c) Record (d) Tuple

24. How many primary keys can a relation have? .G.K-14)
(a)  Atleasttwo (b) Onlyone
(c) Nolimit (d) Three

25. In relational database, a table is also called a: (SWL-18) (FSD-14)/, (LHR-14)/ (SWL-14)
(a) Tuple (b) Relation
(c) File (d) Schema

26. In a relational database, a single piece of information is called, (FSD-14)/ (LHR-14)
() Field (b) Record

(c) Entity (d) Attrbute

27. A primary key that consists of more than one attribute is{¢a (GRW-14)
(a) sortkey (b) candidate key
(c) secondary key (d) composi

28. A relation is analogous to: (LHR-14)/(RWP-14)
(1) Raw (b) Fiel
(¢) Record (d) File

29. A database containing all students in a class would s data of students in: (RWP-14)
(@) Record Field
(c) Cell )

30. A table / relation must have: SWL-14), (SGD-14) (MTN-19) (SWL-19) (LHR-19)
(a) Primary key St

(c) Composite key

QL constructed in traditional file management system?
Ans. gdechnology is based on file systems. Record data follows certain storage format
mld be directly accessed in the operating system. However, while file

Q2. ced a

Ans. ié s obtaining data from a database management system such as ODBMS. In this case,
s represented in a structured way, and there is no ambiguity in data. In order

ata the user present a set of criteria by a query.

Q3. /] elations Are Formed Up In Dbms?

Ans. glation s usually, described as a table, which is organized into rows and columns. All the data referenced

Qs.

Ans. { ibles have six properties:

‘olumn values are of the same kind.

ch row is unique.

e sequence of columns is insignificant.
The sequence of rows is insignificant.
Each column must have a unique name.
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From Punjab Board:
1. What is key? (AJK/G1-16)
Ans.  Akeyis an attribute (field) or set of attribute of a relation. Keys are defined in the relatign f follgwing
purposes:
> For uniquely identifying the records of a relation.
> For establishing relationships between of a relation.
> For quickly accessing particular records from the relation/ table.
> For sorting recards of a relation based on the data of ene or more columns.
List different types of keys used in relations.
Different types used in relations are: Primary key, secondary key, candid ilternate key, composite
key, sort key and foreign key.
2. Define candidate key? (AJK/G1-14)
Ans. A candidate key is a column, or set of columns, in a table that
without referring to any other data. Each table may have one
key is unique, and it is called the primary key.
3. What are the properties of a relation? (AJK/G1-14),(R
Ans. A relational database model is based on the concept of a
certain properties or characteristics. These propertii
Relational tables properties:
1. Values are atomic.
2. Column values are of the same kind.
3. Eachrow is unique.
4. The sequence of columns is insignificdnt. ,
5. The sequence of rows is insignific
6.  Each column must have a unique,
7. Each Column Has a Unique Nam
4. Define the term table or relation. )(SWL-14)(D.G.K/G1-15)(AJK/G1-15)(MTN-19)
Ans. A table is a collection of related data heldina s ured format within a database. It consists of columns,
and rows. ... "Table" is another ti r "relation”; although there is the difference in that a table is vsvally
a multiset (bag) of rows where a ri s a set and does not allow duplicates.
5. List different types of ke (D.G.K-14) (SWL/G1-15) (LHR-19)
Ans.
ne or more than one keys that can be used to identify a record
imary key, Unique key, Alternate key are subset of Super Keys.
6. (SWL-14)(LHR/G1-15) (GRW-14) (BWP 15)
Ans. ot Lh:n takes a value and is associated with an obiject, such as an item, a region, a
ag ern] an aftribute is a characteristic. In a database management system (DBMS), an attribute
¢ component, such as a table. It also may refer to a database field. Attributes describe
fhe row of a database.
7. fferent between Record and Field? (BWP-15) (MTN/G1-15)
Ans. in records. A record is composed of fields and contains all the data about one particular
compbany, or item in a database. In this database, a record contains the data for one customer support
ent report. Records appear as rows in the database table.
8. Write two field types used in MS-Access. (BWP-15)
Ans. The Text data type is used for short text fields of limited length, and can contain up to 255 characters.

Memo. A Memo field is a virtually unlimited text field. It can store up to 1GB of text
Microsoft Access supports text in a variety of languages and alphabets.
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ze

Fields in a Microsoft Access database can be of many different data types. Access supportssdifferent kinds
of text, numbers, dates and some more special data types. This document will descri
note which versions of Microsoft Access support it.
Textual types (AJK-19)

Text

Memo
A Memo fieldisa vinually unlimiled text field. It can store up to 1GB of tex(>

text m deferem alphabets. ThercforeMlcrmoft switched to lhe Unlcod ]

MDB Viewer automatically supports all encodings used in Access.

Numeric Types

Byte, Integer and Long Integer

Decimal

Currency

Float and Double

Other Types

Date/Time

Yes/No

OLE Object

Complex Types

Multi-Valued Field

Attachments

Memo version history
‘What is the use of text data type? (A.
Text or combinations of text and numb
as text and used as a hyperlink add
8,192 (each part of a Hyperlink data
contain up to 2048 characters). The Lo
Wizard entry in the Data T
Design view is not actually a d.

ficading in Access 2000.

) 1

Fleld Name Data Type
Something

Memo
Number
Date/Time

N Currency
olumn in the' | AutoNumber
Yes/No

OLE Object
Hyperlink
Attachment
Calculated
Lookup Wizard...

Foreign Key
We can have more than one foreign key in a table

cl fidex and data in the | Foreign key do not automatically create an index,
physically orgapized in the sequence of | clustered or non-clustered. You can manually create
an index on foreign key.

Foreign key can accept multiple null value.

Foreign key is a field in the table that is primary key
in another table.

DllTerenu ‘V fween candidate key and alternate key. (FSD/G1-15) (BWP-14)
fe' of an Employee table:
ployee ID [‘ulanme, SSN, Dept ID):

"wimary Key: is the columns you choose to maintain uniqlJEness in atable, Here in Employee table you can
choose either EmployeeID or SSN columns, EmployeelD is preferable choice, as SSN is a secure value.

3. Alternate Key: Candidate column other the Primary column, like if EmployeelID is PK then SSN would
be the Alternate key.



Computer [Part-11] Solved Past Papers 15 | Page

12. Differentiate between primary key and secondary key.
(SWL/G1-15) (MTN/G1-15) (D.G.K/G1-15) (D,G.K-1. -14)
Ans, The difference between Primary Key and Secondary Key are stated below:-
Primary Key:
1) Is used for Unique Identification of Rows
2)  We have only one Primary Key per table

3)  APrimary Key is one of the Candidate Keys or you can say one of the jrred super key, depends
on database designer which one he needs.

Secondary Key:
1) Is used for Identification of Rows but not usually Unique
2)  We can have multiple Secondary Key per table

3)  Attribute used for Secondary key are not the ones used o
be one of the Super Key.

Key i.e. Secondary Key is not even

13. Identify name of entity and primary key in the following:
Ans. STUDENT (Student ID, St name, Group)
Entity name = STUDENT
primary key = Student ID
14.  Define key / field. (RWP-14) (RWP-14) (ATK/G1-15)

Ans. A field in a record that holds unique data which ide:;lj?u that'record from all the other records in the file
or database. Account number, product c mer name are typical key fields. As an identifier,
each key value must be unique in each

(LHR-18)

15. Distinguish between data dependence
(SGD-19)

Ans. Data dependence mean the data js.dependence up6n application programme. When we change in data so
also change in application progran i
Data independence mean data is inde Iént on application programme or vice versa. If we change in data
so there is na change in ap ion

ndence. (RWP-14) (BWP-15)

e

uestions in this Chapter by Punjab Text Book Board.

Yy



Computer [Part-11] Solved Past Papers 16 | Page

MULTIPLE CHOICE QU

From PTB Exercise:

1. Which of the following keys does not hold uniqueness pro
a)  Candidate key b) i, 4
c)  Primary Key d) )

2. An entity related to itsell in an ERD model refe j

a)  Recursive relationship b) Om: to- rela
c)  Many-to-many relationship d) p, One-to #ﬂ relationship

3. Database development process involv&s ppmg onceptual data model into:
a) Object ariented data model i pétwork data model

c)  Implementation Model d F ler:u' ical data model
4. In ERD model, the relationship betweentyo 5 is represented by a: (AJK-17)(AJK-19)
a) Diamond Symbol b)
c¢)  Oval Symbal d)
5. In hybrid distribution which gments is stored at only one site?
a)  Critical fragments Non-critical fragments

c)  Critical and non-criti only large fragments
From Punjab Board:
1. Graplucal represent; ram is called: (D.G.K-19)
Binary chart
E - R chart
2. lered during. (SWL-19)
j requirement analysis
data analysis
3. (RWP-19)
Attribute
Relationship
4. (MTN-19)
Relationship (<) Cardinals (d) Entity
5. lowing is used to describe the characteristics of an object:
(SGD-19) (LHR-19) (GRW-19)
(b) Attribute
y (d) Entity
6. ' R d:agram, a rectangle represented. (D.G.K-19)
(b) Attribute
(d) Decision
7. Mergmg the relation is also known as: (RWP-18)
(a) view integration (b) view entitles

(c) view tables (d) view relations
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8. A database consists of various components called: (MTN/G1-15) (FS, ) (BWP-15)
(a) Toals (b) Properties
(c) Entities (d) Objects
9. Which of the following is used iat ities with one another; HR/(1-15)
(a) Entity (b) Attribute
(¢) Identifier (d) Relationship
10.  How many types of relationship can be used? (BWP-15)
(@ 1 b) 2
(© 3 d 4
11. An entity related to itselfl in an ERD model refers to:
(RWP/G1-15)(BWE 14)(LHR-14) (FSD-19)
(a) Recursive relationship (b) One to many relationship
(c) Many to many relationship (d) One to one relati i
12. ____types of relationship can be used. (MTN/G1-15)
(@ 2 ) 3
© 4 d 5
13. Which is not included in the definition of an entity. (D.G.K/G1-15)
(a) Person (b) Objec
(¢) Concept (d) Acti
14. A relational database, table is also called. (D.G.K/G1-15)
(a) Table (b) Relatio
(c) File (d) Schema
15. A database consist of various componen (D.G.K/G1-15)
(a) Tolls
(c) Entities
16. How many types of relationship can b (D.G.K/G1-15)
(@ 2 (b)
(© 4 @ 5
17. A person's name, birthday an security number are example of: (MTN-18)
(a) Attributes Entities
(c) Relationships Descriptors
18. Which of the following i distribution strategy? (AJK/G1-14)
(a) Centralized (b) Partitioned
(c) Replicated (d) Duplicated
19.  The relationship, and their capitals is an example of: (AJK/G1-14)
(a) One-to-one (b) One-to-many
(c) (d) None
20. In ERD mi i ip between two entities are represented by; (AJK-17) (AJK-19)
(a) (b) Oval
(c) (d) Diamond
21, les used in a database: (BWP-14)
(a) e corregt data is entered (b) To avoid typing errors
(o) (d) Neither A nor B
22, owing is not a basic data distribution strategy? (D.G.K-14)
(b) Partitioned
(d) Duplicated
23. one is not related to an entity? (GRW-14)(SWL-14)
person (b) concept
ction (d) object
24, A relationship between countries and capitals is an example of relationship: (RWP-14)

(a) One-to-one (b) One-to-many
(c) Many-to-many (d) Many-to-one
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SHORT QUESTIONS ANSWERS

From PTB Exercise:

Q.1  Describe different steps involved in analysis stage while designing a datab:

Ans. Data analysis involves the activities of Data Flow Diagram (DFD), Decisi les(A data flow
diagram (DFD) is a graphical representation of the "flow" of datsf vha ation system,
modelling its process aspects. A DFD is often used as a preliminary stefito create an@verview of the system
without going into great detail, which can later be elaborated. ) and Dégi Working on a decision
tree database design. ... Each Decision tree is composed of Decision Branch(es) and Leaves.
Each Decision node has a name and position. Each Branch is a pafifana possible decision or occurrence).

Q.2 Explain the following with the help of figures: 4

(a) Entity /Object :

Ans.  Anentity is any object in the system that we want to model and} mation about. Entities are usually
recognizable concepts, either concrete or abstract, suchsa san; s, things, or events which have
relevance to the database. Some specific examples offentities are Employee, Student, Lecturer.
(b) Attribute:
In general, an attribute is a characteristic. In a databags nt system (DBMS), an attribute refers
to a database component, such as a table. It also may r database ficld. Attributes describe the
instances in the row of a database.
(¢) Relationship:
A relationship, in the context of datab; situation that exists between two relational database
tables when one table has a foreign ki e primary key of the other table. Relationships
allow relational databases to split and s rent tables, while linking disparate data items.
(d) Cardinality: (FSD-19)
In SQL (Structured Query Language), the term cardinality refers to the uniqueness of data values contained
in a particular column (attributé) afa database table. The lower the cardinality, the more duplicated
elements in a column. :
(f) Modality; (FSD-19
Modality refers to the wniber of times an instance in one entity can be associated with an
instance in the related gntity. Gardinality*refers to the maximum number of times an instance in one entity
can be associated wi i

Q.3  Draw and explai

Ans.

ER Diagram for University Admission Management System
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Q4

Ans.

(b)

Q.5
Ans,

Explain the following:
() Physical data model:
A physical dnta model (or dntnbase design) is a representation of a dnta desi;

derives from a logical dala model, though it may be reverﬂe-engmeered fi
implementation.

Conceptual data model:

The conceptual model is also known as the data model
when a datab. system is impl 1. It hides the istel
describing entities, data type, relationships 4n ﬁq

What are the components of a logical d.

A logical data model or logical schemia, is
independently of a particular database manages
but in terms of data structures such as relational

A data model theory has three m:
are used to create databases repres

Logical Data Model:
Entity Types;
Altributes;

used to describe the conceptual schema
details of physical storage and targets on

{model of a specific problem domain expressed
product or storage technology (physical data model)
ibles and columns, object-oriented classes, or XML tags.

ponents: The structural part: a collection of data structures which
entities or objects modeled by the database.

Relationships; ans

Domains.

Rules for translation: Entities b tables in the physical database.

as€ Design Process:

: Define the Purpose of the Database (Requirement Analysis)
Step2: Gather Data, Organize in tables and Specify the Primary Keys.
Step 3: Create Relationships among Tables.

Step 4: Refine & Normalize the Design.
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Q.7

Ans.

Q.8

Ans.

Q9

Ans.

Q.10
Ans.

Define and explain the following terms:
(a) Data distribution strategy

Many organizations today have distributed computer netwaorks. These organization fi
problem in physical database design. They have to decide nodes (or sites) in the netgvorl
be located physically.

(b) File Organization:

Orgamzcs data carefully lo suppun fast access lo desired 5ub5ets of rcccrds

ation1s a method
stored as a file of

organization, the most common of them are sequential, relative (dire
Define the term Analysis. (SWL-19)

Database analysis to Big Data analysis. Database analysis mgl¥Big Data analysis, is the
process of extracting this data, cleaning it, potentially A i
statistical analysis to better understand customers and custor
Briefly discuss the followings terms:

(a) Feasibility stndy

An analysis and evaluation of a proposed projecy
is feasible within the estimated cost, and (3) wi i
conducted where large sums are at stake. Also calle
(b) Requirement Analysis

Requirements Analysis is the process of determini hatthe database is ta be used for. It involves
interviews with user groups and other holder§/to identify what functionality they require from
the database, what kinds of data they wi§h to pgdcess and the most frequently performed operations,

(¢) Project Planning

e if it (1) is technically feasible, (2)
easibility studies are almost always
analysis.

consists of data from completed cts, with each project providing one data record.
(d) Data Analysis (
Database analysis, or increa:
potentially merging it wit]

ning phase begins when a customer requests to develop a database system, It is a set of

es. It decides the resourced required in the database develoy It also decides the time

Analysis is done in order to understand or study the current system. It is very impartant activity for the
development of database system. In this phase the requirements and expectations of the users are collected
and analyzed. The collected requirement help to understand the current system and for the improvement of
that system (or for designing the new system).
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3.

)

(ii)

From Punjab Bo

1.
Ans.

Database design
The database design is very important step of database development process. In this ghase, t abase
structure is designed.

Database design is divided into two steps:
Logical database design: (GRW-19)

In logical database design the conceptual data model (or logical data mode] database
structure for a specific DBMS. If there is a relation DBMS, then the concept madel are mapped to
the normalized relations.

Physical database design:

In physical database design the logical database design is converts inl|
files and tables. The indexes and access methads are also specified)
concerned with security backup and recovery etc,
Implementation:

of this phase is to install and run the database system.

In database implementation phase the database administzat

Technology Model

Define E-R

(AJK/G1-16)
m (ERD) is a data modeling technique that graphically illustrates an
s and the relationships between those entities. An ERD is a conceptual and

data used to represent the entity framework infrastructure.
Caty Rkatiorati S st ek Mol
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2,
Ans.

Ans.

Ans.

Ans.

7.
Ans.

‘What is data modeling? (A JKIGl 16)
Data modeling is a r ion of the r]ntn structures in a table for a company's dadb a very
powerful expression of the pany's b requi This data model is{the de uséd by
functional and technical analysts in the design and impl ion of a datat

State the purpose of database design process. (A 51-16).
A design process suggestion for Microsoft Access. Determine the purpese of th his helps

prepare for the remaining steps. Find and organize the information require:
information to record in the database, such as product name and order number.
Write use of ER diagram.

Entity Relationship Diagram is a high-level description of a conceptua

£ n entity relationship
diagram (ERD) shows the relationships of entity sets stored in a dat,

ning the entities, their

Exa.mple‘ There are three entities involved station railwaygand
attributes of railway are railway no. railway name railway type
waiting room, office, canteen, station id
Why is requirement analysis conducted? (D.GK -19)
Requirements analysis involves all the tasks that are g U tonidéntify the needs of different
stakeholders. ... High-quality requirements are doc ble. ble, traceabl
helps to identify business opportunities, and are de
What is the purpose of logical database design?
The goal of logical database design is to create well s
business environment. Logical database design h
information requirements. When you cry

gel's railway has station and
qdy seats and station attributes are

(GRW-19)

y define and communicate your business'
| database design, you describe each piece of

of information
Explain different components of Iugmal m
Logical Data Model Concepts:

independently of a particular datal
but in terms of data structures such

onents: The structural pan a collection of d:\la structures whu:h
3 the entities or objects modeled by the database.

_{: process. The database and database system must be acceptable to the organization and all
irs can easily perform different operations on the database and no problem can be created for

i¥ities are involved in data analysis? (FSD-14)
nalysis involves the activities of Data Flow Diagram (DFD), Decision Tables and Decision Trees.
V the purpase of feasibility study. (RWP-17)(D.G.K-14)(D.G.K/G1-15)(SGD-19)

ajects lifecycle, the project feasibility study is the second document that is created following the
business case. The purpose of this study is to determine the factors that will make the business opportunity
that was pr d in the busi: casea
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11.

12.

The word feasibility means possibility. Feasibility study is also called preliminary invess
step, the financial, political, technical and time frame feasibility for the system are
feasibility study is conducted to find cut whether the propesed system is possible to de’
for the organization. The objective of feasibility study to evaluate different solutig
maost feasible (possible) and least expensive solution.
Define entity, give examples also.

(D.G.K-14) (RWP/G1-15) (SWL-14) (D.G.K/G1-15)(LHR/G1485) (.
Anything in the real world that has a set of different auributes or properties is as entity. An entity
may be an object with a physical existence such as a person, a place, a An L N a unique name.
An entity may have attributes (or properties) each with a unique name#I1 bout different entities is
collected and stored in tables/relations of database. For example, the €r ¢
the form of database modeling as follows:
STUDENT (ROLL_NO, Name, Address, Date _ of _ Birth)

(/G1=15)Y (LHR-19)

In the above example, “STUDENT” is the name of entity anddfs“attributes are given in brackets after the
entity name. From the above definition of “Student” entity wg [Lhe table as follows:

Roll_No Name ) Date_of_Birth
car, a computer, a house, a student ete. similarly, an enti v object with a conceptual existence such as

university course, account, a job, an event etc.
Define modality.
The modality define the nature of relationship as either i!'s optional or datory. If the

in one entity is zero for an instance of her rel. entity, then the relationship is called optional.
Similarly if the minimum instance in one t least one for an instance of another related entity, then
the relationship is referred 1o as manda

How a relation is formed in Database’

(BWP-14)
The maxi number of i of one entt an be associates with each instance of another related
entity is known as cardinality o
can have only one capital. Simil:

entity that can be associates with each instance of another related
entity is known as cardipalit ip. The cardinality is expressed as one or many such a country
can have only one cagital. Similarlgpa mother can have many children.

Dilferentiate betwéen carflinality and molitday. (FSD-19)
Cardinality refers tajufe’ ifiim number of times an instance in one entity can be associated with
instances in thé : dality refers to the minimum number of times an instance in one entity
can be assogiat i instance in the related entity.

(SWL/G1-15)

3. Relationships
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17.
Ans.

Ans.

Ans.

Define database integrity. (MTN/GI-15)(FSD/G1-15) (AJK-19) (MTN-19) (RWP-,
Data integrity e.g Database integrity means the correctness and consistency of data. I
database protection. Security means that the data must be protected from unautharized
is related to the quality of data. Integrity is maintained with the help of integri
constraints are the rules that are designed to keep data consistent and correct. The; i on the
incoming data. It is very important that a database maintains the quality of the it. DBMS
provides several mechanisms to enforce integrity of the data.

TYPES OF INTEGRITY

1. Entity integrity

2. Referential Integrity

Give one example of one - to — one relationship.
One-to-One

A row in table A can have only one matching row in table B, and yice

Employee

Employeeld
FirstName
LastName
Payld

Example of a one-to-one relationship
This is not a common relationship type, as the data™s could just have easily been stored in
table A. However, there are some valid reasons fa this relationship type. A one-to-one
relationship can be used for security purposes, to divide getable, and various other specific purposes.
In the above example, we could just as easilyR fﬂuurly Rate field straight into the Employee table
and not bothered with the Pay table. Ho te could be sensitive data that only certain database
users should see. So, by putting the houy ednto a sgparate table, we can provide extra security around
the Pay table so that only certain users can ata in that table.

‘What is a relationship? (GRW-18) (MTN/G1-15) (LHR-14)
In a relational database (Access), the data in onefable is related to the data in other tables. In general,
tables can be related in one o different ways: one-lo-one, one-to-many or many-to-many. The
mation between tables

& pravided by good RDBMS. (SWL-14)(D.G.K/GL-15)(GRW-14)(ESD-14)(GRW-19)
taewaels pe

Sharing Is Improved In The Organization.
mprovement In Data Security.
Effective Data Integration.
Database Management Systems Minimize Data Inconsistency.
. Better Access To Data.
. Increase In Productivity Of The End User.
. Quick Decision Making.
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4,
Ans.

Ans.

Ans.

Ans.

Ans.

Ans.

What is DBMS? Please define alsa its Name two features of DBMS? (BWP-15)(SWL-
A collection of program that are used to create, maintain and access databases 48
management system (DBMS). Today, the mast popular and commonly used DBMS i

Some important advantages of DBMS are: data sharing, data independence,
relationships, data security and data backup and recovery.
What is an entity in an ERD?
Anything in the real world that has a set of different attributes or properties i as entity. An entity
may be an object with a physical existence such as a person, a place et entity may be an
object with a conceptual existence such as university course, account, afob vent etc<Some example of
entities are teacher, class, student, car. Computer and Aeroplane. (
In e-r diagram, a rectangular box is used to represent an entity. The namig
inside the gular box. For example, student and computer entities
[ STUDENT | | COMPUTERY
What is data integrity? (MTN/G1-15).  (FSD/G1-15)(
Data integrity refers to the carrectness and consistency of d
certain constraints. These are the consistency rules that checkl
rules can be applied to database so that the correct data car
How entity integration attained? (AJK-17) \
Entity integrity is attainted (achieved) by specifyj
value can have a null value. If no value is enteréy
message. If primary key consist of composite key
that are part of the primary key
What is the concept of Data Distribution Strategy? (LHR-14)
Many organizations today have distributed@®mputerfi€iworks. These organization face data distribution
problem in physical database design. Theyhave ta decide nodes (or sites) in the network at which data will
be located physically.
Distinguish between entity class and

pital letters is written
d as follows:

-19) (RWP-19) (D.G.K - 19)
Integrity §§ usually expressed in terms of
c dmu befgre storing into database. These

key in the relation. No primary key
tey field then DBMS display an error
Antegrity is also applied to all attribute

‘database. It can be anv obiect. place. person or class.
re data in the form of table containing information
etc.

(AJK-19) (BWP-14) (SWL/G1-15) (LHR-19)
Moadel? Explain logical database design. (SWL-14)
bined to prnduce physncul database deilgn” Explaln (RWP-14)

(FSD/G1-15) (D.G.K-14), (LHR/G1-15) (FSD/G1-16)
(LHR-17) (SWL-17) (SWL-17)
(AJK/G1-15)(RWP/G1-15)(AJK/G1-14)

Writé“in detail basic Data Distribution Strategies. (BWP-15) (AJK-17)

% 2 % 3
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From PTB Exercise:

1. In 3NF, which form of dependency is removed?

a) Functional b)
c)  Associative

2 In relation database, a table is also
a)  Tuple
c¢) File

3. In, 3NF, a non-key attribute
a)  Non-key attribute
)  Composite key

4. Different attributes in t
a) Homonym
c) Acronym

5. Every relation m ave,
a) Secondary b)

d)

d

(b)
(d)
form of dependency is removed: (BWP-15)
(b)

Associative (d)

(MTN-18)

Non-Fugietional

a (n): (D.G.K - 19) (FSD-19) (SGD-19) (GRW-19)
key attribute
Sort key

having same name as referred to as:

Synonym
Mutually exclusive data

Alternate key
All of these

is removed in 2NF? (SWL-19)
(b)
(d)

transitive

partial

(SGD-18)
Transitive

Partial

Partial
Transitive

4, Different attributes in two different tables having same name are referred ta as;

(a) Synonym (b)
(c) Acronym (d)

(AJK/G1-15)(ATK-19)(SGD-14)
Homonym
Mutually exclusive
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8. Transitive dependency is removed in;  (AJK/G1-16)(BWP-14) MTN/G1-15) (MTN-18) (M ) (RWP-19)
(a) 1% Norma form (b) 2™ Normal form
(¢) 3" Normal form (d) 4" Normal form

9. Data inconsistency is a caused by; (AJK/G1-16)
(a) Organized data (b) Integrated data
(c) Independent data (d) Redundant data

10. In 3NF, which form of dependency is removed:

(RWP/G1-15) (MTN-18) (RWP-19) (BWP-14) MTN/GI= 'TN-18) (MTN-19)

(a) Functional (b) Non-functional
(c) Associative (d) Transitive

11. Referential integrity is applied on: (D.G.K-14)
(@) Primary Key (b) Foreign Key
(c) Secondary Key (d) Candidate Key

12. Which one refers to the correctness and cansistency of dal (GRW-14)
(a) dataindependence (b) date integrati
(c) data integrity (d) data model

13. The goal of normalization is to: (LHR-14)
(a) Increase number of relation

(b)  Get stable data structure
(c) Increase redundancy
(d) None of these
14, In 2NF, which form of redundancy is removed
(b)

(a) Functional Partial
(c) Associative Transifive

(RWP-14)

S ANSWERS

From PTB Exercise:

Q.2  What do we do to attain€ egrity?

Ans, Entity integrity is attajg i By specifying the primary key in the relation. No primary key
value can have a n iGyvalue is entered in primary key field then DBMS display an error
message. If prim omposite key then entity integrity is also applied to all attribute
that are part of t
Q3
Ans.

Q4
(a)
i)
i)

d when twa different names are used for the same information or attribute.
e must be same if it exists in two or more entities.

STDSUBJECT
e— STD_NO (error)

SUB_ID

SUB_NAME
e example two entities are related and have common field STD_ID. But here it is used with different
name. It is an error. It must be used with same name and STD_NO in STDSUBJECT table must be replaced
with STD_ID.
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(b) Homonym (FSD-19)

Homonyms are two words that are spelled the same and sound the same but have diffi

(c) Redundancy (RWP-14) (GRW-14) (SWL-14) (LHR/G1-15) (SGD-19) (RWP-1

i) Data redundancy is a condition created within a database or data storage techndlogy in which same
piece of data is held in nvo separate places.

i) This can mean two different fields within a single database, or two differe e software
environments or platforms. Wh data is re d, this basically constitutes edundancy. This can
occur by accident, but is also done deliberately for backup and recovery pugpo

d) Mutual Exclusiveness of data :

i) Mutually exclusive mean having one out of a few options.

fii) In mutual exclusion only one option or set of specified options can be sele

Example:

STUDENT

i) STD_ID

ii) STD_MARRIED

iii) STD_ SINGLE

iv) In above example attributes STD_MARRIED and £ '@‘J e mutually exclusive fields. Only one
field can give the required information therefore gl icld is required instead of two ie.
STD_MARRIED_STATUS.

Q.5  What is normalization? How it can be usgd to bris e database in a consistent state?

(RWP-19) (AJK-19)

Ans.  Normalization is process of converting cture into simple and stable data structures.

Normalization is a technique for reviewin,
are stored from where they belong.

In other words we can say that il cess of analyzing the dependencies of attributes within entities.

Before normalization a few terms
Normalization steps:
Normalization is acco
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Datab Normalization E F
Assume a video library maintains a database of movies rented out. Without any normalizagien, all i ation
is stored in one table as shown below.
Full Names Physical Moviesrented Salutation
Address
Janet jones First Street Plot Pirates of the Ms.
No4 Caribbean,
Clash of the Titans
Robert Phil 3 Street 34 Forgetting Sarah Mr.
Marshal,
Daddy’s Little Girls
Robert Phil 5™ Avenue Clashof the Titans | Mr.
Table 1

Here you see Movies Rented column has multiple values.
Datahase Normal Forms

Now let's move into 1™ Normal Forms
INF (First Normal Form) Rules

> Each table cell should contain a single value.

> Each record needs to be unique.

The above table in INF-

1NF Example

FurL NaMmEes PHysicAL MOVIES RENTED SALUTATION
ADDRES!

JanetJones First Stree tesof the Ms.
No4 ribbean

JanetJones FistiStreet Plot Clash of the Titans | Ms.

Robert Phil Forgetting Sarah Mr.

Marshal
RobertPhil Daddy’s Little Girls | Mr.
RobertPhil Clash of the Titans | Mr.

Q.6 i i ‘ m'm al form? Explain with example
Ans.

‘malized table into first normal form? Consider the following example:
TABLE_PRODUCT

Product ID Calor Price
1 red, green 15.99
2 yelow 2399
3 green 17.50
4 yellow, blue 9.99
5 red 29.99

This table is not in first normal form because the [Color] column can contain multiple values. For example,
the first row includes values "red" and "green."
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Q.7

Ans.

To bring this table to first normal form, we split the table into two tables and now we he resulting
tables:
TABLE_PRODUCT_PRICE TABLE_PRODUCT_COLOR
Product 1D Price Product 1D Color
1 1509 1 red
2 23499 1 green
3 1750 2 yellow
[ 9.93 3
5 29.99 1
[]
5

Now first normal form is satisfied, as the columns on each tablg

2nd Normal Form Definition (FSD-19)
A database is in second normal form if it satisfies the following,
It is in first normal form

All non-key attributes are fully functional dependent g
In a table, if attribute B is functionally dependent oA
of A, then B is considered fully functional dependentis
cannot be dependent on a subset of the primary key. Note e primary key is not a composite key, all
non-key attributes are always fully function; depen;?o primary key. A table that is in Ist normal

form and contains only a single key as the ary kegfis autamatically in 2nd normal form.

2nd Normal Form Example
Consider the following example:

TA SE_DETAIL

Customer ID Store ID Purchase Location

1 1 Los Angeles
1 San Francisco
Los Angeles

New York

San Francisco

1 dary key [Customer 1D, Store ID]. The non-key attribute is [Purchase
Location]. In 8¢ Location] only depends on [Store ID], which is only part of the primary
ynot satisfy second normal form.

To bring d normal form, we break the table into two tables, and now we have the
followil

BLE_PURCHASE TABLE_STORE

Customner Store ID StoreID Purchase Location
D
7 1 1 Los Angeles
1 3 2 New York
2 1 3 San Francisco
3 2
4 3

What'we have done is to remove the partial functional dependency that we initially had. Now, in the table
[TABLE_STORE], the column [Purchase Location] is fully dependent on the primary key of that table,
which is [Store ID].



Computer [Part-11] Solved Past Papers 31 | Page

Q8

Ans.

Q9

Ans.

Define transitive dependency. How it can be removed? Explain with the context of lization.
3rd Normal Form Definition

A database is in third normal form if it satisfies the following conditions:
It is in second normal form

There is no transitive functional dependency
By transitive functional dependency, we mean we have the following rel
functionally dependent on B, and B is functionally dependent on C. In this case,
on A via B.

3rd Normal Form Example
Consider the following example:

able: A is
ansitively dependent

TABLE_BOOK_DETAIL

Book ID Genre ID Genre Type
1 1 Gardening
2 2
3 1
4 3
5 2

In the table able, [Book ID] determines [G
[Boak ID] determines [Genre Type] via [
structure does not satisfy third normal fi

To bring this table to third normal form;
TABLE_BOOK

e ID], Gente ID] determines [Genre Type]. Therefore,
we have transitive functional dependency, and this

e into two as follows:
TABLE_GENRE

Book ID Genre D Genre Type
1 Gardening
2 Sporls
3 Travel

er attributes. For example this is the converse of delete anomaly - we can't add a new course
Ve at least one student enrolled on the course. StudentNum. CourseNum.

te Anomaly exists when certain attributes are lost because of the deletion of other attributes. For
ple, consider what happens if Student S30 is the last student to leave the course - All information
e course is lost. StudentNum.

Normalization generally entails splitting one database table into two simpler tables. Modification
anomalies are so named because they are generated by the addition of, change to, or deletion of data from
a database table. ... This situation is called a deletion anomaly.
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Q.10 What anomalies arises due to transitive dependency? Discuss briefly.

Ans.  Functional dependency between two or more non-key attribute in a relation is called traj
The transitive dependency is a type of functional dependency between two ar mon
Transitive dependency exists if a non-key attribute depends on any other non-key
relation is not in 3NF if the value of a non-key attribute can be obtained by know!
non-key attribute.

Anomalies Due to Transitive Dependency
The following anomalies arise due to transitive dependency:

. Insertion anomaly
. Deletion Anomaly
. Modification anomaly

Suppose we have the following relation:

CUSTNO NAME
10 Ahsan
20 Babar
30 Chauhan
40 Daood
50 Ehtash,
60 Faroog

The above relation contains the following functional depe
CUSTNO a NAME, SALESMAN
SALESMAN a REGION

The above relation is in 2NF because th ey consists of single attribute. A transitive dependency
exists in the relation. The REGION j pendent on SALESMAN and SALESMAN is
functionally dependent on CUSTNQ. GION IS TRANSITIVELY DEPENDENT ON
CUSTNO.

Madll’cahun ann-maly
ctial d dencies effect a relation?

Insertion Anomaly, Deletion ARgst
Q.11 Define functional dependency?

Ans. Functional dependency i n h.1 hat exists when one atiribute uniquely determines another
attribute. Defining functignal®dependency is an important part of relational database design and
contributes to aspect ngm 3
Partial dependency, lbaprime attribute is functionally dependent on part of a candidate key.
(A nonprime attribdfé is af’attribute” that's not part of any candidate key.) For example, let's start with

R{ABCD}, and tHe !
Convert the ER nfiave design in the previous exercise for the admission system of your

¢, also normalize the relations up to third-normal form.

(RWP-19) (AJK-19)
g urnmllmtmn is to minimize the redundancy and remove Insert, Update and Delete
arger tables to smaller tables and links them using relationships. Data redundancy

2. anomalies. (SGD-19)
i problems that can occur in poorly p!anned un-normalised databases where all the data is
#table (a flat-file database). Insertion A - The nature of a database may be such that
possnb]u to add a required piece of data unless nnol.her piece of unavailable data is also added. E.g.
3. hat is homonym? (FSD-19)

A simple example of a homonym is the word "pen."” This can mean both "a holding area for animals”
and "a writing instrument."
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4, Explain normalization. (AJK/G1-14) (D.

Ans.  Normalization is a process of efficiently organizing data in database .  OR

Normalization is a technique for reviewing the list of entities and their attributes
are stored from where they belong.

In other words we can say that it is process of analyzing the dependencies of

5. Define determinant.

determinant. It appears on the left-hand side of the arrow (
Roll _No —»Name, Marks, Phone
In the above example, then attribute ‘Roll_No' represents
6. What do you mean by Synonyms? (BWP-14)
Ans. Synonyms
> A synonym is created when two different names are uget information or attribute.
»The name of attribute must be same if it exists in tw
Example;
STUDENT
STD_.Ip ———*
STD_NAME
STD_ADDRESS

it is in INF and every non key attribute is fully functionally
ittributes IDSt and IDProf are the identification keys. The table in this
) since all attributes are single valued.
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10.

Ans.

1L

Ans.

12

Define synonym,

use synenyms when you are granting access to an object from another schema and y
users to have to worry about knowing which schema owns the object. |

normalised. The data within each repeating group is unconn
group. ... Each group of repeating atributes will result in a
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INTRODUCTIC
MICROSOFT A

SECTION |

F rom PTB Exercise:
A data base consists of various components called the:
a) tool b) _ propert
c)  Entities d) objec{
2. Which of the following objects of data -_,:.'- is used to retrieve data form database? (AJK-19)
a)  Queries b
c)  Report ), All of these
3. The output of a query is in the form of a¥
a)  Table b)
c) Report d)
4. Which of the following objects I d (o retneve dnla [ram database and present in a formatted way?
a) Report Form
c) Table uery
5. Micro soft Access saves th tabase} le with the extension: (SWL-18) (MTN-19) (D.G.K -19)
a) mdb msd
c) mbd None
6. A record is a compléte
a)  Distinet field b) Related Fields

¢)  Designed fiéld
7. In ACEES, the i

d)  Allof these
i@ble can be created in:

b)  data sheet view
d) None

atabase using. (GRW-19)
(b) common standard

(d) wiz

2. (MTN-18) (LHR-19)
(b) uel
(d) MS Word

3. ‘0 dimensional structure that consists of ;- (MTN-18)

coordinates (b) Matrix elements
rows and columns (d) Intersection of data
4. orm is an object of: (D.G.K-14)
bl (b) Database
ry (d) Report
5. An IDE consists of: (LHR-14)
(a) Text Editor (b) Compiler

(c) Debugger (d) All of these
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SHORT QUESTIONS ANSWERS

From PTB Exercise:
Q.1  Define the database objects are used to store and retrieve data. (FSD/G1-15
Ans. A database object in a relational database is a data structure used to i {
most common abject that people interact with is the table. Other objgg
sequences, views and many more.
Q.5 Whatisan IDE?

Aps.  An integrated development environment (IDE) is a softwapéap

editor, build automation tools, and a debugger.
Q.7  What are the advantages of using a Microsoft Acce
Aps.  Quick and casy to create database systems. ... Micrg
through its comprehensive progr: ing languagel(
database systems. Well-known so you can get help ant
Using an IDE makes it easy to see a visual representatign
understandable for the user. Advantages tg3IDEs: :#ase fficiency — faster coding with less effort.
car i rk together within an IDE.

Q.8  Write a procedure to open an existing/da

Ans. Open a database frcrn w:lhm Accei: IF sghls already running, use the following procedure
‘Button, and then click Open. Click a shortcut in
the Open dialog hox or in the Lok in box, click¥the drive or folder that contains the database that you

want.

rover the PROGRAMS menu to view a list of installed programs.
rsor over Microsoft Office and then click on Microsoft Access.

Report

Report is used for presenting the data.
Report is used for displaying whole records.
Data can not be modified through report.

Report are designed to be printed.

R S

@ 'through the form.
d 10 be used on screen.

hat is MS access?  (AJK/G1-14) (AJK/G1-15)

Ans. It alldws us to create the framework (forms, tables and so on) for storing information in a database.
Access provides a user-friendly forms interface that allows users to enter information in a graphical form
and have that information transparently passed to the database.
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2.
Ans.

Ans.

1
2)
3)
a)

State the use of Ms access. (AJK-17)
Some of the uses of MS Access:
It is used by small business, departments of large corporations, and by amateurs ta ci

their desktop for data applications. Access is very useful for small web based data
on IS and using ASP.NET pages.
Define query.

ables. This data may

A guery is a request for data or information from a database table or combmat
p aphs or complex

be generated as results returned by Structured Query Language (SQL) oL as-pic
results, e.g., trend analyses from data-mining toals.
Define database object.

A database object in a relational database is a data structure used --‘
most common object that people interact with is the table. Oth
sequences, views and many more. Databases |
objects: tables, queries, forms, and reports.

BSD/G1-15) (FSD-19)
or reference data. The
Bre-infexes, stored procedures,

are composed of four

Define any two database objects. (RWP-14)
Databases in Access are composed of four objects: tables, , and reports.
How Query is written? (BWP-14)

A query is designed in design view by specifying
of tables of database.

Review data from select fields

1. Open the database and on the Creat \ cllckﬂery Design.
2. Inthe Show Table box, on the Tabl
3. In the Products table, let's say th:
4. On the Design tab, click Run.
What is IDE in MS—-Access AND tages of IDE.

(D.G.K-14) (BWP-15) (SWL-1 WWP-14)(BWP-14) (AJK/G1-14) (AJK-19) (D.G.K - 19) (LHR-19)

IDE stands for integrated dcvclop
by users as an interface. with the database program through is IDE part to perform
different operations on the'da NEhe users can create database and database application very easily.
Using an IDE makes
understandable for

alds and criteria to select specific records

es to IDEs: Increased Efficiency — faster coding with less effort.
ymmers can easily work together within an IDE.

SECTION I
LONG QUESTIONS

nt databgse objects in MS-Access. (AJK/G1-16)

dvantages of using MS-ACCESS. (BWP-14)

Define the e objects that are used to store and retrieve data. (D.G.K/G1-15) (AJK/G1-16)
the advantages of using MS—ACCESS. (BWP-14)

RK XK XX X
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From PTB Exercise:

2. How many types of relationship are there?
a) 2 by 3
c) 4 d 5
3 In a relational database, a single piece of information is
a)  Field i
c)  Entity b 1 g& (b)y
4, The rule that a record from a table can & deleted if is associated record exists in a related table
is called rule.
a)  Referential Integrity Entitg*Relationship
c¢) Normalization Alllot above
6. To find a four-characters na: starts with H, the criteria is specified as:
a) H*4 HM
c) HM?M? HitHt
T Which of the following and replace dialog box is called clicked to start the search
process?
a) Find b)  Find Next
c) Search d) Next
9. The relationship ountgdes and their capital is an example of:
a) b)  One-to-One
d) None
Fram P:m;ab
? (SWL-19)
(b)  number
(d) auto number
2 flumber of tables in a database are: (RWP-19)
(c) 03 (d) Many
3. Lhe P'df a database application is. (8GD-19)
\( Faorni (c) Report (d) Macros
4. hedutput of a query is in the form of a; (AJK/G1-15)/ (AJK-17)
(a) § Table (b) Form
(c) QReport (d) Query
5. A request for information from database terminology is called. (D.G.K/G1-15)
(a) Report (b) Letter

(c) Table (d) Query
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6.

10,

11

12

13.

14.

15.

The output of a query is in the form of a. 'WL/G1-15)

(a) Table (b) Form

(c) Report (d) Query

The default field size of a text data type field is. (SWL-18) (AJK-19)

(@ 2 b) 5

() 20 d) 50

The graphical query tool is known as: (RWP-18) (LHR-19)

(@) Query grid (b) Design grid

(¢) Queryform (d) Design form

Which form of property will put text into title bar of the form: (RWP-18)

(a) Title (b) Barder text

(c) Text (d) MENU

Which data type can be used to define a field that consist of e used in calculations,
(SGD-18)

(a) Text (b) Number

(c) Memo (d) Date & time

How many query views are available in MS-Accessj (AJK/G1-16)

(@ 2 by 3

(© 4 d 5

Which of the following is degree of a table; (AJK/G1-16)

(a) Total number of rows (b) Total nu olumns

(¢) Total number of cells (d)}» Total ﬁber of foreign keys

The row of relation can be of ------—-- (AJK-17)

(a) Any

(c) Sorted

Cars and parts are example of: (LHR-14)

(a) Concepts butes

(c) Entities (d) None of these

‘Create command’ is used to create: (RWP-14)(SGD-14)

(a) Table (b)Y View

(c) Report fd) Query

- ant property for a field is its data type. A field's data type determines what kind of data it can
stgre’ MS Access supports different types of data, each with a specific purpose.

The'data type determines the kind of the values that users can store in any given field.
Each field can store data consisting of only a single data type.

Here are some of the most common data types you will find used in a typical Microsoft Access database.
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Type of Data Description Si

[Text or combinations of text and numbers,
Short Text including numbers that do not require] Upto 2! ters.
calculating (e.g. phone numbers).
Long Text Lennghy text or combinations of text and|
Numeric data used in mathematical
Number .
calculations.
. IDate and time values for the years 100)
Date/Time through 9999. ’
Currency values and numeric data used in][§
Currency mathematical calculations involvings
with one to four decimal places.
A unique sequential (increme:

AutoNumber number or random number ass| 4 bytes (16 bytes if set to
Microsoft Access whenever, Replication ID).
added to a table.

Yes and No values andf nin|
Yes/No only one of two val o,| 1 bit.
[True/False, or On/Off).

Q.3  What is Referential Integrity?

Ans. Referential integrity (RI) is a relation: oncept, which states that table relationships must
always be consistent. In other words, field must agree with the primary key that is
referenced by the foreign key.

Q.4  What are relationships?

Ans.  Relationships the way in which two or more pe: r things are connected, or the state of being connected
"the study will assess the relatiob between unemployment and political attitudes’

A relationship, in the context of d s, is a situation that exists between two relational database tables
when one table has a foreign key ces the primary key of the other table. Relationships allow
¢ data in different tables, while linking disparate data items.

Q.6 d Join.

Ans. ips, but each relati ip always hasexacﬂy two tables. In a query,

en you add tables to a qm:ry Access creates joins that are based on
tween the tables.

Q7 m in a query and also specifies the some Functions,

Ans.

a calculation on a group of records. The user can perform calculation in a
calculation in MS-Access. The user can also create a custom calculation

Calculate the Variance.
Finds the first field value.

Last: Finds the last field value.

Expression:  Create a calculate field through an expi

Where: Indicates criteria for a field not included in ihe query.




Computer [Part-11] Solved Past Papers 41 | Page

QB8

Ans.

Q9

Q.10

Ans.

What is query? Discuss its uses and advantages?

A query is a question that requires some data from the database. A query is created by#pecifyj Ids to
display from a table or another query. It can also specify condition for extracting data.

ses of Query:

1. Extract records according to the specified criteria
2. Choose the fields to display in the result

3. Sort the records in a specific order

4. Calculations fields and summarize data.

A query can be given a name and it can be saved. It can also be used fépeatedly. It €an be used as a source

of records for forms and reports.
dvantage of Queries:

i) SQL Queries can be used to retrieve large amounts of re
ii)  SQL is used to view the data without storing the data ipi
iii)  SQL joins two or more tables and show it as one object 1g

iv)  SQL databases use long-established standard, sl
SQL databases do not adhere to any clear stan@k

v)  Using standard SQL it is easier 1o manage
amount of code.

Explain the criteria in a query . How is it s]
Query criteria help you zero in on specil
we enter, it appears in the query res j@ery cciterion is an expression that Access compares to

—_——————
-y BirtrDate
Contacts Contacts

) '-[--cmu%‘ 3 _.\{'Dl!llﬂde.M,Bﬂem
@

tract data from more than one table. This type of query that involves two tables
the relationship of the table for extracting data from the tables.
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From Punjab Board: ‘

1. What is the concept of degree of a relation?(FSD/G1-15) (AJK/G1-16) (FSD-19) (D.G: ~19)

Ans.  The number of fields (or attribute) in a relation is called degree of relation. For example, 10
fields has a degree of 10. Once a relation/ table is created, its degree usually does nbt change.

2. What is list index property? (M SMMTN-17)

Ans.  The indexes are created to query and sort records faster in MS-Access. The index p perly is uscd to setan
indexed field. Indexing is a data structure technique 1o efficiently retrieve re€ ithe'database files
based on some attributes on which the indexing has been done. Indexing in data ystems is similar to
what we see in books. Indexing is defined based on its indexing attributgs

3. What is Linking in Ms—ACCESS? (BWP-14)

Ans. Link to data in another Access database. We cannot link to queries, [forms, reports] macros, or modules.
When we link to a table in an Access database, Access creates a newiable, called’a linked table, which
maintains a link to the source records and fields. >

4. What is OLE object in MS-Access? (SGD-14)

Ans.  Earlier versions of Access used a technology called Object
and documents. By default, OLE created a bitmap equivalent Lo

5. Why is the important to specily data type?

Ans.  Data type and length are the most fundamental integri 1ed to datain a database Simply
by specifying the data type for each column when <, DB2 automatically ensures that only
the correct type of data is stored in that column. ... haracter, use CHAR or VARCHAR data
types. )

6. How a new record is added to a table using data sheet v (FSD-14)

Ans.

i. To add records to a table in datasheet &esimd table in datasheet view.

ii. Click the “New Record” button at the rj of the record navigation button group. It is located in the
lower left corner of the datasheet view with the arrow and asterisk [» *] on its face.

iii. Then enter the information into the field 'ew Record” row. It is the bottommost row in the
datasheet view that displays the asterisk [*] at t end of the row

iv. When you have finished entering] ew record, you can move down to enter the next new record into the
new row that has appeared.

v. Close the table when you are finish

1. How does a database d (SWL/G1-15)

Ans. Soin a layman's termino. a collection of several components like tables, indexes, stored
procedures and so on wo dimensional structure that contains several columns and rows. It is
contains all the dat: of several records. Note: this is an answer with reference to rdbms.

8. Write two cham cf (MTN/G1-15)

Ans.

9. ! (SGD-14)

Ans. in design view by specifying table names, fields and criteria to select specific records

ortant types of query language. (AJK-17)
of Query Language Types:
Data Definition Language) A database sch is a visualization of information.

DML (Data Manipulation Language)
DCL (Data Control Language)
TCL (Transaction Control Language) Queries.
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11. List some roll of query / advantages of query.

Ans. There are several advantages of query. The main advantages of query are:
Information from different tables of the database can be retrieved at once.
The result of query can be used for Forms and fro creating Reports.

The Data of database can also be modified or deleted.

YVVVY

12. State the use of query language. (SWL/G1-15)BWP-15) (RWP/G1-,
Ans.  SQL is a language used to insent, updalte, retrieve and delete any data item fro
¥ This language is also used (o grand access rights on database.
¥ This is a standard language used with all relational databases.
¥ The instruction of this language is English like and easily underSt
13. How a relation is formed in data Base? (D.G.K -19)

1. In the Relationships window, add the tables that we want to e, and thén drag the field to relate them
from one table to the other table. y

2. Drag a field on to a table datasheet from the Field L.

14. Why is it important to specify data type and sizgf
The field's data type determines which other P
Currency fields, the Field Size property is especi tant, because it determines the range
of field values. For example, a one-bit Number fieldcanfst ly integers ranging from 0 to 255.(0OR)
The praperties of a field describe the ch leﬁslicﬁd behavior of data added to that field. A field's
data type is the most important proper it determines what kind of data the field can store.

15. How is criteria specified in a query?

Apply criteria to a query

¥ Open your query in Design view.

In the query design grid, click the e field where you want to add the criterion.

Add the criteria and press ENT

Click Run to see the results in Dat

-19) (GRW-19)

t you can set. .. For Number and

YVVY

detail data types used in MS Access.
1) (SWL/G1-15)RWP/G1-15) (FSD/G1-15)(LHR/G1-15)(RWP/G1-16)
(RWP-14) (FSD/G1-16) (RWP-19)

2) (AJK-17) (ATK/G1-16) (AJK/G1-16)
3) (BWP-17)
4)
. (D.G.K-14) (MTN-18) (SGD-19) (AJK-19)
5) ? Write procedure to define relationship between two tables in Access.
(SGD-14) (SWL-14)
6) t characteristics of a Table. Also define degree and cardinality of a relation.
(BWP-15) (LHR/G1-16)
7 ‘erent methods of Modifying a table.
(FSD-14) (SGD/G1-16) (LHR-14) (MTN/G1-16) (MTN-19) (LHR-19)
8) table? Discuss different parts of a table. (MTN/G1-15)
9) query? Discuss its three uses and three advantages. (AJK/G1-16)

X % % X
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From PTB Exercise:
1. Forms are Designed for:
a)  Input Data G mani]ﬁ#e Data
c)  According Change All em
5. A auto form displays one recd? d at :
a) tabular
c)  datasheet i
6. A report provides a column foreach field nf grecords in rows under the column header is known
as:
a)  tabular columnar
c) subform none of them
7. can be previe creen before printing.
a) report ) form
c)  subform d)  none of them
8. How many are la;
a) 2 b 3
) d 5
From Punjab B,
1. (RWP-18)
(b) Field
(d) Bits
2. (SWL/G1-15)
(b) Manipulate data
(d) All of these
3. (D.G.K/G1-15)
c 4 @ 5
4. at provides a column for each field of the records in rows under the column header is
n as: (BWP-14)
Tabular Report (b)  Columnar Report
(c) atasheet Report (d) Justified Report
5. How many are the layout of report? (SWL-14)

(@ 2 b 3 © 4 @ 5
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SHORT QUESTION ANSWER

From PTB Exercise:

Q.2  Dilferentiate between form or reporis?

Ans. Differences between Forms and Reports: Forms are Input to the informiatio and Reports are
output from the system. Form gathers information for essentially o ol the database. That is,

information about one person or object.

Q.7  What is a report?

Ans. A database report is the formatted result of database queries and cont:
and analysis. Most good business applications contain a built-iff 1
interface that calls or runs back-end database queries that arg]

Q.8  How can yon save and closed an auto report?

Ans.  Saving Reports

1. Ta save a report, first select data points, statistics, anddiltes

2. Saved reports can be loaded from the report pages

3. To delete a saved report, open the report and cli

4. In the Schedule section of a report page, select “in

Q.10 How can you apply a sort order to the report?

Ans. Define the default sort order for a report:,

1. Open the re;mrl,

2.

abase window, select the tab for Reports, then double click
selection. Select the query SC_Purchases from the pulldown

(AJK/G1-15)

A ;
1 On the Create tab in the Reports group, click Report Wizard . ...

2, From the Tables/Queries drop-down list, select the table (or query) to base the report on. ...

3 Move the fields to include on the report from the Available Fields list box to the Selected Fields list box.
4 Click Next > .
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3.

Ans.

Ans.

Ans.

1)
2)

3

Differentiate between form and report.
(SWL-14) (FSD/G1-15)(D.G.K/G1-15) (LHR-14) (SG (ESD-19)

information about one person or object.
What is Auto form?

There two tvoes of automatic forms. The AutoForm generates a simole data e
selected table or query. The other type is the multi-step Form wizard, which
the creation process.

List different tvnes of forms in MS-Access.

In a database comcxl. a form is a window or screen thnl contains nu

more user friendly lhan generating queries to create tables and insen

Types Forms
Ms-Access provides the following types or layout of forms:
1. Columnar form 2. Datasheet From . 5. Justified Form

Write any two advantages of a form. (FSD-14)
Advantages of Using Forms:

These are many advantages of using Form. The main advanta are:

Forms provide easy way to perform various operationg@m T bles of the database.
Forms provide facilities to access data from multipled
Forms provide user friendly interface.
Only the data of required fields of table can be acc
can be hidden from the end users.

Some control abjects provide features to select the requises
combo boxes etc.), instead of typing through ks

The pictures can also be displayed on thefForm. 8omé records may contain the image or video type data.
This type of data can only be viewed ond
Forms can provide Proper message o

Rapomarelhelmpnnam part of i
tables is called report. A report c:
disk for later use. However reports 8
The main advantages of reports are
Reports are used to dlspln dat ievstl from one or more tables of database.
Report produce output fialt according to the needs of the user.
Using reports snmc dafta’ of datab: bles can be presented in different ways.
Repom provided fw ity tofpi acess dala and to generate graphs and charts.

base program. Presentation nfproceﬂed data retneved from dambase
layed on the screen printed on the paper or can be stored on the
created for making hard copies of the required information.

Describe the use of w in MS-Access. (RWP-14) (RWP/G1-15)
Datasheet forgiis also us splay (or enter) multiple records at a time. It is like a datasheet view of
Form looks like a spreadsheet. The field names appear as labels at the top of
yecords are displayed under field names. Each row displays on record of a table.
{ly used as sub-form.

execute commands in MS-Access forms? (MTN-19)
on on an Access form to start an action or a set of actions. ... On the Design tab,
... To make the command button run an

SECTION Il
LONG QUESTIONS

habare reporis? Explain two types of reports. (FSD-18)
Whatis filter? Discuss different types of filters in MS-Access.
(GRW-14) (AJK/G1-15) (D.G.K/G1-16) (BWP/G1-16)(AJK/G1-15) (D.G.K - 19) (FSD-19) (SWL-19)
What is a form? Explain its uses and advantages. (GRW-19)
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GETTING STARTED

SECTION |
MULTIPLE CHOICE QU

From PTB Exercise:
1. Cis a: (MTN-19)
(a) High level language
(c) Assembly language
2. Turbo C++ can compile for:
(a) C++ Programs only
(c) Turbo C programs only
3. Debug is the process of :
(a) creating bugs in program

(c)  Turbo C programs only 0 C++ programs only

5. Preprocessor directives are cofm
(a) Microprocessor
(c) C-Preprocessor

) language processor
Loader

6.
f the program
7. ng languages requires no translator to execute the program?
C+
(d) Machine
8 is created / produced by: (MTN-18) (MTN-18) (FSD-19) (SWL-19)
(b) Compiler
(d) Interpreter
9, “Tollowing key is used to save a file?
(b) F3
d) F9
10. id@ccupy how many bytes in memory?
(a) zero (b) one

(© 1wo (d) four
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From Punjab Board:
1. The output of the campiler is called: (GRW-19) (LHR-19)
(a) program (b) source code
(c) linked code (d) gbject code
2. The ".exe" file is produced by: (FSD-19) (SWL-19)
(a) Linker (b) Loader
(e)  Compiler (d) Interpreter
3. The process of identifying and removing errors in the program is
(a) Debugging (b) Processing
(c) Executing (d) Linking
4. Division by zero (e.g., 5/0) is an example of: (RWDP-19)
(a) Campiler error (b) Run time e
(c) Syntax error (d) Logical error
5. The extension of C Program file (GRW-19)
(a) .txt (b) .obj (c) d) .«
6. The programmer usually enters source code intg sing: (D.G.K-19)
(a) Compiler (b) Text'eg
(c) Debugger (d) Linker
7 In C language the linker creates a file withyextensio; (AJK/G1-14)
() .exe (b) .abj -epp d e
8. Which type of error give un-intende: (MTN/G1-15)
(a) Run time error error
(c) Syntax error
9. The first line of the function d (SWL-18)
(a) function body arguments
(¢) function header return type
10. The output of the compil WL-18)
(a) library code (b) linked cade
(c) object code (d) source code
11. Which header 1 inf tion about standard input/output f ions; (AJK/G1-16)
(a) Stdio.h (b) Conio.h
(d) Mathh
12. ed to donate preprocessor directive; (AJK-17)
® s
@ e
13. jtten by programmer are called: (D.G.K-14)
(b) Object code
(d) Debugging
ge, first line of the function definition is known as: (D.G.K-14)

Function header (b) Function body
(d) Parameter
Void vccupy how many bytes in memory:
(a) Zero (b) One
(c) Two (d) Four

(FSD-14)/ (LHR-14)/ (RWP-14)
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16. A function that does not return any thing has return type: W-14)
(a) nothing (b) float
() woid (d) null
17. C-language programs are divided into units called: (GEW-14)
(a) section (b) syntax
(c) function (d) debug
18. In text file, data is stored in: (GRW-14)
(a) ASCII-Code (b) Binary Code

(c) Octal Code (d) Text Code
19. is the native language of computer.
(a) C-Language (b) Pascal
(c) BothAandB (d) Machine Lnngunge
20. Which of the following L requires no translat tethe program: (SGD-14)

@ C (b) C+
(c) Machine language (d) Assemblyl

r{program in C rather than machine language.
pmgrammers fncndly, easy to code, debug and

Q2

Ans.

Q3
Ans.

gource program is compiled. The source program is converted into machine code. The C-
to translate the program, source cade inta the machine code. After compiling source code

s step the linker links object file to the required library files. After linking the object code to the
libragies and executable file with extension EXE is created.

5- Loading C Program :
In this step the loader loads the executable file from disk into memory for execution. The program must be

loaded into memory for execution.
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6- Executing C Program :
In this step the program is executed on the computer. The CPU fetches instructio pro, fram
memeory one by one and takes action on them.

A diagram is show below which shows the necessary sig

Q4  Define a bug. Discuss some debugging features of Th 4

Ans. A bug can also be described as error, flaw, mistake, failuredef fault. Most bugs arise from programming
mistakes, and a few are caused by externaliies (compi
responsibility of the programmer).
Turbo C++ provides many useful debu; es. The debugging features of wurbo C+—+ are available
in Debug menu. Some important debu
Single stepping Select Run > Trace Into

Watches

Breakpoints

Evaluate/Modifv Window

Q.5 While writing a program, how of errors can be occur? Discuss briefly. Which one is the
most difficult to locate and.ze ifY your answer

Ans. There are basically three (y that you must contend with when writing computer programs:

»  Syntax errors,

é/incorrect code is acceptable, it will not produce a syntax error and the
“The logic error might only be noticed during runtime. Because logic etrors

ng language? Discuss the two main categories of programming language.

angdages will be converted into a machine readable form by a compiler or

[CE BETWEEN THE HIGH AND THE LOW LEVEL LANGUAGE: Low level
able form of program. Whereas the high level language will be in human readable form.

of abbreviated commands we can assemble into machine code. And high-

ot like English and is computer independent. Some famous high-level languages are

L., C++, BASIC, and Java. There are also scripting languages for the web.

Q.7 . -haracteristics of high level programming languages.

Ans. of same characteristics of high level programming language is given below:

Q.6

Ans.

Easy to detect errors
achine-independent

4-  Available of library functions
5-  Shorter programs

6-  Well-define syntax and standard
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Q.8  Briefly describe the basic structure of a C program.

Ans. Basic Structure of C Program:
The format or way according to which a computer program is written is called the stru e pragram.
The program structure of different programming languages is different. C is b prografiming
language. It provides a well defined way of writing programs.
The basic structure of C program consists of the following main parts:
(i)  Preprocessor Directives
(ii) The main( ) Function

(iii) C Statements
To explain the structure of C program, a program example that prints @message “My first program in C.”
is given below.
#include<stdio.h>
void main (void)
{
printf{(“My first program in C") ;
)
In the above program:

1-  The header file “stdio.h” is used at the beginnjdg toffam. This file contains the declarations (or
information) of standard input and output fun mctions are used to get input and to print
output. This header file is included because “prini in is used in the main body of program to
print the message “My first program in C”.The main
an instruction for the C-compiler. The mmanw:n give instructions to the C-compiler are called
preprocessor directive,

2-  The “main()” function comes afier (hie dcc
program. It is the point at which exects Pprografyis started.

3-  The setstatements (or instructions) of are written under the “main()” function between curly
brackets i.e. { }. Each statemgent of C prog d with semicolon (;).

Q.9 How would you create, edit, ¢
Ans.  Answer Mention above previous g
Q.10 Differentiate the following:
Ans.

tions. Fhe

(D.G.K/G1-15) (ESI
(SGD-14) (AJK/ v 4) (AJK-19)
The preproce: i idefed to be the first phase in the C compilation process. In some cases,
it is actuaily gepara program which runs before the compiler runs. .. The input to
the preprée frhas your source code that contains preprocessor directives, comments, C
¢ @nd statements compiler convert source code into object code as a whole
4} (
hetween structured and unstructured programming language is that a structured
fpuage allows a programmer to code a program by diving the whole program into

s q?} Ehpsogramming language allows a programmer to code a program by diving the whole program
ihito gmaller units or modules. in unstr d progr ing 1 the program must be written as a
single continuous, i.e. nonstop or unbroken block.
2) Linker and Loader. (FSD-19)
« Linker : it is a system software which combines One or more object files and possible some library code
into either some executable some library or a list of error. Loader: A program which loads the executable
file to the primary memory of the machine
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From Punjab Board:
1. Define the term bug and debug.
(FSD/G1-16) (D.G.K-17) (GRW/G1-15) (RWP/G1-16) (FSD. D.GIK-14)
Ans.  Errors in the program are called bugs. The process of finding and removing bugs or errors) in a gf6gram
is known as debugging.
2. Differentiate between compiler and Interpreter.

Ans.

Compiler

. It wanslates source code into object code as a
whole.

2. It creates an object file.

3. Program execution is very fast.

4. Translator program is not required to translate the
program each time you want to run the program.

5. It is not easier to correct the errors in the sour
code.

6. Most of the high-level programming lan
have compiler program.
3 How does Caompiler work, sho¢téut keys for compiler and execute a C program. (SWL-18)
3 (BWP-15) (ATK/G1-15) (GRW-14) (SGD-17) (AJK/G1-15)
Ans.  The language translator program thatjranSlites the complete source program into machine code as a whale
is called compilation. Thed > gmpiler are best examples of compilers. The program translated into
machine cede is called the of m. The source code is translated in to object code successfully if it
is free of syntax errorg! Any syntax errors in the source code the compiler specifies the errors at
the end of compila nust be removed before the compiler can successfully compiler the
source code. The ¢an be executed a number of times without translating it again .the short
1ler is shown in the figure below.
Compiler |—-| Object Code
4.

5. I (AJK/G1-16) (KSMR/G1-16) (MTN/G1-16) (LHR/G1-15)

Ans. ors that are occurred during the execution of program are called the run time errors. These type of
e occurred due to the following reasons.

» &nthe program attempts to perform an illegal operation such as dividing a number by zero.

> If input data given to the program is not in a correct format or input data file is not found in the specified

path.
> If hardware problem occurs such as hard disk error, or disk full or printer error etc.
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6. ‘What is source code? Why it cannot be executed directly? (AJK/G1-
Ans.  The program instruction written by programmer according the rules in any high level
as program source code. The source code is like English statements but the computer
instructions in machine code(0 and 1) like object code, so computer does not uhd
dircclty

(RWP-18) (SGD-18) (LHR/G1-16) (SGD/G1-16) (SWL-17) (SWL 14) (G
(AJK-17) (D.G.K/G1-16) (RWP-17) (GRW/G1-16) (SGD/G1-16)(M'

Ans. Source code is easy to understand and modify. Object code is difficult!
code contains fewer statements than object code. Source code is usegy
machine understandable.

8. What is the difference between machine language and assenibly 1al
(RWP-17) (D.G.K-17).(LHR-17)

Ans. Machine Language:

It is a low level language understood by machines in this_
specify the instructions and data.
Simply we can say: The machine language is the inges
pmgmmnunﬂ language ta handle by any humans. I8
is understood by the machine to follow any instructio we can say that the machine can only
recognize these Os and s and nothing else. So, it isa?ng of the lowest degree made for machines
only. Programmes therefore prefers to uséeither gh-level programming language or an assembly
lating it to machine understandable codes known as

of the computer system. It is a difficult
up af a binary string of Os and 1s that

machine codes.
Assembly Language :

items and memory location. An assembly language program is
dnd then translated by an assembler into machine code. It is machine

9. it would be preferable to write a program in C rather than machine language.

(LHR-14)
Ans. rite computer program in C language rather than in machine language. The two main
(i) earn And Use:

€ other hand machine language is low-level language. The program is written as a combination of Os
and 1s. Machine language is not easy to learn and to write program. The errors in the program are difficult
to detect and to remove. It is also difficult to modify the program.
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(ii) Machine Independent:
Program written in C-language is machine independent. It means that a program writtefn
be executed (run) on any type of camputer.
On the other hand a program written in machine language is machine dependent. Bverytype of coffiputer

system cannot run on different type of computer,
10. What is difference between machine language and high level language w vV

(FSD/G1-16) (MTN/G1-15) (RWP/G1-16) (AJK/G1-16) (KSMR/G1-16)( VP 17) (SWL-18)

(BWP/G1-16) (AJK/G1-15) (ATK-17) (AJK/G1-16) (FSD-14) (KSMR/GT= AJR

14) (SGD 14) (D.G.K~19) (SWL-19)
Ans. A is the only lang; that a computer directly undgtstands, it is Wsually written in zeros

(0) and ones (1). A program instruction in machine languag X

1110101 tOOI(X)Ol \vhereﬂx, a high-level language m a pmgr mmi

At the mm:hinc lr:vel you ner:d to deal with many dclail
computation. In HLLs these details are suppressed and you
At the machine level many things might not be orthogonal (i
real) numbers is an example).

In an HLL you just put <float> + <float> or <integer= @» operalor, very expressive, but the

compiler might chose a different machine-level operal e language systems leave this choice to
run time. This is the basis of polymorphism in OO dispat correct operator based on the data type.
(Static analysis of types and choice of operaf lﬁiz time results in more efficient programs.)
11. ‘What is object oriented language? (AJK/G1-14)
Ans.  Object-oriented language (OOL) is a hijy gr programming language that implements objects

Object-oriented language uses an object-o fprogramming technique that binds related data and
functions into an object and encourages reuse of these objects within the same and other programs.
Object-oriented language typically rts the following features, at minimum:

. The ability to create classes

. Encapsulation

. Inheritance

Java, C++ and Smallt r examples of object-oriented languages
12. Why is C known as#f ) ) 2 (GUJ-18) (BWP/G1-16)
Ans. A strongly-typedirogragimi anguage is one in which each type of data (such as integer, character,

hexadecimal, pack d so forth) is predefined as part of the programming language and all
: a given program must be described with one of the dala types.
As we kng e any data types in C programming. C is an example of a strongly
i @pe. Strongly typed means that every piece of data has a specific type. ... The
ped language is called a loosely typed language.

13. A+ (BWP-17)
Ans. C language is Turbo C++. It is the implementation of Borland International for C
is useo create, edit and save programs. It also provides a powerful debugger. The debugger
cting and remaving errors in programs

14, 4 [ semicolon in C-I 7?7 (LHR/G1-15)(GUJ-17)

Ans. : nt of C program must be terminated with semicolon (;). It called statement terminator. If any
tatement is missing the statement terminator (;), the following error message will be reported by

[ iler during compiling process.
15, Defige constant macro, (MUL-17) (RWP-19)

Ans.  The define directive is an impartant preprocessor directive. It is used to define a constant known as constant
macro. A constant macro is an identifier, which is assigned a particular constant value. The value of
identifier remains constant during the execution of program.
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16, ‘What do you known about C-statements? (AJK-19)
Ans. A statement is a command given to the computer that instructs the computer to take a
as display to the screen, or collect input. A computer program is made up of a series o
17. Hovw is a header file included in C-program? (MTN-19)
Ans. Header file is a file that contains function declaration and macro definition far C iptbuilt lib
functions. ... When we include header files in our C program using “#include, <f1 h>"" command,
all C code nf the header files are included in C program. Then, this C progr:
and executed.
SIMPLY WE CAN SAY, Header files contain definitions of functions,

, such

is used for get the
18. -
Ans. header file in C library
h as printf() & scanf(). You
19.
Ans. i i i i i 1 0'0fo, import cadings from other programs or

iming.for getting input we need to use
scanf() l'um:hon to print data we need pr:mf()
20. Write the purpose of define directive. (RWP-19)
Ans. Inthe C Programming Language, the #defin€ 'mcﬁ\élows the definition of macros within your source
initi ant values to be declared for use throughout your code. Macro
aged by your program code like variables.

21.

Ans.

22.

Ans.

23, inker in C-language? (D.G.K/G1-16) (MUL-18) (LHR/G1-16)

Ans. mbines the object program with additional library files is known | linker. It is a part of

bines object program and library files and saves the fir machine language program as
- The extension of executable files is .exe.

24, he’process of linking ? (KSMR/G1-16)

Ans. rocess of linking library files with object code is known as linking. The programmer may refer to
ipfiles in a C program. The library files must be linked with the object file before execution the program.

25, Define assembler, (GRW/G1-15) (RWP/G1-15) (GRW-14)

Ans.  An assembler is translating program that translates the instruction of a assembly language into machine
language
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26. State the purpose of body of function. (RWP/G1-16)
Ans.  Afunction is a gmup of statements that logelher perform a lask

27. Define the term loading. (D.G.K - 19)

Ans.  Loader is the program of the operating system which loads the executable frgm th
memory(RAM) for execution. It allocates the memory space ta the execulable in main memory
and then transfers centrol to the beginning instruction of the program . )

28. What is the process of linking and loading differentiate between thi I

(SWL/G1-15) (SGD-M) A

Ans.
Loading is lundmg the executable into memory prior to re are (wo types of lmkmg
static linking and dynamic linking. Static linking occu time, hence it occurs prior
to loading a program. ... Dynamic linking occurs at run time, S@it occurgafter or at the time of the loading
of a program. )
Dynamic linking is performed at run time by the ol m. In dynamic linking only one copy of
shared library is kept in memory. Linking is the pro some smaller executables and joining
them together as a single larger executable. Loading g the executable into memory prior to
execution.

29. Who is a programmer? / 4“’ 14) (RWP/G1-15) (SWL-14) (MTN/G1-16)

Ans. A person who can write, test and debu, jter program is called programmer. A programmer is also

called computer programmer or coder. Alper
The programmer develops programs lo
information. Prog uses prog;

develops a computer program is called programmer.
computer how to pracess data lo convert into
es or tools to write programs

(MTN/G1-15)

in Ordinary Language to solve a given problem is called
roblem in more than one ways, resulting in more than one
s depends on the factors like reliability, accuracy and easy to

30. Define problem solving.

Ans. A set of sequential steps usually 'y
Algorithm. It may be possi
algarithm. The choice uf

b ¢ ironment IDE? (MTN/G1-15)

1-14) (D.G.K/G1-15) (FSD-14) (D.G.K-17) (FSD-18) (GUJ-18) (MTN/G1-15)
(AJK/G1-14) (FSD/G1-15) (SGD-14) (AJK/G1-15) (LHR-14) (AJK-19)

irgetives appear in source code. There are many different directives. One of them is
ed to include a header file. Header files contain a collection of declarations, often for
s (and sometimes variables) found in a library.

33. apis the error in following statement: int 3 =0; y = 0; (LHR/G1-15)

Ans. Here semicolon is not used, only comma is used. If we use semicolon then we declare the data type also
with variable y
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28,

29.

30.

Ans.

Differentiate between logical error and syntax error and also give reason why logj
most difficult error to find, Give example.

(BWP-15) (FSD-18) (SGD-18)(D.G.K/G1-15) (FSD-14)(D.G.K-14) (MTN/

produces an incorrect result. The error is caused by a mist
won't get an error message, because no syntax or runtime error has

What is structured programming Janguage?

modules or function. Each module is a piece of code that implen
a less possibility of errors in the programs.

Name two main categories of programming lang HR-18) (LHR/G1-16) (RWP-14)
(D.G.K/G1-15) .(SWL-17) (FSD-14)
(a) Low-Level Programming Languages:

The programming languages that are very
languages. The program instructions wriu

rfinc fanguage are called low-level programming
nguages are in binary form (0 and 1) and symbols.

(i) Machine Language (D.G.
(ii) Assembly Language
(b) High-Level Programming]

The programming lanouagcs thatQurc<glose to human languages are called high-level programming
languages. The program jns ten in these programming languages are similar to English
language. Unlike low-levélla es, these lﬂnguaﬂcs are casy to Ieam Every high-level languave has its

own sel of rules for .
instructions are writig’accoj dmg qbe 4ymax of the programming language.

Some commonly i guages are as follows:

>
>
>
¥
>
>

_The execuunn of a C program starts fmm the main() function. The function main( ) mvnl\es
functions within it. ... The main function is simply the entry point or the start point of our program.

It is¥gom the main function that the execution of a program starts. So it can be said that without a main()
function a program can't execute.
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32. Define a program. (GRW-19)

Ans. A program (noun) is executable software that runs on a computer. ... Instead, a progrgm consi
compiled code that can run directly from the computer's operating
system. Examples of programs include Web browsers, word processors, e-mail clients;¥ideo ga
and system utilities

33. Define the term Linking. (LHR-19)

Ans. Linking as the name suggests, refers to creation of a single executable file fro ple object files. The
file created after linking is ready to be loaded into memory and executed byt
difference in linking and compilation when it comes to understanding gf

In short Linking as the name suggests, refers to creation of a single e;
files. The file created after linking is ready to be loaded into memory a1
is difference in linking and compilation when it comes to understandi

(LHR/G1-16) (BWP-14) (FSD/GI-15)
(D.G.K/GlL,, -17) (LHR/ GI-13) (RWP-17) (SGD-18)

2. Describe Language processors / translator afid their uJJiscuss different types of language processors.

) (AJK/G1-14) (LHR/G1-15) (FSD/G1-16) (GRW-17)

(D.G.K-17) SWL-17) (AJK-17) (RWP/GI-15)

3. What is computer language? Discuss ane type puter Language.

D.G.K-14) (BWP-17) (GRW-14) (MTN/GI-15)

uage / C-Language. (LHR-19) (FSD-19) (MTN-19)

Program.

4. Describe characteristics of High L
5. Write a detailed note on b
(BWP-15) (LHR-14) (MTN/G1-16Y(SGD-17)

y types of errors can occur in writing a C-program? Which one is
ve? Justify your answer.

(RWP-14) (RWP-18) (BWP/G1-16) (RWP-14) (SWL/G1-15)
(MTN-17) (RWP-18) (SWL/G1-15) (BWP/GI -16) (RWP-14)
7. What is pgdgram?%Write fgatures / characteristics / advantages commonly used
(D.G.K/G1-16) (LHR-17) (SWL/G1-15) (BWP-17)

2 2 2 2

6. What is bug and del
the most difficult
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ELEMENTS

MULTIPLE CHOICE QUESTION

From PTB Exercise:

1. Variable are create in:
(a) RAM (b) RO
(c) Disk (d) Cachi
2. Which of the following is valid character constant?
(@ a (b)a “a” ,
(c) ‘'a )/
3 Which of the following data type offerd the higHest precision?
(a) float {0) L
(c) long double Y ~unsigfied long int
4. In C language , the symbal ‘=" represents:

(@) Comparison operator
(c) Equal to operator

5. The symbal “=", represent :
(a) comparison operat assignment operator
(c) Equal-to operato, )  none of these

6. Which of the followi s precedence?

(a)

(c)

(b) assignment operator
d) None

7.
8.
9. gical not operator, denoted by !isa:
tenary operator (b) Uniary operator
binary operator (d) bitwise operator
10, a +="b is equivalent to:
(@) b+=a (b) a+=b

(c) a=a+b (d b=b+a



Computer [Part-11] Solved Past Papers 60 | Page

From Punjab Board:
1. Which da ta type is most appropriate for storing a name? (FSD-19)
(a) float (b) int
(c) char (d) long
2. The left side of an assignment statement holds: (MTN-19)
(a) Variable (b) Constant
(c) Expression (d) Digit
3. ‘What does a compound condition use to Join Two Conditions? (SGD-19)
(a) Relational Operator (b) Relational Result
(c) Logical Result (d) Logical operator
4. The number of digits after a decimal point is called: (SGD-19)
(a) Significance (b) Range
(c) Precision (d) Scope
5. The naming prefix for a label control is: (GRW-19)
(a) lab (b) bl
(c) Ibe (d) labl
6. Which operator in C is called a ternary operator? (MTN-
@ If (b) b+
(© X @ O
7. In C-Language, variable ) cannot begin Witl
(a) Number (b) Lower=g
(c)  Upper-case letter (d) Underscor
8. The number of bytes used by float data in Cis
(@ 2
€ 6
9, The functions used for input and ou TN-19)
(a) Stdio.h
(c) Mathh
10. Which character signifies the iginning of an escape sequence? (SWL-19) (SGD-19)
(a) ) =
(© * \
11. ‘Variable name cannot K/G1-14)
(a) Number ) Underscore
(c) Letter (d) Period
12. Variable and co ot contain a (n):- (MTN-18) (MTN-18) (LHR-19)
(a) Number (b) Underscore
(¢) Letter (d) Period
13. (SWL-18)
) >
@ =
14. lowing expression 10 * (24/ (5-2) + 13. (D.G.K/G1-15)
(b 90
d) 96
15. (D.G.K/G1-15) (SWL-19)
(b) a=+b
(d b=b+a
16. le that holds a large group of similar type of data is called: (BWP-15)
(a) Array (b) Constant

(c) Scalar Value (d) Multiple Variables
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17.

18.

19.

20.

21.

22,

26.

27.

29,

30.

Which Keyword is used to trigger the execution of another procedure: (BWP-15)
(@) Go (b) Call
(c) Start (d) Run
Which is not an arithmetic operator: (BWP-15)
@ + (b) Mod
() & d 8
Comments are used to increase the ...... of the program: (BWP-15)
(a)  Visibility (b) Beauty
(c) Readability (d) Complexity
Memory is allocated to a local variable at the time of its: (BWP-15)
(a) Declaration (b) Destruction
(c) Definition (d) First Referenc
Relational operators allow you to sesssass numbers. (D.G.K/G1-15)
(a) Campare (b) Add
(c)  Multiply (d) Divide
The Logical NOT Operator denoted by ! is a:
‘ (BWP-15)

(a) Ternary Operator (b) Unary Q
(c) Binary Operator (d) Bitwise rato
Which of the following is not ternary opefator? )D

(MTN/G1-15)
(@) ++
(© -
Relational operator allows us tg --- numbers:

(LHR/G1-15)
(a) Compare
(c) Multiply
The number of bytes use ein C is: (SWL-18)

(@ 4 b 8

() 16 (d) 32
Logical operator? 8)

(a) And b =

() >= d <
Intisa (SGD-18)
(a) (b) Key word
(c) (d)  First word
Re allow you to: (MTN-18)

(a) (b) Add

(c) (d) Divide

tional expression is false, it has the value: (AJK/G1-14)/(LHR-14)(SWL-19) (RWP-19)
(b) Less than zero
(d) Grater than zera

les are created in; (AJK/G1-15)

RAM (b) ROM

(¢) Hard disk (d Cache
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31. The number of bytes used by character data type is; (AJK/i )
(a) Zero (b) Two
() Three (d) One
32. A memory location with some data that cannot change is called; JK/i 6)
(a) Constant (b) Variable
(c) Named constant (d) Symbolic constant
33. Global variable is created in; (ATK/G1-16)
(a) Random Access Memory (b) Read only Memory
() Cache memory (d) Hard disk
34. Variable that holds a large group of similar type of data is called: (GRW-14)
(a)  constant (b) scalar value
(c) array (d) multiple variab)
35. Variables are created in; (AJK-17)
(a) ROM (b) RAM
(c) Hard disk (d) USB
36. An identifier whose value can be changed during ufion of the program is called:
(a) Token (b) St
(c) Constant (d) Varial
37. ‘Which of the data type offers the highest precision?
(FSD-14)/ (LHR-14)
(a) Float
(c) Longdouble long int
38, The symbol “=" represents: (FSD-14)
(a) comparison operator (b) ment Operator
(c) Equal to operator (d) None of these
39. Which operator has lowest pre: (FSD-14) (GRW-19) (RWP-19)
(LHR-14)
(a) ! +
©@ = ==
40. An expression that arela operator is known as: (FSD-14)/ (LHR-14) (GRW-19)
(a)  Operational (b)  Sequential
(c) Serial (d) Relational
41. This means todncre vall y one: (FSD-14)
(LHR-14)
(b) Increment
(d) None of these
42, operations on data are called: (GRW-14)
(b) operands
(d) operation code
43. pefore the name of a variable denotes: (GRW-14) (FSD-19)
Jue (b) variable name
datmty (d) address
44, th is a numeric data type? (LHR-14)
Floating paint (b) Integer
(c) ath A and B (d) None of these
45,  The number of byes nsed by int data typein Cis:  (RWP-14)
(@ 8 (b 6
© 4 @ 2
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46. Which of the following is a valid character constant? (SWL-14)
(@) a (b) “b”
() ‘6 (d) 4
47, C statements end with a: (SWL-14)
(a) Period (b) Comma
(c) Semi-colon (d) Question mark
48. Relational operators allows you to numbers: [&]
(a) Add (b) Compare

(c) Divide (d) Multiply

SECTION II
SHORT QUESTION A

From PTB Exercise:
1. What is an identifier? Discuss the two types of identi

Ans.  An identifier, in C#, is the user-defined name of#
method, variable or interface. Identifiers are symbil
code. They are also used |u refer to types, cunslﬂms

(MTN-19)
lement. It can be a namespace, class,
uely identify a program element in the
parameters.

2,

Ans.

Ans.

5.
Ans.
#quotation marks). A character constant has an equivalent integer value, whereas a
ng constant does not have an Equivalem imeger value. (OR)

acter sel. Chnml:tr.r cC Itipl l:hn.mch:m within the single quotation

dard data type and User defined data type

tiype defines maximum or minimum set of values and set of operations on those values.

Standard data type is one which is predefined in C language. In C language there are four basic standard
data types (int, float, char and double). C-language also allows the user to define his/her own data types.
The data types defined by the user are known as user defined data types.
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6.
Ans.

7.

Ans.

Keyword and Identifier
Every language has keywords and identifiers, which are only understood by its com T. Ke rds are

predefined reserved words, which possess special meaning. An identifier is a uniqie na to a
particular variable, function or label of class in the program.

What is data type? Discuss various C data types to manipulate integers, following point and
characters.

iables that
cessing that

In the C programming language, data types are declarations for memo
determine the characteristics of the data that may be stored and the methods
are permitted involving them.
There are five basic data types associated with variables:
. int - integer: a whole number.
. float - floating point value: ie a number with a fractional part.
. double - a double-precision floating point value.
. char - a single character.
. void - valueless special purpose type which we will exaff
How many types of operators are available in C? Describe
TYPES OF OPERATORS ARE AVAILABLE
Arithmetic operators.
Relational operators.
Logical operators.
Bitwise operators.
Assignment operators.
Conditional operators.

Special operatars. ,
Operator Precedence
It determines the order of evaluation in,

sely in later sections.
0 mentioned their precedence.

ach operator has a fixed order. The operator with

higher priority evaluated before thosi ority. When an expression is a bination of
arithmetic, relational and logical expression pression is evaluated in the following sequence.

. Arithmetic

. Relational

. Logical

In arithmetic expression the comput rns one operation at a time. All operations are evaluated from
left to right. Multiplicatiah i, has highest priority. After the completion of these operations

ditom left to right. First parenth are e iin any exp
avghighest priority. All the relational operators have equal importance and
In logical expression operators are evaluated in a following sequence

addition and subtractions arc'ey
and the inner most p
they are evaluated
. Not
. And
Or

Lowest
hat data type would you use to represent the following items: number of children at your school, a
rgrade on the exam and the average marks of your class

Number of children at your school = int,

letter grade on the exam = char

average marks of class = float
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10. Write a note on the following:

Ans.  Arithmetic Expression (BWP-14) (BWP-15)(RWP-14) (SWL-19)
An expression that is a combination of numeric variables, numeric constants and arifimetigfoperators is
called arithmetic expression. In a C program, the arithmetic expression is used to calc e valugof an
arithmetic fermula. The arithmetic expression is evaluated and single value is retufs

11, Comments of C

Ans. A comment starts with a slash asterisk /* and ends with a asterisk slash */ g Ay whc
program. Comments can span several lines within your C program. Comments atgiypically added directly
above the related C source code.

12. Let w,x,y and z be the name of your float variables, and let a,b and’
variables . Witch of the following ins one or mor

eof three types of
e rules for forming

arithmetic expression. Rewrite these smtcmenls so that it is consi: 5¢ rules.

Ans.

Invalid Expression

z=4.0w*y;

Y=VZ.

a = 6b4;

¢ =3ath)

z=Tw+xy;
13. Assume that each of the following variables de
Ans.

inta, b, c,d.p;

float v, w, x, y, z;
Evaluate each of the following

Expression
=a*2.5/y;

w=aly;

p =a/d;

x = (a+c)/(z+0.3);

b =d/a+d%a;

y =c/d*a;
From Punjab Board:
L Define an identifier )i
Ans. s

2. (RWP-14)
Ans. < /,
3. i miatiéal expression in C expression. (BWP-14)(BWP-15)(RWD-14)(SWL-19)
Ans. i
. of operators. ...We know that the arithmetic operators in C language include unary
. multiplicative operators
ple arithmetic expressions.
4. assignment sequence? (RWP-18)
Ans. oal of assignment sequencing is a stepwise development of students' skills (i.e., mavement from

inary to higher level critical thinking or disciplinary skills) through a progression of assignments that
Lfogether to produce a larger end product.

5. What is the value of Y after the following code executes? (MTN/G1-16)

Ans. floaty =3.4 +sqrt (25.0);
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6.
Ans.
7.

Ans.

8.
Ans.

Ans.

10.

Ans.

11
Ans.

Ans.

13.
Ans.

14.
Ans.

Differentiate between implicit and explicit variable declaration? (KSMR/G1-1
Implicit declaration is done by the compiler itself while explicit declaration is dofé’by thy r. For
example the default constructor is defined by java, its defined and declared implicitly

What is the value of x after the following code executes: (D.G.K-
float x = 3.4 + SQRT (25.0)

Write C statement to print the value of unsigned long x. (D.G.K-
int main()

{

unsigned long long d;

scanf("%1u",&d);

printf("%1lu",di;

getch();}

How an arithmetic overflow occurs? (RWP-19)
Overflow occurs with respect to the size of the data type thatdiust accomin
result. Overflow indicates that the result was too large or tod §mall to fit in

odate the
e original data type. When

the resull is negative, or.

Write the use of operators. (SWL-19)
In computer programming and at the command line /8
a value or operater. For example, in "1 + 2", the ™
the operator

Write the given statement in C language
2*a%s =(vf*vf)-(vi*vi)
Why is it important to assign a data typ agariable Give example. (MUL-17)

Variables can represent numeric valuesigharaét r

an important role in computer programmngbecausgthey enable pragrammers to write flexible programs.
Rather than entering data directly into a programya programmer can use variables to represent the data.
Some common data types incl integers, floating point numbers, characters, strings, and arrays. They
may also be more specific typ
character) formats.
Write statement to inpu
main()

(

float x, y;

printf(*“enter first &
scanf(“% ", &x

as = VI-Y¥. (SGD-14)

two floating point variable, (AJK/G1-14)

ates to a value is called an expression. An expression gives a single value. An
of operators and operands. An operator is a symbol that performs an operation. An

Or

10 is a combination of Operands (constants and variables) and operators. Form of Writing an

(operator) Operand2
OR
Sum {Expression) = a(operandl) + b (operand2)
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15, What is an Arithmetic Expression? (BWP-15)(RWP-14) (SWL-19)
Ans. A type of expression in which only arithmetic operators are used is called arithm
arithmetic expression may contain integers and floating point numbers.
16. Name data types used to store real data. (BWP-17) (SWL-1
Ans. Data Types for Floating Point Numbers or real data
These are the numbers fractional part. e.g. 2.13, 0.54 etc.
ANSI C specifies three floating point data types.
1. float
2. double
3. long double
All are different in memory requirement and range.
Data Type Bytes Decimal Pldre Range of values
Float 4 10 10 10+
Double 8 1048 1o 1043
long double 10 104932 1o 104932
14. Describe single line comments in C.  (BWP-14)/(!
Ans.  Single line comments are inserted by typing two for fore the beginning of a line.
Example // this program Calculates temperature
15. Write a statement to declare an integer varigble i iniliﬁcd to-1{SWL-19)
Ans. inti=l;
16. How are comments added on multip! (D.G.K-14) (LHR-14)
Ans.  Multi-line comments are used to provide s tive notes which extend to multi lines. Multi line
lash asterisk in the beginning and asterisk slash (*/) at the end of
all lines within this block. By amitting ending letters */ will cause
ing letters /* for comments to be commented.
torialof a number.
18tlong integer. */
17. gram Also give an example. (RWP-17) (AJK-17) (MTN/G1-15)
(RWP/G1-15) (FSD-19)
Ans. readability of the program. Comments are notes about different lines of
the code. The user can insert information notes in the code. It helps in
rogram later.
1. of the program.
2. tive notes about the statements in a program that helps in debugging and modifying
3.
4. no role in the execution of the program.
5. does not translate these statements.
6. explains the logic of the program.

re two types of comments in C.
Single line comments

Multi line comments
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18. Define keywords / reserved words with examples. (RWP/G1-16) (GUJ-17) .(BWP-1
(AJK/G1-15) (GRW/G1-15) (SWL-18) (FSD-18) (v R-19)
Ans.  These are the words, which have predefined meaning in C language. These are 32 key age.
These words cannot be used or redefined for any other purpose in the C program. i
in lower case.
List of C keywords:
Lauto 2.double 3.void
5.long 6.switch 7.signed
9.int 10.struct 11.extern 127
13.do 14.4f 16.default
17.break 18.else 0.continue
21 .static 22.while 24.return
25.volatile 26.sizeof 28.float
29.char 30.const I 32.register
19. What is the use of assignment statement / What does mib. ld'in C. (SWL-14) (LHR-18)
(FSD-14) (D.G.K/G1-15)
Ans.  Assignment statement is used to assign a value or & nal result to a variable. The symbol equal
=) represents assignment operator.
There are two types of assignment statement.
1. Simple Assignment Statement.
2. Compound Assignment Statement.
Simple Assignment Statement
> The value is written on the right side d the variable is left side of the operator in the
assignment statement.
> ‘Writing variable to right and value to left cause!
> General form of assignment stat
> Variable = expression
A=10;
D=B*B-4*A*C;
>
>
>
>
>
>
>

J+=57// VALUE OF 1 1S INCREASE BY 5 AND J=15 OR J=]+5
I *=5;//VALUE OF [ IS MULTIPLIED BY 5 AND STORED IN I (I=100)
//OR EQUIVALENT TO I=I*5
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20.
Ans.

21.
Ans.

22
Ans.
23.
Ans.

Ans.

25.

Ans.

26.
Ans.

27.

Ans.

v VY

How does cancellation error occur? ), (GUJ-18)

The result of arithmetic operation may be unexpected. The large value may cancel oul
result may be the same as large value. For example, when a large value 158.01 is,ad

manipulated. The manipulation may show unexpected result. The larger num he smaller
number when both numbers are added.

What is garbage value? (MUL-18) -
When a variable is declared, the compiler reserves the space for it. IffWe do nafini

Ta avoid this situation, all variables must be declared and initialized actgrdin; 31" requirement.
List ant four types of integer data in C-language. - (D.G.K/G1-16)
The data types used for storing integer data are: int, short int signed int and unsigned long int.
What happens when arithmetic under flow occurs?
The arithmetic underflow occurs due to the manipulation ofi§
too small to be represented when two very small numl
zero in this situation
Simply we can also says The arithmetic underflow g¢
subtracted from another very small value. The result all to be represented accurately, so it
will be represented as zero. For example, when a value 0 8901 is added to a value
0.0000¢001245. The result of addition may be 0 on sorm computers.
How are characters stored? (MTN/G1416)
The characters are stored in ASCII air. ASCII stands for American Standard Code for
y v haracters are used when they are added, subtracted
1 Amgle character such as ‘a’, ‘$°, ‘9" etc. it takes one
ory, the ASCII value of the characler is assigned to the
. Similarly, ASCII value of ‘B’ is 66 and ‘b’ is 98 and

| numbers. The result may be
ed. The result is represented as

ery small value is added to or

byte in memory. When a character is stored 1
variable. The ASCII value of “*Asis 65 and ‘a’ is

S0 on.
and explicit type casting?  (RWP-17) (D.G.K/G1-16)
- 31215)
The process of convertin, a value during execution is known as type casting. The types
casting are Implicit ty, Explicit type casting.
Implicit type casting] c omatically by the C compiler. The operands in arithmetic operation

a types of operands are different, the value with lower data type is

Explicit casting T by programmer. It is performed by using cast operator. The cast operator

e (‘the data type of a value.
Sc Sensitive in C-Language? (LHR-14)(AJK/G1-14)(SGD-17) (D.G.K-14)
ive language. Each statement of C program is normally written in lowercase
e names or user defined function names with uppercase letters can be used in C

(KSMR/G1-16) (SGD/G1-16) (AJK/G1-16) (FSD/G1-15) (FSD/G1-15) (FSD/G1-16)
the order of evaluation in an expression. Each operator has a fixed order. The operator with
prionity evaluated before those with lower priority. When an expression is a combination of
etic, relational and logical expression then the expression is evaluated in the following sequence.
Anfiimetic

Relational

Logical
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>

Ans.

29,
Ans.

30.

The following table represents the operator precedence.

Operator Precedence (highest to lowest in downward direction)
! Logical not Highest
* %
4, -
<y <=y >y >=
= |= To
&& (and)
Il (or)
= Lowest
Which operator are used to e d compound conditidn T (GRW-14) (SGD-17)

31-16) (SWL/G1-15) (RWP-19)
tedds’called compound condition. It

ogical operators are used to evaluate
AND operator (&&), OR operator (| |) and

A type of comparison in which more than one conditio;

execules a statement or set of statements by testing mady

compound conditions. The logical operators in C laf

NOT operatar (!).

‘What is the use of OR operator? (FSD/G1-16) (ES 1-15) (FSD/G1-15) (SGD-14) (BWP-14)

The symbol used for OR operamr is (H) ll is used to gyaluate two conditions. It produces true if either
@nq are false

(MTN/G1-15) (GRW/G1-15)

AJK/G1-15) (LHR-17) (FSD/G1-16) (LHR/G1-15)

(D.G.K/G1-15) (LHR-14) (GRW/G1-16)

A variable is a named memory location or v cell. It is used to store program’s input data and its

cumpulalmna] results during exghy tion. The v; of variable may change Storing the execution of the
¢ cannot be changed.

A constant is a quamjty that cannot'be nged during program execution

“These are numeric constants and character constants.

Example:
#define pi 3.14285"
Pi whose value ren
There are two typés

The'maximum length of a character constant is 1.
Examples are: *5°, *“+°, ‘B’ efc.

The value stored in a variable can be changed during the execution of the program. The values stored in
constants cannot change
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31
Ans.

32.
Ans.
33.
Ans.

34.

Ans.

35.

Ans.

36.

Ans.

37.
Ans.

Define assignment statement with example. (LHR-14)

In most expression-oriented progr ing languages (for example, C), the assignme returns

the assigned value, allowing such idioms as x =y =a , in which the assignment statem

value of a, which is then assigned to x .

Once we declared a variable we can use it, but not until it has been declared - atte:

has not been defined will cause a compiler error. Using a variable means storing s ing in'il. You can

stare a value in a variable using:

name = value;

For example:

a=10;

Stores the value 10 in the int variable a. What could be simpler? Not nftich, but it isg'f actually very useful!

Who wants to store a known value like 10 in a variable so you can usc it later? It isf10, always was 10 and

always will be 10. What makes variables useful is that you can useSther gtore the result of some

arithmetic.

Give some examples of valid variable name.

Valid variable name are roll_no, XY, ABC, S$2, totalmarks

What is variable Initialization?

Assigning a value to a variable at the time of its declarati

= is used to initialize a variable. Variable name is w

side of equal sign . For example float a =5;

float b =15;

float ¢ =10;

Differentiate between declaring and defining a varigble. (D.G.K-14) (GRW/G1-16) (ATK/G1-14)
(AJK/G1-15) (LHE14) (MTN/G1-15) (D.G.K/G1-15) (SGD-18) (AJK/G1-15)

(D.G.K-17) (SWL-14) (AJK-17)

Variable declaration only informs the { te of variable and its data type. It dies not reserve

memary space for variable in the memory.jVariable definition informs the compiler the name of variable

and its data type. A memory location is also ri rthe variable. The size of memory location reserved

for variable depends upon the d pe of varial ust like int a, float b;

Write down two rules for decl aming variable in C. (BWP/G1-16) (LHR/G1-15)

(LHR/G1-16)

letter or underscore. Blank spaces are not allowed in variable

nbers and underscore (J. Reserved word cannot be used as variable

(AJK/G1-14) (D.G.K-14)

The first character of V.
names. Variable may incl
name.
List any four types ind
Different types offy av:ulale in C are. Arithmetic operators, Relational operators, Lagical
n ficrement and decrement operators, and Compound assignment operator.
. . (SWL/G1-15)
Itisusedtoi the variable by one. -+ is used as increment operator. It can be used before
ik X++ or ++x. It cannot be used with constants and expressions. Only the

ame e.g. x—or —X. It cannot be used with constants and expressions. Only the variables
It is unary operator.

‘s of decrement / increment operator.

ent / increment aperator.

scréiment / increment operator.

are the uses of Operators? (BWP-15) (SWL-18)

ors are the symbols that are used to perform certain operations on data. C

Unary-aperators required single data item.
Binary operators required two data items.
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Following types of operatars are available in C.
Arithmetic Operators.

Relational Operators.

Logical Operators.

Increment and decrement Operators.
Assignment Operators.

Bitwise Operators.

L o ol

39. Del'ue relational operators. Enlist different types of relational operators..
Relational operators with constants and variables form relational expregsi six operators (<,
>, <=, >=, ==, |=) used to compare two values. These always evaluafions to true'gr false. A true state is
represented by anon zero value (1). A false state is represent by a zerg Ml are binary operators.
All the relational expressions are evaluated from left to right. Relational; Are at the same level of
Meaning Expression
< Less than a<b
<= Less than or equal t a<=b
> Greater thany . a>b
>= greater than or gqt a>=b
= equal to a=b
1= not equal to al=]
v 0
A<B A A>B A>=B A=B Al=B
A=10, B=20 1 0 0 |
A=10, B=10 0 1 0 1 1 0
A=20, B=10 1} 1
40. What is the use of AND logn:aj oft
(FSD/G1-16) (SWL/G1-15)
Ans.  The symbol used for AND ). It is used to evaluate two conditions. It produces true if both
conditions are true. It pi Ise result if any one condition is false. It is used to combine two or more
relational expressions, sudiue if all the relalmnat expressions (conditions) are true. It produces

false result if any qe’

B(Exp-2) A&&B
1 1 (True)
0 (False) 0 (False)
1 0
0 0

B=X>Z A&&B

0 0
B=X>Z A&&B
1 0 0
A=X>Y B=X<Z A&&B
0 1 0

A=X<Y B=X<Z A&&B
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41,
Ans.

42,
Ans.
43.

Ans.

1

2)

3)

Differentiate between unary and binary operator with example. (ATK/G1-14),
Unary:- The operator that operates only on operands is called unary operatar. The
operalors are -+ (increment operators), --- (decrement operator) and logical negation
Binary:- The operator that operates on two operands (data items) is called binary, 4
in an expression “a + b”, the operator ‘+’ operates on two operands ‘a” and ‘b’. All ari i rators,
relational operators and two logical operators (&& and |} are example of binary opet
Define logical operator. Give example. (FSD/G1-15)48

Logical operators are used to evaluate compound conditions. The logical gperat g anguage are AND
operator (&&:), OR operator (| |) and NOT operator (!).
IR-17) (KSMR/G1-16)

(GUI-17) (MTN/G1-16}¢A (FSD-14) (AJK-19)
There are two types of identifiers in C language. These are Standard Identifie Juser-defined Identifiers
Standard identifiers:- A type of identifier that has special medhn s Lnuwn as standard identifier.

C cannat use a standard identifier for its original purpose if i _m'- redeﬁn d)printf and scanf are samples of
standard identifiers.it is also called reserve words just like fog\printf, mair,/getch,gata,if and switch.

tifiers are used to store data and
, age, marks elc.

lucanun is known as user-deﬁned uienuﬁer The
program results. Some examples of user-defined idg

What is the output of the following C-program?
, (GRW/G1-16)
main ()

inta, b;
a=77
b=40
a+=Db;
printf (“Ya=%d”, a);
}

OQuiput:

a=117

Trace the errors of

e

(GRWI/G1-16)
int numb = 6,
+ + number;

(GRW/G1-16)

Semi tolumn is not allowed here
% f used because data type is float
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4)

5)

6)

Ul

8)

9

Find the errors in the following code:- /G1-16)
void main (vaid)

Intx,y,z
Z=x+y+z
}
Correction:
C is a case sensitive language so “int” is in small
Every statement is terminated with the semi column symbol ;
Find out errors in the following code: (SGD/G1-16)
# include (stdio.h)""
Main (:u( )

f:lnn‘h B= g
float 3digit ¥ = 33.3;
Correction:

(1) <stdio.h> less than and greater than sign are used in heade
(2) Cisacase sensitive language so “Main” is used }il is
(3) Space is used in declaration of data type like @ 5
(4) 3 digits is wrong declaration because variablé &d
Write the output of the following code: (SGD/G1-16 ﬁ
intx=3

printf (“% d”, x); l
printf (* % d ™, x ++);

printf (“ % d”, ++x);

Output:

345

Find the error in the following code. (RWP/G1-16)
# include (conio.h)

# include (stdio.h)

void main ()

(
Printf (“OK™);
)
Correction:
<conio.h> , <stdis

(RWP/G1-16)

is a case sensitive language so “Main” is used like this “main™
ain function is not termi: 1 with ter
(2) Double code sign is not used in printf statement in the programme correct statement is this printf

(“OK™;
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10)

11)

12)

13)

14)

)
2)

Trace the error. TN/G1-15)
inta=6"
+a;
Printf (* %", a) @
Correction:
(1) Every statement is terminated with the semi column symbol ;
(2) % d is used because data type is int declare
(3) correct statement is printf (“% d”, a)
Write the given statement in C language.
(RWP/G1-15)
Z = (3*y) (a+b?)

Z=(3xy)x(axa+bxb);
Find the error in program code:
intx=20,y=35"

x=y++®

y=t+4y®

printf ("% d f% f\n",x,y);
Correction:

(1), (2), (3) terminator is not used at the end of the gta
(4) correct statement is (“% d f% d\n", x,y),
Trace the output of the following code.

(AJK/G1-14)

0

(D.G.K/G1-15)

# include < Stdio.h>

Void main () {

inta, b, c;

a=10;

b=20;

c=50;

Printf (“%d % d % d”,a+b,a
getch ()3}

Ans.

30200- 10

Trace the errors(GR
inth=8"
inte=0?

x =0@

printf (“%f" . 4x)

(LHR-14)

Correct statement is int a
Statement terminator is not used at the end of printf statement (;)
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17) Find error in following code segment (AJK-17)
# include < stdio.h >
void main ()
{intn=6;
++nt
Printf ®(*“ %d” , n), }
Correction:
(1)  Statement terminator is not used at the end of printf statement (;)
(2)  pis small used in printf key word

LONG QUESTIONS,

How many types of cperators are available in C? Describe brie

What do know about identifiers? Explain two types of identi
What are logical operators? Discuss different logical op
Describe different data types 1o store integer data in

What is data type? Write in detail data types used if'C

(RWP/G1-16)
(LHR-18) (FSD-18)

Ao plol
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<
Y
-~
10
3
a2
O

INPUT/OUTP;

SECTION |
MULTIPLE CHOICE QU

From PTB Exercise:
1. The function getche()is defined in:
(a) stdio.h (b)  stri
(c) match (d) conio.h
2. The escape sequence for backslash is: (RV
(@ \ l
@ W
3. The format specifier %u is used for:
(a) integer igned short
(c) unsigned float ned long int
4. In ¢ program, the number of that are printed are specified in

(a) format specifier
(c) formatting integers,

field width specifier
bothaand b
5. Escape sequence)\is u

(a) new line backslash

(c) space tab
6. Scanf function is
(a) (b) string value
(c) (d) non of above
A
(a) a var (b) constant
ariable (d) addresss of a variable
8. P« % ", & kilometer); kilometer is a(n)
(b) float variable
(d) double variable
9.
(b) conio
J (d) all of above
10. Ascll code for a character is displayed using format specifier

(@ 9%d ) %f
(©) %ec d %x
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From Punjab Board:
1. The function that is used to display output on the screen is called: (LHR-19)
(@) Printl (b) Scanf
(c) Pow (d) Display
2. Format specifier used for string (GRW-19)
@ %f (b) %s
(© %c ) %d
3. The general form of format specified for floating point value is: (D.G.K - 1!
(a) % m.nf (b) mn%
(€) m9% .nf (d) mn%f
4, Format specifies is started with symbol: (AJK-19)
(@ ? b &
© 2% d *
1. Which of the following format specifier is used for characé (SGD-18)
(@) %d (b) %s
(€) %c (d) %e
2 The escape sequence for back slash is. (SWL/G1-15)
@ \ (b) \b
© W\ ) \t
3. ‘Which of the following escape sequence can be nsed new line in C? (SWL-18)
@ ‘a
() m
4, Getch () stands for
(a) Go character
(c) Give character
5. Which escape sequence can b (D.G.K/G1-15)
(@ \a
(© \t
6. An ampersand (&) befor variable denotes: (LHR/G1-15)
(a) Actual value (b) Variable name
(c) Address (d) Datatype
7. Which of the followi ction§S used to input data in C-programs: (LHR/G1-15)
(a) Scanf (b)  Printf
(c) Get (d) Sgrt
8. Format spgcifierds sta with symbol:- (MTN-18)
(2) (b) %
(d) *
9. r for float type data will be: (AJR/G1-14)
(b) % s
(d %c
10. quence for new line is; (AJK/G1-15)
r (b) \n
\b (d) \a
11. nction getche () is defined in; (AJK/G1-15)
(a) Stdio.h (b) String.h

(c) Conio.h d Math.h
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12. Which of the following is format specifier symbol;  (AJK/G1-16)/ (AJK-17)

(@ e (b) &
© \ (d) %o
13.  Which of the following format specifier is used for float data type; (A 16)
(@ %c (b) % d
() %f (d) % s
14. Which of the following functions is used to read data from the file; (AJK/G1-16)
(@A) Fpuis() (b) Fscanf ()
(¢ Putc() (d) F printf ()
15. A = A+ B is equivalent to; (AJK/G1-16)
(@ A=+B (b)
(c) B=+A (d)
16. A + b =is equivalent to: (SGD-14)
(@) b+=a (b)
(c) b=b+a (d) a=a
17. Which of the following is equivalent to (P> = q) (SWL-14)
@ p<gq () lp<q

© p>q @) Yp>q)

18. Which of the following function is used tg{write n*tn a file; (AJK-17)/(FSD-14)/ (LHR-14)
(a) Puts()
(©) fputs()

19. Which operator is called ternary operato. (AJK-17)
(@ If ++
(© ? (d) 0]
20. Relational operator allow you to; -17)
(a) Compare (b) Add
(c) Multiply (d) divide
21. The functions use in| put is stored in:
(a) Stdic.h (b) Conio.h
(c) (d) Tan.h
22, sed in one printf ( ) function?
(b) Two
(d Many
23. ed to input data in C-program? (GRW-14)
(b) printf()
@ pow()
24, used for a conditional operator is: (GRW-14)
(b)  binary
(d) iteration
25. is not a valid escape code: (LHR-14)

@ ®
© W d) \f
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26. The escape sequence for back slash is: (L] ) (SWL-14)
@ \ (M) \b
(© Vv @ \
27. Which of the following functions is used to write character to a file: WP-
(a) putc() (b) fputo()
© fget() (d)  gete()
28. Which format specifier is used for character data type? (R -14)
(a) %S (b)%c
© 9%d ) %f
29. Which escape sequence can be used to begin a new line in C? VL-14)
(@ N\ b b
® n @ m
30. Which of the following character is used to make the end of th WL-14) (FSD-19) (LHR-19)
(@ \o (b) fo

(€ \a (d) \n
3L The ASCII code for escape key is: (SGD-14)
(@ 27 (b) 28
(© 29 d) 30

SHORT QUESTION ANSWERS

From PTB Exercise:
1.  What do we mean by standard input and o Plllustrate the use of printf() and scaf() functions.
(LHR-19)

Ans. The int scanf(const char *format, tion reads the input from the standard input stream stdin and

scans that input according to the formmat*ghavided. The int printf(const char *format, ...) function writes
the output to the standard ountp l stream stdout and produces the output according to the format provided.
(or) Data Input and Output fun -G, For data input and output, C provides a collection of library
functions such as getchafy putc 5 , printf, gets and puts. These functions enable the transfer of data

iiput/output devices.

e sequence that denotes a newline character.
for alarm. It causes a beep sound in the computer.
ds for backspace. It moves the cursor one space back. For example a statement is
ng ‘\b’ escape sequence.
elcome\b™);
“a’ stands for return. It moves the cursor to the beginning of the current line.
\f “f” stands for feed. It causes the output to feed one paper on the printed attached to the computer.
A\ It is used to display a backlash character in the output. For example, a statement is given below
using “\\" escape sequence.
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4,
Ans.

Ans.

Show the output displayed by the following program when the data entered are 10 an
#include <stdio.h>

void main ()

{

int m,n;

printf (“enter two numbers (separated by coma ).™),
scanf ("%d%d"”,m,n);

m=m+10;

n=>5*m;

printf(*m = %d\t n=%d\n",mn);

QUTPUT

m=20

n=100

Show how the value -17.246 would be printed using the forméts 04 8.3f,%8.21,%8.11,%8. 0f,and
%0.2f.

Output _as the value is give i.e, -17.246

Format output

%8.4f -17.246

%8.31 0:17.246

%8.2f 0000-17.246

%8.1f 000000-17.246

%8.0f O0000000-17.246

%.2f : l

Note; denote a single blank space o

Assuming x (type double) is 21.335 and
(on paper).For clarity , use the symbol O to
Printf(*x is %6.fit y is %4d \n",x,y,

Printf(*y is %d \n *, y);

Printf(“x is %1f\n" x);

00, show the output of the following statements
blank space.

OUTPUT

Xiso21.34 is 0200
Y is 200
Xis21.3

L1307 100
Printf(“%35d%1. 1f,a,b,€),

write the p; the user to enter the radius of the circle that computes and display the
circle’s a

printf(“Area= %f”, area);
getch():
)
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OUTPUT

Please Enter the Radious of the Area 8

Area= 201.06

Where Pl is the constant value of 3.14159 %
(Note : Define a constant macro Pl with # define directive)

Write a program that stores the values ‘A’, “U’, 3.456E10 and 50 in separate memoty cells_Your program
shuld get the first three values as input data, but use an assignment statement e.

# include <stdio.h>

# include <conio.h>

void main (void)

{
char chl ch2;

float x; :
int n;

clrser();

printf(“Enter first character ? 7);

scanf{“%c &chl), Q

printf(“Enter second character ? *);
scanf{“%c &ch2),

printf(“Enter real value 7 7);
scanf{“%f &x);

n=>50; ,
printf{“First character is: %c \n”, chl);

printf{“Second character is: %c \n”, ch2);

printf(*Real value is; %.3E \n", x);

printf(“Integer value is: %d \n", n);

Please Enter Fahrenheit 77
Temperature In Celcious Is = 25



Computer [Part-11] Solved Past Papers 83 | Page
From Punjab Board:

1.  List some important functions for output. (
Ans. C-language also provides various standard output library functions. These functions are
program on the display screen. These are important and commonly used standar
language are as follows:

¥ printf()
» puts()
2. Write C statement to input value of integer variable x. (MUL-17)

Ans. Leam about how to printa mieger entered by userin C programmmg withée P j nler an mtep,er

dlsplaycd on the screen .
int x;
scanfl“%d",&x);
3.  Discuss the purpose of % C format Specifier.
5GD-14) (AJK-17) (BWP-14)
Ans. The %c format specifier is impl d for reg §used with printf() function for
printing the character stored in a variable. When you w. intaighracter data, you should incorporate
the %c format specifier.
4.  What is an escape sequence? give example.
(D.G.K/G1-16) (K
(GRW-14) (D.G.K.-17)(MUL-
Ans. InC, all escape sequences consist of two or mase chara, . the first of which is the backslash, \ (called the
"Escape character”); the remaining chagéc detérmine the interpretation of the escape sequence.

in 8 (AJK/G1-14) (SGD/G1-16) (GUJ-17) (SWL-18)

perator. The scanf function is going to fill a buffer, and it needs to know
... The seanf() function reads formatted input and has to put this input into
OR

d functions for /O (Input/Qutput) are printf() and scanf(). The scanf() function reads
m standard input (keyboard) whereas the printf() function sends formatted output to the

evice/Console (monitor screen), printf is very basic library function in ¢ language that is declared in
stdioh header file.

The printf() function prints all types of data values to the console

It requires format conversion symbol or format string and variable names to print the data. The format
string symbol
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Syntax:

»  printf(“message text™);
»  printf(“message text+ format-string”,variable-list);
% First printf() style print the simple text on the monitor, while second
»  printf() prints the message with values of the variable list.
»  Sitring (char{]) %s
»  Use “u’ for unsigned type modifier, ‘I’ for long.
EXAPLE: USE OF PRINTF()
#include <stdio.h>
int main()
{ printf("C language");
printf(" Apps");
printf("Bits of computer");
return 0;
]
Output

language Apps Bits of computer
10. What is the use of printf() function? Write the synta¥wof

tion.
(D.G.K/G1-16) (AJK/G1-15)
Ans. This function is used to print any text as well as value(g @ i on the standard output device/Console
(monitor screen), printf is very basic library function in'eJ4n efthat is declared in stdio.h header file.
The printf() function prints all types of data values to the consble
It requires format conversion symbol or formapstring and@yhriable names to print the data. The format string
symbol
Syntax:
» printf(“message text”);
»printf(“message text+ format-string”, varial
> First printf() style print the simple text on the
> printf() prints the message with s of the variable list.
> String (char[]) %s
»Use ‘u” for unsigned type modifier,
EXAPLE: USE OF P
#include <stdio.h>
int main()
( printf("C language”,
printf(" Apps");
printf("Bits of comp

tche ( ) functions.
(FSD/G1-16)(SWL/G1-15)(RWP/G1-16)(RWP-14)(FSD/G1-15)(BWP-14)
(AJK/G1-16) (SGD-14) (LHR-18) (KSMR/G1-16) (AJK/G1-14)

2. jdagsn't displays the character and terminates the program but getche () displays the character and
erminates the program. For eg if we press g then in getche () g will be displayed and program is

3. iy and getche() are not compiling.

4, getche() give output without any buffer but the getch() give output with buffer. Likegetch(), this is also a

non-standard function present in conio.h. It reads a single character from the keyboard and displays
immediately on output screen without waiting for enter key.
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12,
Ans.

13.
Ans.

14.
Ans.
15.
Ans.

16.
Ans.

17.
Ans.

18.

Ans.

19.
Ans.
20,

Ans.

21.

List any two important functions for input in C. (BWP/G1-16) (RWP/G1-16)

of header files in which a particular function is defined while discussing about it.
Examples scanf(), getchar(), putchar(), gets() & puts() functions

List out the names u(' funcliuns used l'ur thnrnc‘lnr 'mpul" (FSDIGI 16)

Give single prinl statement to print the I'ullnwing message ‘I Love|Raki (D|G.K-14)
printf("*‘I Love Pakistan"),
Describe clrser() function.  (D.G.K-14) (LHR-14) (BWPA7)E

Differentiate between gets( ) and puts( ) Functions.
The main difference between gets and puts in C Lapgua
from standard input while puts is a function that prigits
Actually these are two different things. As gets() i {
also, And puts() is used to print this string, You mlghl 1 ifference between gets() and getchar().
Define standard output. (FSD/G1-16) (SWL-14) (FSD/G1-15) (GRW/G1-16) (LHR-19)

When we say Output, it means to display s data on screen, printer, or in any file. C
r i$1o output the data on the computer screen as well as to
) idns are puts() and printf()

List some important function for input. 3 IN/G1-15)

Data Input and Output functions in C. ¢

is 2 function that reads a string
oythe standard output.

ings which may include white spaces

of data between the C program an
Give single print statement to pi the fallowing message. (LHR-14)

Define the format spedi printf () and scanf( ) functions, (GRW/G1-16) (FSD/G1-16)

(GUJ-18) (SGD/G1-16) (MTN/G1-16)
In c.format specif] fies thefdata type to be displayed at the output. It tells the compiler that which
type of value Vor read scanfl“%d".&a);. Take below example: printf (“%d".a); and
scanf{*“%d",& nat specifier and it tells the compiler that we want to print an integer

specifiers in C-language with four examples (Types). (GRW/G1-16)
(FSD/G1-16) (GUI-18) (SGD/G1-16) (MTN/G1-16) (RWP/G1-15) (RWP-14)
(MTN/G1-15) (RWP-17) (SGD-18)

i gncd integer.

oE) float ar double exponential format.

[loat or double signed decimal.

%g (%G) float or double use %f or %e as required.
%o int unsigned octal value.

%p pointer address stored in pointer.



Computer [Part-11] Solved Past Papers 86 | Page

22,
Ans.

Ans.

‘Which symbol is used to start format specifier? (SWL-14)
The % specifiers that you can use in ANSI C are:

. Usual variable type Display.

. 9%c char single character.

. %d (%i) int signed integer.

. %e (%E) float or double exponential format.

. %f float or double signed decimal.

. %g (%G) foat or double use %f ar %e as required.
. %0 int unsigned octal value.

. %p pointer address stored in pointer.
What is the use of field width specifier, getche() and getch() 7

getch():
getch() is a nonstandard function and is present in conio.h he
compilers like Turbo C. It is not part of the C standard libra
character from keyboard. But it does not use any buffgs
without waiting for the enter key.

In Field width specifiers arc format specifiers Usethinfrogramming languages for printing formatted
output on the screen. Field width as the name suggestSS§ithe width or space which needs to be given for
that particular display line and it is specified using numbers<afer % this symbole .

getche() )

Like getch(), this is also a non-standard
keyboard and displays immediately on

¢functions, it reads also a single
aracter is immediately returned

resent in conio.h. It reads a single character from the
en without waiting for enter key.

Find the errors in the following code:
(BWP/G1-16)
{

intn=6;

n++, 0

printf (“%d?,n);
)
Correction
[€0]

(SGD-14)

(BWP/G1-16)
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4.

Trace out errors in the following code:
floatr

clrser ()&

WP/G1-16)

printf ( * enter radius ®) ;
scanf(“%f”;%r);
ERRORS
(I s termi ; is missing;
(2) “isnot used in the printf
(3) ,is used not ; is used
(4) & is not used just like &r in scanf
Determine the output of the following code:

(BWP/G1-16)
inti=515;
printf (“i=%5d”,i);
printf (“i=%d™,i);
Output

0sls
15

What is the output of the following? (KSMR/G1-16)
# include < stdio.h >
# include < conio.h>
void main )
{

inti=5;

printf(“ % d % d % d”, i, i++ ++i);
getch ();

]

&

Output
766
Trace out errors in the following col (KSMR/G1-16)
# include < stdio.h >
# include < conio.h>
void main < >"

{

float area, r=2.5;

(KSMR/G1-16)

=10;
) (“% d", a);

Correction:
(1) A capital use correct is int a
(2)  printf is used not Printf
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9. Predict the output of the following cade.
void main ()

{

MR/G1-16)
charch; =‘A’ chy=“B’, ch;=*C";
printf( “chz \n % c\n ch; ”, chs);
getch ();
)
Output
!
10. 'What is output of : printf (“%C” ,67); (MUL-18)
Output
11.  Trace the output of the following code.
(D.G.K/G1-15)

# include < Stdio.h >

void main () (

char word 1, word 2, word 3;
word 1 =‘R";

word 2="M";

word 3="P"; l

printf (“ % ¢ % ¢ word3”, word 1, word 2);
getch () }
Output

12. Trace the error in the code. (D. 1-15)
# include < STDIO.H™ "
void Main ™ () {

WX =20,

@y —30@

GZ=x 4y

Printf (“ % % 17, N
getch ()}

Correction:

(40} i di

or; is missing;

13. (ATK/G1-14)

, 1s not used here
(2) R variable declare in small letters not in upper case
(3) ;isnotused here
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14.

15.

16.

18.

19.

Trace the error. WP/G1-15)
Minteger x = 15;
printf (“%™, x);

Caorrection:
(1)  int keyword is used not use integer.
(2)  %d is missing just like prinf (“% d”, x);
What is the output of the following code? K/G1-14)
printf (“Hello \n world \n Pakistan™),
Output
Hello
world
Pakistan
Find the output of the following code. (KSMR/G1-16)
# include < stdio.h >
# include < conia.h>
void main ()
{
intx,y,z;
printf( “ Enter three number =),
scan f( “%d %d %d 7, &x, &y, &2);
y=x+2;
x=z+1;

printf(“% d% d%d”, x,y,z) l
getch () :
]
Output
Enter three number =579

127325321272

Determine the output of the follow segments. (GRW/G1-16)
# include < stdio. h>
# include < conia. h>

void main ()

{

float f=3.14159;
printf (“I=% 3.2, 1)}
getch ();

)

Output

thefollowing code. (GRW/G1-16)

ntf (“the sum of a+b = %d”, ¢);

Output

the sumofa+b=25
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20. Predict the output of the following code: SD/G1-16)
int number = 2;
number + +;

printf (% d ”, number );
Output
(3]
21, Trace the output of the following code:
(FSD/G1-16)
int a,
print(“%d”,a);
Output:
—28765
22. Find the error in the following code:
(FSD/G1-16)
main () ;¢
{
printf ( “Hellow @,
l
Correction:
(1) ;isnotused here
(2) ™ ismissing in printf
23. Trace the output of the following code:

I (FSD/G1-16)

void main ()

{
printf (“224");
printf ( “ 666 );

]
Output
24. Trace the output: (FSD/G1-16)(SGD-17)
{
primf% BE
1

Output

25. Trace out tl frol e following code segment: (FSD/G1-16)

(1) “printf keyword is used instead of print

2 5 terminator; is
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26.

27.

29.

30.

31.

Trace out the errors from the following code segment (FSD/G1-16)
# include (stdio.h)™"
void main ()

float n;

scanf(“%d” @, &n);

printf (“The number is % £, n),

}

Correction:

(1) Using <> sign

(2) Use %f because data type is float in scanf ( ) %d escape sequence j data type
Trace the output of the following code: (FSD/G1-16)
inta=9;

a=a%4;

printf (“\ n % d is result” , a);

Output

Trace the output of the following code: QO

void main ()

{
printf (“55\™);
printf (“666);

printf (“\n 7777);
) I

Output

55 666
777

Identify the errors in the following lines. (D.G.K/G1-16)
Minteger AP=2+3;
) Float B=5;

int. C=A+B;
Caorrection:

(1) int keyward is alw:
(2)  Use small variabl
(3) Use small (low

(D.G.K/G1-16)

(3) This®
Predict the

nstead of * in printf()
of the following(D.G.K/G1-16)

++3
intf (“%d ™, x++);

)
Output
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32. Predict the output of the following code.
void main (void)

pintf (“ Hello \“ World ™ );
]
Output

| Error occure unterminated string function called

33, Trace output:
intn=6;
n++;
printf ( *“% d”, n),
Output

34. Trace error:
intx=5;
y=x +3?
int ¥ 3)
printf (“ %d”, y);
Correction:
(1) Space is used between int x;
(2) Statement terminator; is missing
(3) Statement terminator; is missing
35. Trace error:
Include < STDIO. ‘"H >
VOID ® Main ( ); @

{

printf (“Pakistan”),

]

Correction:

(1)  #include <stdio.h> correct hea

(2) must be written in sm;

(3) ;isnotused here, noth
36. Trace output:

inta=>512;

printf (“a="% 5d",

printf (“a=%1d",

37. Trace output:
main ()

# include < stdio.h >
void main (void)
Print ‘’(“Hellow world™)

(LHR/G1-

issing |
(LHR/G1-16)

Q)O

4

is used at the end of main function

(LHR/G1-16)

(LHR/G1-16)

(SWL/G1-15)
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39,

40.

41.

42.

Correction:
(1)  printf() is used instead of Print
(2) Statement terminalor; is missing;

Trace the output. %

# include < stdio.h >

Void main (void ) [

intx=10;

printf (“ %, x % 2);

Output:

Trace the output. (SWL/G1-15)
# include < stdio.h >

Void main (void)

{
intx=1;
inty=2;

x=x+1; O
y=y+x
Printf (“%d \n%d ", x,y),
]
Output

2 l
4
Trace the errors in the following code.
(SWL/G1-15)
# include < stdio.h >
"V oid main ( void )
{
intx=49
Gly=x+10®
printf (“%d ", x+y),
)
Correction:

(1) voidis“V"isj
(2) ;isnotusedar

(3)

(SGD/G1-16)

smoetused with rin scanf just like scanf (“%f”, &r);
canf() , is used instead of ;

rite the output of the following code: (SGD/G1-16)
‘(A Programming \t is \n very \t interesting™);

Very interesting
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44, Write the output of the following code: GD/G1-16)
intx,y,z,r;
printf (“Enter three numbers.”);

scanf (“ % d % d%d”, &x, &y, & z);
r=x+y*z;
printf (“% d ™, 1);

Enter three number 3 4 5

23

45. Trace the errors in the following code:- (MTN/G1-16)
# include (std10."h)
DV oid main (void); &
{

ty = 5;
Wy = 6
Wz=x+y

printf (“%d”, z); }

Correction:
(1)  Header file is not comrect with use () , the corrg ,e dio.h3

(2) Viscapital
(3) main always write without; statement terminator

(4) notdeclare data type of x, y, z
46. 'What is the output of the following code?

(MTN/G1-16)
printf (“Iin Love\n programming”™);
Output
1
Love
Programming
47. Find the output of followi
(MTN/G1-16)
intx=10;
intys=35;
intz=x+y;

Qutput

(D.G.K/G1-15)
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49,

50,

51.

Trace the error in the code, (D.G.K/G1-15)
# include < STDIO.H™™
@y oid Main () {

[3’X 3 20 ) %
By =30 @

BZ=x+y"

@Printf (“% [ % [, X, 2);

getch (); ) O

Correction:
(1)  Header file write is wrong correct is <stdio.h>
(2) V & Piscapital

(3) Data type is not mention with x, y, z

(4) ;is not used at the end of statement
Trace the error (ATK/G1-14)
void main( ),""’

{int®R;r=25;

if (RW > = 0)

{R=R*3.14*3.14;

B l
Correction:

(1)  after main not write any sign

(2) Riscapital

(3) Riscapital

(4)  After delimiters not use any

Trace the error.
DInteger x = 15;
printl ("%, x),

Correction:

(1) " s int is used

(2) in printing statement

/G1-15)

(AJK/G1-14)
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54,

55.

56.

57.

58.

Find the error in the code: (FSD-14)
#include<STDIO.H>"

void main ()

inta;

a=20;

printf(*%f” P,a);

getch() ;)

Correction:

(1) stdio is write in upper case that is wrong.

(2) Correct format specifier is %d is used, because data type is int .

Trace the output. O (FSD-14)

void main () (
inta, b, n;
n=400;

a=n% 100;
b=n/10;
n=n% 10;
printf{*%d\n” a),
printf(“%d\n” |b)’
printf(*%d\n” n);

getch ();} :
Output
0
40
1]
Trace the output: , (FSD-14)
void main ( ){
intx,y, z
x=10;
y=20;
z=130;
X=X+Y;
y=y+z,
Z=X-Y;
printf(“Result=% d % d\n", L Z),
Output
Write the cutput of follofying codé. (D.G.K-14)

main ()

{
printf (“444 \ n'y
printf (“ 44~

}
Output

ifi'the following programs.

|

(1) Missing the # sign
(2)  p used here upper case C-language is case sensitive, so all source code is wrile in small letter.



Computer [Part-11] Solved Past Papers 97 | Page

59.

60.

61.

62.

63.

Determine the output of the following code:
inta, b, c,
a=3;

(BWP-15)
b=3;
c=a%b;
printf(* % d”, c);
Output
What is the output of the following code?
(BWP-15)
inth=9;
b
b=3:
Printf (“ % d”,b);
Output
Predict the errors in the following code.
(BWP-15)
# include < stdio . h > ;"
®Vaid Main ()

[inta=10: I
printf (“% d” ¥, )3

)

Correction:

(1)  After header file ; is not used

(2) V& Mis capita letter

is printf (“%d", a),

(3)  Output variable is not mentiol
Predict the errors in the following

(BWP-15)
# include < stdio . h >
Main () ;@
{
prnt¥( “% d”,a, b
Correction:
(1) inmain is letters
in always write without;
e following code segment: (FSD/G1-15)

(1) cis not declare the data type
(2) print is not any function in C-Lang correct5 function is printf ();
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64,

65,

67.

68.

69.

70.

1.

Trace out the errors form the following code segment.
# include (stdio.h)'"
void main ()

SD/G1-15)
{
float n;
scanfl*“%d®”, &n);
printf(“The number is % ", n);
]
Correction:
(1) In header file always < > symbol are used.

(2)  In printf (%d) format specifier is used that is wrong because float da declare with “n” so here
%f format specifier is used in printf ().

Trace the output of the following code:

inta=9;

a=a%4;

printf(*\n% d is result™ , a);

Output

Carrect the following statement. (LHR/G1-15)

(printf (Hello World);

Correction:

printf (“Hello world™);
Write down ontput of the following code: ,

(FSD/G1-15)

(LHR/G1-15)
printf ( “C programming is \t easy”);
Output
C programme is eas

Write down output of the follo

(LHR/G1-15)
int y = 103;
printf (* %f”, %),
Output

In printf floating poi because data type is int, so we use format specifies is %d used
and secondly floati intdormats riot linked so abnormal programm termination

What will be thetwutp owing?

(RWP-14)
inta=9;
a=a%4;
printf{“%

(RWP-14)

value'= 3.24
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72. Detect the errors from the following code;
int number = 6
number + +;

JK/G1-15)
printf(* % V" | number);
Correction:
(1) Here %d is used because data type is declare int
(2)  Statement terminator; is missing;

73. Find error in the following code; (AJK/G1-15)

(I}Main ( ) ;(1)

{

Print (* I love Pakistan®®);

]

Correction:

(1) No any sign is used after main ()

(2) M is capital

(3) “is missing in printf()
74. 'What is output in the following program: (AJK/G1-15)

# include < stdio.h >

main ()

{

inta=10;

printf (“ % d ™ ,a) ,

)

Output

75. Trace the output: (AJK/G1-15)
# include < stdio.h >
void main ()
{
printf (“%c ™, “ pak ™),
)
Output

If we use %c show thaydre g |,4f we want to print pak, then we use format specified is (%s) in printf( )
76, Trace output of the folls (SWL-14)

printf (“%2.
Output

7. (SWL-14)
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78.

79.

80,

82.

83.

Trace the error in the following C code.
# include < stddio™ . h >
void main ()

(BWP-14)

{ @
@print( “ C Language is interesting ™ );
]
Correction:
(1) stdio.h is correct
(2) printis function is not used in C language correct is printf ()
Trace the output: (BWP-14)
inti=20;
printf (“% 6d”,1);
Output

oocg20
What will be the output of the following: (BWP-14)
float t = 3. 8961;
printf (“value of t="%621",1);
Output

value of t=0C 3.90
Find errors in following code (AJK-17, ,
Winclude < stio.h >2
void main ()
{
Finti=10;
SPprintf (“ %d”, i) ;

]
Correction:

(1) #is missing

(2) Correct is stdio
(3) Space is missed b
(4) pis capital lett
Predict the output
ini=212;

ode. (AJK-17)

e following?(AJK/G1-16)



Computer [Part-11] Solved Past Papers 101 | Page

84,

85.

86.

87.

Trace out errors in the following code, JK/G1-16)
# include <stdio.h>
# include <conio.h>

MVoid main < >@

{

float area, r =2.5;

area=3.14 x¥rx¥r;

printf (“Area =% i™" area);

getch ();

| O

Correction:

(1) Vis capital that is wrong

(2) () Brackets are used not <> Brackets are used here.

(3) %fis used in printf ( ) because data type of “area” is float,

(4) The * operator is used for multiplication not use X in equf

Trace the error in the following code. (AJK/G1-16)
#include <stdio.h>

void main ()
{
int AV = 10;
@Printf (* %d”, a);
)
Correction: ,
(1) a declare in capital letters
2) Correct function is printf ()

Predict the output of the following code.

(AJK/G1-16)

void main ()

[
char chy = A", ch;=“B’ ,chs=C’;
printf(*chz \n %c \n ch,™, chs
getch ();

]
Output
Ch;
C
Chy
Find the o t of, follgwing code. (AJK/G1-16)
# include < gtdi

# include i
vaid maj

X2
printf(*%d %d\%d"£& x, & y, &z),

pri od %d”, X, Y, Z);

—12-14-16-292217555—- 29222
Because not use proper scanf it shows the garbrage values
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89.

90.

91.

92.

93.

94.

Trace the Error (SGD-14)
# include(stdio.h)'"
main ()

print® (“Hello world™),

]

Correction:

(1)  In header file < > is always used.

(2)  C have not function print correct like this printf (“Hello world™);

Trace the output (SGD-14)
float f = 3.14159;

printf(“f=%4.21" f);

Output
Write the output of the following code: (LHR-14)
Int x=9;
X =x%4;
printf (“n%dis result”, x); (LHR-14)
Output
Write the output of the following statements.
, (GRW-14)
main ( )
{ printf (“555/n™)
printf (*557);
Output

Trace the output of the following (LHR-14)
int X, ¥ 2

“ oM~
I

3

2;

z=4;

printf (“%d%d%d”, ¥F vy, y £5, x +z);
getche ( );

Output

Trace E i ollowing code: (BWP-17)
#include

{

OK

e mention the header file that is include just like # include <stdio.h>

ways used after header file mean in next line.

utput of the following code: (BWP-17)
86;

06d™,i):
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95.

96.

97.

98.

99.

Trace errors in the following code.
#inclndes <stdio.h>

(BWP-17)
DVoid main ()
{
inti @;

scanf (“% d” i®);
Printf (“% d, i);
)
Correction:
(1)  space is missing between int and i. Correct is “int i”
(2) Vs capital used that is wrong.
(3) & sign is missed with i in scanf function.
Find out the output of following code. (BWP-17)
inta=10,b=12;
sum = a+b;
printf (“%d"” ,Sum);
Output:

In this programme sum is not declare data type

if we declare “int sum” then output is 22 sum is

undefined symbol
Find the error: (D.G.K-17)
WY oid main () ,
{
inth=5%
printf (“%d” , b) @
]
Correction:

(1) Letters are used in upper casi

(2) Statement terminator; is missi

Write the output (D.G.K-17)
float f = 3.14159;

Printf (“% 7.3 1, 1);
Output
il utput following code: (GUJ-17)
. P

7od\tb=%d",a,b),

no any output because so many errors for example:

in ( ) is not terminated with ;, no any symbel used at the end of main() function
(2) Not give space between “inta” like this int a and , is used after a

(3) tisundefined variable.

(4) Statement terminator; is missing;
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100, Find our errors from the following code,

10,

102.

103.

104.

105,

{ chr ch, ch2;
@gh] =2 B
ch2 ="6"";

)

Carrection:

(1)  Chr not any data type correct data type is char.
(2) Chl is undefined variable

(3) (¢ “)isnotused

(4)  Statement terminator; is missing;

Trace errors from the following:
void main ( ;¥

{ float I = 15.6;
printf (“%d @~ b),

)

Correction:

(1) statement terminator is not used after main ().

(2) lis write in upper case.

(3) Format specifier is wrong used because data (;
Find any two errors of following code:

int number=6"

number + +;

printf (% d\n" ),

Correction:

(1) Statement terminator; is missjng;

(2) here fis used that is undefi
Write down output of the followin;
float f=3.14159;

printf (“f= % 4.2 1),

Output

f=13].1114

Find error

{

('Float area,
printf(“Ent

;"

@Float x;
printf ®(Input value);
Scanf (“%d™ x);

e use number.

y@

4

X
OO

(GUJ-17)

(GUI-17)

(LHR-17)

(LHR-17)

(LHR-17)

(MUL-17)
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106.

107.

108.

109.

110.

11L

Correction;

(1) Not statement terminator ; is used here
(2)  F used upper case

(3)  (“ “)is not used in printf ( )

(4) “&”is not used in scanf( ) and format specifier %d is used in scanf() that is wrhg, corre cause
data type is float
Trace the output of the following:- (MUL-17)
x=5;
Y=X+4
printf (“% d % d”x y);
Output
Write output of the following code(MUL-17)
intn=-2541;
Printf (“%d6.2 ", n);
Ouput
56.21
Find the error void main () (D.G.K-17)
{
Olnta=10;
printf (“%™s” b%);
]

Correction: ,
(1)

i is used in upper case
(2) % d is used because %s is always used foriting
( -17)

(3)  bis undefined symbol

Find the output of the following code.
#include <stdio.h>
void main ()

{

intx=10,y=20,z=30;
X=X+Y;
y=y+z,
z=x-y;
printf (“result =% d %fd

Find the errors, (RWP-17)

ays, is used not ;

use here not any symbol is used before closing brackets)
utput of the following code: (GUJ-18)

x=5;

printf (Vo d % d, 2 * x, 3 *x),

Output
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112, Write output of the following code: (GUJ-18)
inta, b, c;
a=15;

b=10;
c=a+b;
printf (“c =% d” ,-c);
Output
113. Find errors from the following code: (GUJ-18)
#include <stio.h>!"
void main ()
{
intx=10,y=13;
X=++y;
y=x++
printf (“% d % d” xy);
]

Correction:
(1)  Header file is not correct, correct is stdio.h
114. Show output:

(SWL-

inti=515;
Printf (* i=% 5d: i) l
Printf (“i=% 2d" ,i);
Output
115. Find errors from the following c -17)

# include < studio'? .h>

# include < cono'” .h>

{

void main () ;®

printf (“Assemble LafifuageZ)™

)
Correction:
(1) Header, t correct.
(2) Not: ()
3) St i 15 missing.
116. Find (SWL-17)
mai
(1) ;%8 not used after main ( ) and () are used

(2)  %f format specifier is used for float data type.
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117, Find Errors in the following code: (SGD-17)
void main ()

{

W intnum = 10 @

Num +=5@

printf (*\n%/d."” num);

)

Correction:

(1) space is missed correct s int num; O

(2)  Statement terminator; is missing;
(3) (“ *)ismissed in printf ()
118. Find the errors in the following code:(SGD-17)

Void main (); "

{

int A(ll =10(~ﬂ

printf (“%d® ,a); @

]

Correction:

(1)  Statement terminator ; not used after main ()

(2) Variable is declare in upper case

(3) ( “)is not used in printf ()

(4)  Statement terminator; is missing; ,
119. Trace output of the following code: (LH! )

intx=0,y=52z=4;

Xx=y+z*5;

printf (“Result = %d: x);

Output

Result =25

120. Find errors in following code:
void main ( ):"

{
print ¢ (“Pakistan™),
]

Correction:

()

121. Trace outp

[ code: (MUL-18)
a=10,b=40"
rint P(“sum® 7, a+b)

122,

(1) issing ;statement terminater
(2) Correct function of output is printf ()
(3) Format specifier is not used in printf ()
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123, Write output of the code: (MUL-18)
float f=3.1415 ;
printf (% 7.2, )

Output @
124. Find the error. (RWP-18)

{

inte=7"

printf (“%d”, C®) @ O

)
Correction:
(1)  Statement terminator; is missing;

(2) Cisinupper case
(3) Statement terminator; is missing;
125. Find the error. (RWP-18)
void main ()
{
inta=10"
printf (“%d” ,a);
]
Correction:
(1)  Statement terminator; is missing;

126. Write the output. (RWP- ,
float f =3.14159;
printf (“%8 41 f);
Quput

127. Write output of following code.
intx=4*5\2+9,
Printf (“% d”; x);
Output

Trace errors in follo#ing ci
{

x=20;
y=40;
x+y=z="
printf (% d"
Correcti

128,

129.

he sumofa+b=%d"c);

The sumofa+b=15
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130, What is the output of following code segement?

intn=10

n% =2;

n+=>5;

printf (“%d” ,n);
Output

131. What is the output of following code segment. :
(S5GD-18)
intx,y=35;
X=y++
prntf (“% d/n%d” x.y); :

Output

132. Find errors in the following code segment.
(SGD-18)
#include <stdio.h>;"
BVOID main ()

{
printf (“Hello ¢”);
)

Correction:
(1) C-lang is case sensitive lang. Voi ite i 1l letters.
(2) :isnot use after header file

133. Trace the errors. (RWP-
#include <stdio.h>
void main ()

Correction:
(1) C-language is case sémsiti rite the source code in small letters, so printf write here printf ()
(2) Statement terminator is mi
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DECISIO
CONSTRUC

From PTB Exercise:

No MCQs in this Cha,
From Punjab Board:
1. An if statement inside another if state (RWP-19)
(a) if statement (b) statement
(¢) Nested if statement (d) switch statement
2. Conditional operator is an alte! (AJK-19) (§GD-19) (SGD-14)
(a) if if-else
(c) nested-if if-else-if
3. In if statement, fals (MTN-18)
1
3
4. itch statement. (SGD-18)
(b) Switch
(d) Default
5. t in following options? (MTN-18) (RWP-18) (RWP-19)
(b) if
(d) for
6. or a conditional operator, (RWP-18) (GRW-19)
(b) Binary
(d) iteration
1. ditional operator takes: (RWP-18)
(a) oneoperand (b) Two operands

(c) three operands (d) four operands



Computer [Part-11] Solved Past Papers

111 | Page

10.

11

12.

13.

14.

15.

16.

17.

18.

19.

(@) Relation (b)  Decision
(c) Sequence (d) Repetition

Another term for a computer making a decision is. (SWL/G1-15) (FSD-L WP/G1-15)
(a) Sequential (b) Selection
(c) Repetition (d) Iteration
Which programming structure makes a comparison? (SWL/G1-15) :35]5] -19)

Another term used for making a decision is:
(a) Relation (b) Sequence
(c) Repetition (d) Selection

O (BWP-15)
i (SWL-18)

The programming structure used for a computer making a St
(a) sequential (b) selection

(c) Trepetition (d) iteration

Another term used for decision is: (AJK/G1-14

(a) Repetition (b) ltel
() Selection (d) Sequ
Which of the following operators is not used as decisj

(@ If 'i

(c) If-else tch
Which programming structure execu 1 in order;
(a) Nested ition

(c) Selection Sequence

(a) Binary operator Ternary operator
(c)  Unary operator Quaternary operator

In if statement, t;

(@ O 1
© 2 3
In If statenient falée’is represented by:

@ 0 b 1

(©) @ 3
for making a decision is:
(b) sequence
(d) iteration
final value of X after executing the following code:
t x=0; x<10 ; x++)
(a) W10 b 9
© 0 ) 1

(ng structure: (AJK/G1-14)

(AJK/G1-16)

(FSD-14) (LHR-14)

(LHR-14)

(GRW-14)

(SGD-14)
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SHORT QUESTIONS ANSWERS

From PTB Exercise:
1.  What is control structure? Briefly describe the basic control structures forg CAID.
(BWP-17) (SGD-14)(FSD/G1-15) (SWL-18) (FSD/G1-16 /G1-16) (SWL-19)

Ans. In programming, “control structures™ are the structures used to control the flo
classes are conditionals and loops. In C, blocks (also called compounds staté
together so they can be treated as one. They also coping mechanism. {

yram. The two main

Sequential: default mode. ...
e Selection: used for decisions, branching -- choosing between

2.  How many selections statements are available in C? Discus§ the differene:

selection structure: if statement, if else statement, and
Switch is generally faster than a long list of ifs becafise
the list, the better a switch statement is over a serie
performance benefits of switch (which are relatively sligh,
3. Write the general form of statements: l
(i)  if statement with one alternative
Ans. Conditional operator
(ii)  if statement with two alternatives
Ans. if-else-if
(iii)  if statements with multiple alter
Ans. Switch
(iv) switch statements \ %
4.  Rewrite the program give! e &4 using if statement. attempt the following parts:
(v)  Assuming x is 10.0 andi Slpwhat are the values of the following conditions;

can generate a jump table. The longer
tements. Far more important than the
rth noting) are the readability issues.

ax!=y

ture 1

b)) x<x 1
X >=y-x ue 1

True 1
j0 test each of the following relationship.

) is either equal to 6 or not greater than 3.
w==6| wi>3
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6.  Assigns the value of 1 to 10 variable test if k is in the range-m through +m inclusive. O ise , assigns
a value of zero.

Ans. If k>=-m&&m <=+m
V=1
Else
v=0

7. A yearis aleap year if it is divisible four, expect that any year divisible by 1
divisible by400. Write a program that inputs a year such as 1996,180 1
year™ if it is leap year, otherwise display : not a leao year™.

Ans. #include <stdio.h>
int main()

{
int year;
printf("Enter a year: ");
scanf("%d",&year);
if(year%4 == 1)
(
if( year%100 == 0)
{

# year is divisible by 400, hence the year is a le:
if ( year%400 =10)
printf("%d is a leap year.", yei
else
printf("%d is not a leap yj

leap year only it is
displays “Leap

N

}
else

printf("%d is a leap

if users enters 2 then displays result of subtraction of the numbers, if user
ult of the multiplication of the bers and if the users enters 4 then displays

printf("calculator:\n");
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Calculator:

Enter 1 for addition;
Enter 2 for subtraction;
Enter 3 for multiplication;
Enter 4 for divisions;

1

Enter a number;

5

Enter second number;

95

The addition is : 100

Do you want to continue ? (y/n)

printf("\nEnter 1 for addition:\n ");
printf("Enter 2 for subtraction:\n ");
printf("Enter 3 for multiplication:\n ");
printf("Enter 4 for division:\n ");
scanf("%d",&input);

printf("Enter a number:\n");
scanf("%d",&a);

printf("Enter second number:\n"); ,
scanf("%d",&b);
switch(input){

case 1 : result=a+b;

printf("The addition is : % ult);
break;
case2: result=a-b;
printf("The Subs,

case3:
s : %d\n",result);
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From Punjab Board:

1. How instructions are executed in sequence structure. (FSD-19)

Ans. Usually, C programs are sequential in nature. Generally, sequence of statements
accomplish a specific activity. So statements are executed in the order they are s|
This way of executing statements sequentially is known as Sequential control stal

2. What is condition? (AJK-19) (SGD-19)

Ans. The definition of candition is the state something or someone is in or can also
An example of condition is a brand new sofa with no defects. An exampl
environment. An example of a condition is a cold or the flu.

Ans.  The selection structure tests a condition, then executes one sr:qul:n Y
depending on whether the condition is true or false. A condition isa
Boolean value ( TRUE or FALSE )

4. Define sequential structure.  (MTN/G1-15)

Ans. InaC prugram the flow of excculmn is sequenhnl hy dcfu

dlffcrent from lhe sequential order, ... Cumml struc
5. ‘What is control structure? (BWPAT

Ans.  Inprogramming, “control structures™ are the structures
classes are conditionals and loops. In C,
group multiple statements together so they &4
OR A control structure is a block of pro,

thm analyzes \'armhlcs and chooses a dmcuon in whlch

to go based on given parameters. ..£I ¢ basic decision-making process in
flow contrel determines how a computer Wi hen given certain conditions and parameters.
6. List any four types of control structure. (GUI-17)(FSD-18)
Ans.  Flow of contrel through any given function is implemented with three basic types of control
structores:
. Sequential: default mode.
. Selection: used for decisions,b mg choosing between 2 or more alternative paths.
. Repetition: used for loapi T g a piece of cade multiple times in a row.
7. Distinguish between jf élse andiswitch statements? (SWL/G1-15) (BWP-15)

(RWP/G1-16) (AJK-17) (FSD/G1-16) (MUL-18)
fyfaster than equivalent if-else ladder. It is because compiler generates a

list of ifs because the compiler can generate a jump table, The longer the list,
ent is over a series of if statements. Far more important than the performance
are relatively slight, but worth noting) are the readability issues.

itch-case statement.  (D.G.K/G1-15) (MTN/G1-15)

In computer programming languages, a switch statement is a type of
| mechanism used to allow the value of a variable or expression to change the control flow
tion via search and map.

case val - 1:
statements — 1;
break;

case val - 2:
statements — 2;
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break;

Expression

case val - n: %
statements — n;

break;

default:

statements; } :

9.  What is compound statex ? (FSD/G1-16)(MTN-19)(RWP-19)(LHR-19)
Ans. A compound stateme yblock”) typically appears as the body of anather statement, such as
the if statement. Deélaratiofs’and Types describes the form and meaning of the declarations that can appear

at the head of a co
Simply we can gay:-

more logical cdnnectives to d@pllection of simple (or) The set of surrounded by curly
braces [ } is J

10.
Ans.

an action if a condition is true and performs a different action if the condition is false.
selection statement—selects between two different actions (or groups of actions).
1 ) atement:
Performs one of several actions, based on the value of an expression.
Multiple-selection selects among many different actions (or groups of actions).
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11, Define conditional operator? Write its syntax and example. (GRW/G1-16),
(D.G.K/G1-16) (LHR/G1-15) (RWP-14) (D.G.K-14) (L.

Ans. The conditional operator (? :) is a ternary operator (it takes three oper
operator works as follows: The first operand is implicitly converted to bool . ... If thi
to true (1), the second operand is evaluated.

General syntax of conditional operator is:
(condition) ? expl : exp2

‘raenn

CONDITION P IELAOCK 1 ¢ 130400 2

An example of condition is a brand né
environment. An example of 8conditions a cold or the flu.

ighly discouraged because it makes difficult to trace the control flow of
d to understand and hard to modify.

label 1 statement 1

go to
T

label 2

statement 2

label 3 statement 3
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14.
Ans.

15,
Ans.

16.
Ans.

Explain if statement. (RWP-14) (GRW-14)

if(boolean_expression) { |

/* statement(s) will execute if the ///;:\ ~

boolean expression is true ¥/ ("-\f\‘v'm‘j/

} If the Boolean expression B

evaluates to true, then the block of

code inside the ‘if statement will

be executed.

Write an expression in C Language for “Number is divisib
C program to find printf("%d is Number is divisible by 5
{
int no;
printf("Enter a No");
scanf("%d", &no);
if ((no % 5)==10)
printf("%d is Number is divisible by 5\n", no);
else
printf("%d is Number is not divisible by 5 \n", no);

What is Continue statement? (MUL-18)
The \i] tat t in C progr i rks so hat like the break statement. Instead of forcing
termination, it forces the next iteration of thi¢'loop to fake place, skipping any code in between. ... For the
while and do...while loops, continue stat es the program control to pass to the conditional tests.

po—
if condition
Is false
Programming
Find out er: i (D.G.K/G1-16)

(2) \Belimiter { ) are used not this sign isused [
(3) 'THen keyword is not use in C-Lang

(4) Statement terminator; is missing;

(5) Delimiter { ) are always used
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2.

6.

Write output. (D.G.K/G1-16)
intp,g,r;
p=10;

q=3;

if(p% q==3)

r=0;

else

r=1;

printf ("% d ™, r);

Output

(1]

Trace the errors in the following cades: (BWP/G1-16)
"V oid main ()

intx,y=5;

If(x>y);®

printf (“x is largest " ) ;

(BElse

printf (*“y is largest 7 ) ;

getch () ;

)

Correction:

(1) V& E are capital letters that is wrong.

(2) :isnotused after if () l

Trace the output of the following codes: (BWP/G1-16)
inta=4,b=2,c=5;

if(a>b)

a=5;

if(c==a)

a=6;

a=7;

prntf (“%d™,a);

Output

Trace the output: (FSD/G1-16)

if(1==2)
printf(*“Hello™),

9

(FSD/G1-16)

(1) en keyword is not used in C-Lang
(2) (“) is missing in printf ( ) before Pakistan
(3) if we want print Pakistan then we use %s format specifer for string
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7. Trace the error in the following code:
void main ()

SD/G1-16)
{ @
intx=0'"
if(x=21)
printf ( “ Hello ™);
else
printf (“Bye™);
)
Correction:
(1)  Statement terminator; is missing; .
(2) Expression is wrong correct is if (x==1)
8.  Predict the output for the following code: (FSD/G1-16)
inta, b, c;
a=10;
b=3;
iffassb==1)
c=0;
else
c=1;
printf (“%d” c); ,
Output
[o]
9.  Trace errorsin the following code: (GRW/G1-16)
void main (void);"

{

int x = 10;

if (x> 5 &&™ < 15)

printf (¥ is valid”),

else

printf (“invalid™

}
Correction:

)

Y

10.
(KSMR/G1-16)

(1) ;isnot used after if ().
(2) Ifkeyword is missing after else.
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11,

12.

13.

14.

15.

16.

Output

[Even |
Predict the output of the following code: LHR/G1-16)
if (4%2==0)
printf ( * programming makes the life interesting \n”);
else
printf ( “ Programming is difficult to learn™);
Output
programming makes the life interesting
Trace the errors: (LHR/G1-16)
intp=20,%
if ( priceV ==20)
price =0,
else
price =2,
Correction:
(1)  Price is undefined symbol

Write down output of the following code;
void main (void)
{
intx=10;
(x % 2 ==0) printR “Even”) primtf( “ odd ) ;
t (

(2) Statement terminator; is missing and c is wfg used here
(3) Statement terminator; is missing and is wrong used here
Trace error: (MTN/G1-16)
void main ()
{
inta=2;
if(a==1)
printf (“OK™);
else
printf (“Cancel”)
getch ()®
)
Correction:
1 & @ tem rmi r; is missing;

Trace output;

(MTN/G1-16)

[Huge triangTeld]

N gthe or in the following code? (RWP/G1-16)
10,y =20;

b &Y y<30)

printf (Y%d", x + y);

Correction:

(1) Condition is wrong AND operates is denote with && correct condition is if (x > 10 && y < 30)
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17.

19.

Trace the error from the following code:
MVoid main ()

(

GD/G1-16)
inta=2; %
if (a=1);@
printf (“ok™);
(Else
printf (“No™);
1

Correction
(1) Here V is used in capital letter C is a case sensitive language, so
(2) ;isnotused here
(3) Wrong keyword correct is else mean use in small letters
Predict the output for the following code: (SGD/G1-16)
inta=1;
intb=6;
if(a+b<?)

printf (“ % d”, a);

mall letter

else
printf (“ % d”, b);

Output
o= 4

Trace the errors in the following cade. (SWL/G1-15)
#include < stdio.h >

void main ( );"

{

If (16 < 18)® then

printf ( “% ¢ ™, OK®);

getch ();

)

Correction:

(1) :isnotused a
(2) Then keywprd 1

(SWL/G1-15)
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21.

Trace the output. (RWP/G1-15)
void main ()

{

intp,q.r;

p=10;

9=3;

if (p% g==3)

T=0;

else O

=1
printf (“% d ™, r);
getch (); )

Output

(]

Trace the error, (RWP/G1-
void main ( );

{

int R,

=25

if (>0)

printf(*Good™)*

getch ();} ,
Correction:

(1) ;is not use after main ()

(2) Risdeclare in capital letters.

(3) ;is missing after printf()

Trace the output. (RWP/G1-15)
float f=3.14159;

printf (“f=%5. 1£°,0),

Output:

f=on3.1

Determine the out;@ (AJK/G1-14)
if(l==2)

printf (“Hello™);
elseif 2==1)
printf (“world%

both if conditions are false.
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26.

27,

29,

30.

Trace the error of the following code. K/G1-15)
# include < CONIO-H™" >
void main () :* {

intr=25;

If (R¥ > )

R=R *3.141593®

getch(); }

Correction:

(1)  Wrong header file is written correct is <conio.h> use in small letters,
(2) ;isnotuse after main () this is against the structure of C-Program
(3) :is missing here and R is used in capital letter.

(4) intr Variable declare in small letter , but use R.

Find the output of following code. (D.G.K/G1-15)
int marks = 50 ;

if (marks > = 33)
printf (“Pass™) ;
else

printf (“ Fail™); O
Output

Trace the errors. (D.G.K/G1-15)

# include!" stdio h>

void main (void) l
{

intx=4;

inty=3;

if(x>< @y)

printf (“ x is greater ™);

)

Correction:

(1) Less than “<” is missin;
(2) Run time error or co
Trace the errors in the follo

(LHR/G1-15)
int word = 10;
if (word ! = 10)
word =0 @

ing -+ logical error exist in condition

following code:
(LHR/G1-15)

printf (§Pakistan™);
Output

Pakistan
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31.  Trace output of the following program. (BWP-15)
inta=4,b=2,c=5;
if(a>b)
a=5;
if(c==a)
a=6;
else a=7;
printf (“%d ™, a);

Output :
32, Find the errors in the given code: (BWP-15)
void main () O

{inta=2"

Sif (a=1)

If primf ( “OK ™) ;

'Z'Else

CIPrintf(“ Cancel ” ) ;

gewch():})
Correction:
(1) ;is missing after the Statement
(2)  Use upper letter correct is else and prin
(3) Condition is wrong, correct is if(a =

33. Trace the errors of following code.(RV
# include (stdio.h)®
l{nain *D( ).
Correction:
(1) <> signis not used in header
(2)  *is not used after mai
(3) :isnot used after main
34, Trace the output: (FSD/G1-15)
if(1==2)
printf(“Hello®

else

35.

%cH”, WPakistan”);

then keyword is not used in C-Language
(2) (“)ismissing
(3) if we print Pakistan, we use %s for string
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36.

37.

38.

Correction:

39.

40.

41.

Find output of following code (RWP-14)
int price = 10;

if (price ! = 10)

price =0;

else

price +=2;

printf (“%™" , price);

Output:

Write the purpose of “%c “format specifier.
The format specifier is used during input and output. It is a way to tell the compiler
variable during taking input using scanf() or printing using pnnﬂ'() %c

characters. It is used in printf function to print the character storedgin
variable can be retrieved and printed using %c format specifig
strings

Trace the Error.
intp,q,1;

(hp = 50000,10%
printf{ “% d ™, p);

(SWL-19)
vhat type of datais ina
grenat specifjer is used to represent
[e’The value stored in char
That spec1ﬁer is wsed to represent

(D.G.K-14)

(1) Pdeclare is in Capital letter C is a case sensitive lal
(2) ;is missing at the end of statement

(3) if we want to print Pakistan, we use %s, su'ingl
Trace the out put.

intx=1;

(D.G.K-14)

lf((x__y)ll(y =z)11(z==2))
printf(“yes”);
else

printf ( “no”);
Output

What is the output o
(FSD-14)
intx=1;

inty=z=3;
iflx==y)|
printf(“Yes'y
else

b=SQRT (a);
printf(“Result = %{" b);
getch (); ]
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42.

43.

else

4.

45.

(SWL-14)
Intx=1;
Inty=2z=3;

Ifi(x==y) 1l (y==2)11(z==2))
printf(*yes”);
else
printf (“No™);
Output

Trace the output. (SGD-14)
void main () (

intp,q,r: :
p=10;q=3; r=-2;
if((ptqy < 14 && (r<q-3))
printf (“%d” , ) 5
D-14)

Correction:

(1) ;is not using after main ()

(2) :isnot using after end of the statement

(3) Wrong format specifier %f is used because data type is int here correct is %d.
What is the output of the following code? !

printf (“%d", p);
getch(); )
Output

Trace the error
void main ()
{
int a, b
a=-10%
b=40®
if(a<0) %

b=sqrta) ;

(SGD-14)

Output
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46.

47.

48.

49.

50.

Trace the output.
void main ()

{

(BWP-14)

int marks ;
printf (*“ \ n enter your marks ) ;
scanf( “ % d”, & marks);
if ( marks > = 40)
PRINTF ( *“ \n Congratulation™ ) ;
)
Output

enter your marks 40

Ci lation:
Trace the error in the following code. (BWP-14)
inta:™b;
a=10,b=5@
if{a<b)
printf (*“\n A is less than b™ ) ;
Correction:
(1) :isnotused here ,is used here

(2) ;is missing l

Find errors in the following code; (AJK-17)
void main ()

{

intx=10;

if (x=10);

printf (“ int x is valid”);

else printf (“invalid™);

Correction:

(1) ;isnot use after if

Predict the output of followi iece of code; (AJK-17)

if(7/2==1)

printf (* programmi the life'boring™);
Qutput
[ Nothing ut com&output because condition is false |

What is the f the following code?
(AJK/G1-15)
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51. Trace out the errors from the following.

MV oid main ()

{

inta=29@
ifta=1)

printf (“ cancel ) ;
(MElse

printf (“ ok ™) ;
getch ();

)

Correction:

(1) V and E use small letter because C is a case sensitive.

(2) ;ismissing

52, Trace error in the following code; (AJK/G1-16)

void main (void)
{

intx=10"
if(x!=10);®
X++;

else ¥(x == 10)
X--;

]
Correction:

(1) ;isnotuse here

(3) ;is not used after if conditi
53. Write down output of the followil
void main (void)
{
int x=10;
(x % 2==0) ? printf (*]

4.

55.

Correction:
(1) & (2) statement ; is missing

(2) If condition or keyword of if is missing@

“odd);

ing: (LHR-14)

(GRW-14)

O

O

(AJK/G1-16)
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56. Trace the output. (GRW-14)
if(1==2)
printf (“hellow™):

57. Find errors: (D.G.K-17)
# include (stdio. N )"
# include <conio.c®?*>
void main ()

{

if (16<10) then &

Printf (“%C”, “Pakistan™);

getch ();

)

Correction:

(1) <>signis used here

(2) The extension of header file is .h, here,

(3) Then keyword is not use in C-Lan,
58. Find output of the following code: (G

inta=1,b=6;

iffa+b<?);

printf (“%d” b);

else %
printf (“hello™):

else

printf (“correct it™);

Output

O

59.
iF(T=1100
printf (“hello™)®
Correction:

60.

missing in printf ()
3 S terminator ;
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61,

62.

63.

64.

65.

Find the output of the following code.(LHR-17)
# include <stdio. h)
void main ()

{
char grade = *c”;
if(grade=="‘a’ 11 grade == ‘b’ && grade=="c")
printf (“Fail™);
else
printf (“Pass™)
)
Output
Show Errors; (MTN-17)
inp=10;
if (p! =10)
p=0av
else
@pr=5;
Output
(1)  Statement terminator; missing
(2)  pt undefined symbol
Find errors; (MTN-17)
1V oid main ()
{
inta:* b;

a=10,b=5®
if(a=<h)
MPrintf (‘A is less then B”);
getch ();
}
Correction:

(1) VandPisup cauée C is a case sensitive language

N

(RWP-17)

z;(not ; is used between y and z ) if we use ; then we declare (int y ; int z) like this.
(RWP-17)

Output
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66.

67.

68.

69.

Write down output of the following code. (SWL-17)
void main ()

{int x=10;

if (x 1= 10)

printf (“Hello™),

)

Output :

Trace the errors from following code segments. (SWL-17)
void main ()

{

intx=10"

inty=15% O
if(x=y)
printf (“x is equal™)®
)
Correction: ,
(1) ;is missing
(2)  is missing
(3) ;ismissing
Determine the output of the follafing code; (SGD-17)
inta, b;
b=20;a=10;

if (b<=a)

printf (*No™);
else
printf (“Yes™);

ing code segment:
(SGD-17)

)
(2) xis undefined symbol

; Is missing
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70, Determine the output: (FSD-18)

int x = 50;
inty =25;
if(x%y==0)
printf (“Result =% d” x % y);
else
printf (“No result™);
Output
71. Find errors; (FSD-18)
void main (void)
{
intx = 10;
if (x = 10)
printf (“True”);
end ifth ,
}
Correction:
(1) This is no syntax of C-Language

72.  Show output J-18)
intn=1,m=2;
if (n==m)
printf (“% d” ,n});
else
{
if(n==m-1)
printf (“% d % d”,
)
Output
73. Trace in g code: (GUJ-18)
n3\7:
&&2 10)
intfl(n i€¥alid®)

‘ondition is wrong

™) is missing in printf ()

(3) small “E" is used in else keyword

(4) Statement terminates ; is used not (:) is used
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4.

75.

76.

1.

78.

Trace the errors in the following code: (LHR-18)
if (7! = 10
printf (“Hello™) "

else @
print A(®'Welcome);

Correction:

(1) ;is missing

(2) print function is not use in C-Language. Correction function name,

3) (* ”)ismissing in printf ()

(4) Closing ) is not used after if.

Find out two errors from following code:

(RWP-18)
if (x!V ==y

printf (“Phello™) @ O
Correction:
(1)  xandy are not declare
(2) (* ™) ismissing in printf()

(3) ;is missing l

Find output from following code: (RWP

int price = 10;

if (price = = 10)
[ printf (“%d” ,price);

)
Output
Determine the output, (SWiL-18)

intx=1,y=2,2=3
f((x==y)(y== 2))
printf (“Yes”)

else

printf (“Ng”

or is occurred
(SWL-18)

) e or is *“|| " Operator is always used in C.

(2) ;ismissing
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79. Write the error from the following code(SGD-18)
#include<>
void main ()

{ floatY=3.14® C ,
if (Y =314
printf (“%d” ,Y)®
)
Correction:
(1) header file is not included / mentioned O

(2) ;ismissing
(3) Closing ) is missing
80. Write the output of the following code(SGD-18)
intp=3,q=5;
if(p>q)
printf (“%d” ,p);
else
printf (“%d” ,q);
Output

5]

Define nested if statement. Explain with t gram and example. (SWL-19)

2. Briefly explain the basic contral structure for rograms. (FSD-19)

3. Write down the syntax of * if e / switch ™ statement, diagram and example. (SWL/G1-15)
(BWP-15) (KS il-16) (LHR-18) (MTN/G1-16) (BWP-14) (RWP/G1-16) (AJK-17)

(FSD/G1-16) (MUL 17) (LHR-19) (GRW-19) (AJK-19) (MTN-19) (D.G.K - 19)

4. Write a program which i d tells whether these numbers are equal or not equal.
(SGD-14)
5 1§ er enters a number and program tells that number is either positive,
negative or zero. (SGD-17) (RWP-19)
6. Write a program { ber of week days and displays the name of the day using Switch
Statement. For ex: ehters I, it displays “Friday” and so on (GRW-14)
A ‘Write a prograg o { ng Language that accept three numbers from the Keyboard and display
\ )
8. year and finds whether it is a leap year or no using if-else structure (Hint :
] (FSD/G1-15) (MTN/G1-16) (LHR/G1-18) (FSD/G1-16) (BWP/G1-16)
9. marks from user and display “pass; If marks are greater or equal to 40 otherwise
WP-14)
10. puts a number and find whether it is even or odd, using if-else structure.
(LHR-14) (D.G.K-14) (AJK/G1-14) (D.G.K/G1-15) (ATK/G1-16) (RWP/G1-15)
(SWL/G1-15) (KSMR/G1-16) (SGD-17
11. at inputs two numbers and finds whether second number is square of first number or not.
(GRW/GI1-16)
12. 0, in C that inputs the number of the month of the year and display the number of days of the
“ponding month using if — else —statement. (e.g. if user enters 2, it will display 28 or 29).  (FSD/GI-16)
13 ine Selection Structure. Describe selection structure. How does a selection structure select a statement

3x 3K X 3
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From PTB Exercise:

12

MULTIPLE CHOICE QU

No MCQs in this Chapter by P

From Punjab Board:
1. In a ‘for’ statement, this expression is nly once. (SGD-14)(SWL-19)
(a) test ization
(¢) wvalidation t / decrement
2. Which is post test loop? (GRW-19)
() do-while
(c) for-next (d) for
3. What is the value of x after exec code: for (x=1;x< 10;x ++)
@ 9 10
(c) bothad&b 12
4, Semicolon is placed (D.G.K -19) (LHR-19)
(a) for loop
while loop
5. or group of to repeat (D.G.K - 19)
Sequential
Logical
6. (MTN-18)(MTN-18)(BWP-15)(LHR-14)
Complex loop
Dual loop
1. loop it is important to declare and counter variable. (RWP-18)
(b) Initialize
(d) Specify
8. Sillrat are the part of language are called: (MTN/G1-15)
(b)  Built in function
(d) All these
9. Which is unconditional control transfer statement? (GRW/G1-15)
(a) FOR (b) GOTO

(© IF (d) WHILE
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10.

1L

12,

13.

14.

15,

16.

17

18.

19.

20.

2L

How many types of loop structure are available in C language?

(@ 4 (b) 3

© 2 @ 6

This means to increase a value by one:

(a) Modulus (b) Increment
(c) Decrement (d) None
How many types of loop structure are available in C.
(@ 4 b 2

(© 3 @ 6

Which loop structure always executes at least once,
(D.G.K/G1-15) (SGD-18

(a) While (b) do-while

(c) For (d) None

One execution of a loop is known as a (n). (SWL/G1-15) (|

(a) Cycle (b) Duration

(¢) Tteration (d) Test

Which of the following Loop is called Counter Loop: (BWP-15)(SWL-14)
() While (b) do Whilé

() for() i

What is the final value of X after executing the fol 2 (MTN/G1-15)
For(intx=0;x<5;x++)

@ 0

@ s (

The loop which never ends is called. SGD-18) (BWP-15) (AJK-19) (MTN-19) (SWL-14)

(a) Infinite loop
(c) Continuous loop
A loop with in another loop is called:
(a) Outer loop
(c) Camplex loop
Which statement is used to mov

P
( (RWP-14)
(b)
(d) Nested loop
trol on the start of loop body?
(GRW-M)(AJK/G1-15)(AJK/G1-15)
Continue

(a) Break b)

(c) Switch () d)  Getch()
In which loop the copfifition gome: r the body of the loop? (AJK/G1-16) (MTN-19)
(@) For() (b) While()
(¢) Do-while ( (d) Nested for( )
(D.G.K-14)
(b) if()...else
(d) for()
cture always ends with:
(D.G.K-14)
(b) Semi colon
(d) Brace
(FSD-14) (LHR-14) (SGD-19) (FSD-19)
(b) Do-— while loop
Fonlo (d) All these
atement causes a loop to terminate early: (LHR-14) (RWP-19) (SWL-19)
Exit (b) Terminate
Break (d) All of these
Which is an example of multiple branches from single expression? (SWL-14)
(a) If statement (b)  Switch statement

() While loop (d) For-loop
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SECTION I

SHORT QUESTIONS ANSWERS

From PTB Exercise:
1.  Define a loop. How many loops are available in C? Compare the following
Ans. eated until a certain

id changing it, and

a value to an .llrcudy existing variable.
a) while loop and do- while loop

Only difference between these two loops is that, in while ps, test expression is checked at first but,
in do...while loop code is executed at first then the condition 1
once in do...while loops.

b)while loop and for loop

In most computer programming languages, a while To) flow statement that allows code to be

executed repeatedly based on a given Boolean condition*The while loop can be thought of as a repeating if
statement.
2,  What sentinel controlled loop and how it iglim plem@d" Discuss some of the situations where it can
be useful. f (LHR-19)(AJK-19)
Ans. Sentinel-controlled repetition is sometir ed i ihite repetition bea:f:use it is not known in advance

how many times the loop will be execute

a sentinel value (also called a signal value, a

Sometimes, loop control may nee

sentinel-controlled repetition. Sei
3. Write the output of the following pi
Ans. k=0,

while (k<=5)

{

printf (“%3d/n” k,1

kt+;

)

Output:

f the following price of code.

Outpul: This programmes generate syntax errors because in loop we do not initialize with any value and
secondly j is undefined symbol mean no declare its data type. In this programe expression syntax error is
occurred because for() loop is not properly complete.
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4. Write a program that inputs a numbers and displays the message “Prime number”ifgi
number, otherwise display “Not a prime number”.
Ans.  #include <stdio.h>

is a prime

#include <conio.h>
void Output
main(void) Enter a number ? 7
{ Prime number
intn,d,p=1;
clrser();
printf(“Enter a number 77);
scanf(“%d”, &n)
d=2;
while(d<=n/2)
{
if(n%d ==0)
p=0;
d++;
]
if(p==0)
printf(*Not prime number™);
else
prime(“Prime number™);
)

5. Write a program that displays the first 1§ ¢ven Ahmbers.
Ans.  #include <stdio.h> Output of the
#include <conio.h> program

void main(void) 14

12

intn; 10
clrser(); 8

for(n =15, n>=1:n--) | 6

{

if(n%2 ==0)
printf(*“%d\n”, n);,
} )

umber , and display its table according to the following format:
, even the output will be as follows :

Output of the program

Enter a number ? 8

8X1 =8

8 X2 =16

8 X3 =24

8 X4 =32

tf(“Enter a number ? ™), 8 X5 =40

scanfl“%d”, &num), 8 X6 =48
c=1; 8 X7 =56
while(c<=10) 8 X8 =64

8 X9 =72

8 X10=280

printf(“%d X %d = %d\n”,num, c, num*c);
c=c+1; } }
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7. Write a program using do-while loop that repeatedly prompts for and takes input until a n the range
0 through 15 inclusive is input. The program should add all the values before exiting th and display
there sum at the end.

Ans. Output of the Program

1)
Ans,

2)
Ans.

3)
Ans.

4)
Ans.

c=1; 15
s=0;
while(c<=5)

{
printf(*%d\n”, c);
s=s+c¢;
ot )
print(“sum of five numbers = %d\n”, s);
(MTN/G1-15)(RWP-14)

#include <stdio.h> 1
#include <conio.h> 2
main() 3
{ 4
intc, s; 5
clrser(); Sum of five number = O
)
From Punjab Board:
Write down the syntax of do-while-laop.
Syntax of ‘do-while’ loop with example.
The general syntax of do-while is as follows:

do l
(

group of statement;

++or--

Jwhile (condition);

To display numbers from 1 to 5, a
intc=1;
do

t of statemen g do-while loop is written as;

(

printf{“%d”, c);
e+

} while(c<=5) ;

While does a prog e a while loop versus a for loop? (KSMR/G1-16)

The for loop is ofte: ually know how many times you would like the program, which means
it will run that p ber of times is complete before it terminates itself. the while loop works
in a similar ma tonditional statement. benefit of the while loop is when you are unsure how

(SWL/G1-15)(AJK/G1-14)(SGD-14)
other loop is called nested loop. The loop that contains another loop in its body
is calle; A op used the body of cuter body of outer loop is called inner loop.

(BWP-14)

conditional loop structure. It is used to execute a statement or a set of statement as long
n remains true. This loop structure is used is used when the programmer does not known
ber of repetition of loop.

of “while” is as follows:

Example:- To display numbers from to 15, a set of statement using while loop is written as;
intc=1
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while(c<5)
{

printf(“%d\n”, ¢);

c+

]
5)  Write two uses or advantages of loop. (AJK-17)
Ans.

1. The advantages of loops are

II. Redundancy of code is less.

III. Used to reduce the cade.

IV. Effectively solves all the difficult codes using loops very casily, esp&gi

V. Generally we use loops in the case of repetitive occurance of s
6)  Make a flowchart of while loop.
Ans. Flowchart of ‘while” Loop:

The flowchart of ‘while’ loop structure is shown in figure belo

@ programs.

SWL-14) (LHR-14) (FSD-14)

Working of “while’
When a ‘while’ loopsia geuted, the condition is evaluated first. If the condition is true, then body
& e body of loop, the execution control goes back to the ‘while” statement
and evaluates thét it If the given condition is still true, the body of loap is executed again. This

ven condition becomes false at any stage during execution, the loop is terminated.

geontrol shifts 1o the that comes i liately after the body of loop.
The bad, ain a statement used to control the repetition of loop. Usually, a statement is given
inthe b ifige the value of control variable so that the condition becomes false, the loop never
7 (MTN/G1-15)
Ans.

In most co

of

mputef programming languages, a do while loop is a control flow statement that executes a block

group of statement;
++ or --;
Jwhile (condition);
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To display numbers from 1 to 5, a set of statement using do-whil

intc=1;

[
) while(c<=5);

Write the syntax of while loop.
The general syntax of “while” is as follo

do{
conditional code ;
Y while (condition)

code block

If condition
Is true

condition

If condition
Is false

Titlen as;

printf(“%d\r”, c);

(FSD/G1-16) (FSD/G1-15) (FSD/G1-16)

<

Example:- To display numbers from a set of statement using while loap is written as;
{

intc=1;

while(c<=15)

{

c+HH

) %

oto statement (FSD/G1-16) (FSD/G1-15)

t in c L

8)
Ans.
while (condition)
{
group of statements;
+or -
]
printf{(“%d\n", c);
9) Wha
Ans. goto is a j

which transfer the program's control from one statement to

another slntemen?(where label is defined). goto can transfer the program's within the same block and there must
a label, where you want to transfer program's control,
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10) What is a counter-controlled loop? (AJK/G1-16)(ATK/G1-15)(KSM 6)(FSD-19)

Ans. Counter-controlled repetition requires a control variable (or loop counter) the j
control variable. The increment (or decrement) by which the control variable is modifie
the loop (also known as each iteration of the loop)

Declare
Caounter

Incremant
Counter

Execute
Statsrmené ]

11) What is for loop and syntax of “for loop™.

(BWP-15)(MTN/G1-15)(D.G.K/G1- (ATK/G1-14)(LHR/G1-15)(GRW-19)
Ans. Syntax of For Loop l
for (initialization; condition; increment/decrément)

{ group of statements;

)

To display numbers from 1t0 5, statement using for loop is written as;

for(c=1; c<=5; c++)

printf(“%d\n”, c);

(BWP-15) (GRW/G1-15)

Ans. Loops are control structures used to repeat a given section of code a certain number of times or until a
particular condition is met. There are three loops in C programming: for loop while loop and do-while loop.
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13) Differentiate between while loop and do while loop, HR/G1-15)
Ans.

The ‘while’ Loop Structure The ‘do-while' Loap Stri
1. Test condition comes before the body of loop.

. Test condition comes after the bot

[

At the beginning of loop, condition is evaluated | 2.
and then body of loop is executed if condition is
true.

3. Semicolon (;) is not given after the while | 3.
(condition).

il (']
whief coneition |
body;

14) What is iteration? nl
Ans. With respect to computing, iferation is thefprocess df/going through a set of operations that deal with
computer code. For example, in a compulér m, one form of iferation is a loop. A loop repeats code

15) What is loop? (ATK/GI-
Ans. In computer programming, a loop is a seque
condition is reached. Typically, a in process is

one, such as getting an item of data and changing it, and
yhether a counter has reached a prescribed number.

16) What are the differences of for () I N meared to while () loop. (D.G.K/G1-15)

[0) a WHILE Loop

S C the certain block of code repeatedly until some conditions are
Definition

When you have an idea about the range of
values on which to iterate but are unsure of
the exact number

When you know the number aof

Used for ations beforehand

Will loop until the number of
mentioned iterations are
completed

Will loop until the condition presented is
completed

nee between a for loop and a while loop is readability. If you have an initialization phase, a
condition, and an increment condition, a for loop is better although a range-for may
Bk, optimization. ... So in principle the while is both more efficient and more powerful than the for.

in general a while loop is used if you want an action to repeat itself until a certain condition is met i.e.
if statement. An for loop is used when you want to iterate through an object. i.e. iterate through an array.
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17) Write the purpose of continuous statement. (GRW-19)

Ans. Continue statement is mostly used inside loops. Whenever it is encountered inside a |
jumps to the beginning of the loop for next iteration, skipping the execution of statemen
for the current iteration.

18) Define do-while Loop. (SGD-19)

Ans. The do while loop checks the condition at the end of the loop. This mea
the loop body will be executed at least once even if the condition is never true.
contralled loop, where even if the test condition is false, the loop body will b

nts inside
e loop is an exit
t least once.

for| inltializatien; condition; incrementation |

19) Write three repetition statements. (AJK/

Ans. A repetition statement (also called a lo ment or a loop) allows you to specify that a program
should repeat an action while some con
while loop. for loop and do while loop,

20) What is nested loop? (RWP-19)

Ans. The placing of one loop inside thé&}
outer loap takes control of the numbi

gamplete repetitions of the inner loop. While all types of loopsmay
s'dre for loops.

ftm2 = 0; num2¢:9; num2#+)

" for{unt=0: nant9; mmt+)

couteerum? ¢« "e¢rumlecend!;

ometimes called an endless loop) is a piece of coding that lacks a functional exit so that
itely. ... Usually, an infinite loop results from a prog ing error - for le, where

is counter control loop? (SWL-19
mt-controlled repetition will exit after running a certain number of times. Thecount is kept in a
e called an index or counter. When the index reaches a certain value (the loop baund) the loop will

Ans.

Example: A while loop is an exampleof counter controlled loop.
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Programming
Write output.

A -16)
intx=5,y=3;
do
{
x=x%*2;
y=y+2;
)
while (y<7);
printf ("% d"”,x);
Output
Convert following loop code inte while loop code. (D.G.K/G1-16)
for (i=10;i>0;i--)
{
printf ("i=%d",i);
}
Correction:
i=10;

while (i > =0) I

{

printf (4 = %d”, i);

i-; )

Trace the errors of the following code: (BWP/G1-16)
MV pid main ()

{

intx,y=5;
for(x=0;x<3;x++),%
if(y>=5)™
printf (“%d”,x);
}
Correction:
(¢)]
(2) and (3) syn ‘ause ; is not used after both statements.

e loop in for loop. (BWP/G1-16)

For-loop
{intc;
for(c=2;c<=5;¢c+

{printf(“%c”c); -
3 printf (“%c™, c);
Jwhile (c< = 5); |
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5.

Predict the output from the following code:
intn;
clrser () ;

SD/G1-16)
for (n=5;n>=1;n--) %
printf (“%d\n",n); !
getch ()

Output

Convert following code into while loop? (GRW/G1-16)
void main (void)

{

inti,

for (i=1;i<=10;i++)

printf (“loop™);

]

Convert: ,
inti;

i=1;

while (i <= 10)

{

printf (“loop™);
i++; )
Write down output of the f
void main (veid)
{

int i;
for(i=Li<=2;
printf (“% d", i

— W W

e: (GRWI/G1-16)

e following piece of code: (LHR/G1-16)
inti='l;
while (i< =

i+

Output
[ PakistanPakistanPakistanPakistanPakistan
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9.

10.

11,

12.

Convert the following loop in do-while loop:
for(i=3;i<=39;i+=6)

HR/G1-16)
{ %
printf (“%d \n",1);
)
Convert:
i=3;
do
{ O
printf ( *“%d \n", i);

i+=6;
while (i <= 39);

)
Trace output:- (MTN/G1-16)

inti,j=10;

for(i=1;i<=51++)

{

printf (“\n Pakistan™);

]
Output :
Pakistan
Pakistan ,
Pakistan
Pakistan
Pakistan
Convert the following code into while loop:

(MTN/G1-16)

for (inti=1;i<=10;i++)

Printf (“\n Pakistan™);
}
Convert:
inti=1;
while (i<=10)

{
printf (“\n Pakistap™);
n++;

(RWP/G1-16)
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13, Predict the output from the following code: GD/G1-16)
intm;
n=1;

elrser () ;

while (n <= 10)

{

printf (* % d \n", n);

nt++;

| O

Output
14. Trace the output. (RWPI;
void main () ,

(
inta:
for (a=1; a<=100; a=a+3)
printf(*“%d\n",a),
getch ();}
Output
1
4
7

=l IR - N B S U e

(=]

Continue infinite
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16.

17.

18,

19,

20.

21.

Determine the output of the following code: JK/G1-14)
for (imi=2;i<=10;i=i+2)
printf (“ % d\n”,i);

Output
2
4
6
8
: O

What is the output of the following code?

void main (void)

{intn=1;

while (n < =5)

{ printf(“Islam Zindabad™)

n=n+l;

getch (); )

Qutput

I Islam ZindabadIslama ZindabadIslam ZindabadIslam
Trace the output, (GRY
inta=1;

while (a< =6)

{ printf (*\na=%d", a);

at=1. )

Output l
at is output of the following co. -14)

\{r id main (void)

intn=1;

{

miunnn
B W

iz
& B PR D

printf (“Pakistan™);
n=n+l

]
%eu:h (OH

Output

ifth alaclol x after executing the following code: (BWP-14)

(AJK-17)
Output

D~ L) e
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22. Covert the following while loop to for-loop. (AJK-17)
intc=o0;
while (c<=35)
{
printf (“\n%d”,c);
c++;
]
Covert:
{
intc;
for(c=0;c<=5;c++)
{
printf (“\n% d”, c);

)

Write a program in C-Language to print the sum of follo
1 3 6 9 12 15
2) Write a program that displays counting fi
3) Werite a program that inputs a number f]

(D.G.K-19)

ing for Loop. (GRW-19)
isplays the factorial of that number.

(LHR-19) (SGD-19)
er and displays the table of that number using for
(MTN-19)(FSD-19)

4) Write a program in C that input a number fro
loop.

5) Define while loop and differentiatgWhile and do-while loop in detail. (RWP-19)

6) ‘What is Do-While loop? Discuss flofycliatbsyntax and example of Do-While loop in detail.  (RWP-19)

7 Write a program that prinyoathn r&.from 11 to 49 using loop. (SWL-19%)

8) Write a program in Cthat'disp the’following series using while loop. (AJK-19)
135791 g

9) What are loops? erent loops provide by C. (LHR/G1-15)

10) What is sentinel ¢ d how it implemented? Discuss some of the sitnations where it can

be useful?
11) Define “whi

(SWL/G1-15)

syntax, Draw flow chart and explain its working with the help of

(SWL-14) (SGD/G1-16) (RWP/G1-16) (RWP/G1-15) (D.G.K-14)
(BWP-15 (GRW-14) (LHR-14)(D.G.K/G1-15) (MTN/G1-16)

12) lain with example in C-language, Also describe a situation where nested
log) (MTN/G1-15) (BWP-14) (AJK/G1-16) (AJK/G1-14) (FSD/G1-15)
MR/G1-16)(LHR/G1-16) (GRW/G1-16) (FSD/G1-16) (FSD/G1-15)(FSD/G1-16)
(AJK/G1-15) (FSD-14) (RWP/G1-16)
13) ? Give its syntax and flow chart. Also explain its working using an example \ give

rogtammer decide to use a while loop versus a for loop? (D.G.K/G1-16) (RWP-14)
(AJK/G1-16). (FSD/G1-16) (BWP/G1-16) (SGD-14) (AJK-17)

% % 2 2
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1.

(a) source files (b)
(c) object files (d)
2. Global variables are created in:
(a) RAM
(c) Hard Disk
3. Which of the following is true about

(a) stops the execution of the progr:
(b) transfers cantrol to the called functi
(c) transfers control to the maif
(d) resumes the execution of thn

4. Which of the following looks for i tatypes of functions used in a programe?

(a) linker
() compiler

loader
parser

(b) Library function
(d) Logical function
2. Multiple ai ns are separated by:

(a) (b) semicolons
() (d) commas
3. tion declaration. (GRW-19)
(a) (b) formal parameters
(c dn (d) call parameters
4. frat activates a function is know as
design (b) Function definition
declaration (d) Function
5. ding an arg; to a function is called:
(b) Filtering
(d) Passing
6. icope of variable refers to its:

(a) Selected (b) setselected
(¢) Index (d) Setindex

G1°15) (SWL/G1-15) (MTN-19) (RWP-19)

(AJK-19)

(SWL-19)

(D.G.K-19)

(FSD-19) (SGD-19)

(SGD-14)
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7. The scope of variable refers to its: (LHR-19)
(a) Length (b) Name
(e)  Accessibility (d) Datatype
8. Function prototype for built-in functions are variable denotes: @5)
(a) Source file (b) Header file
(c) Object file (d) Image file
9. A built-in function. (RWP-18)
(a) cannot be redefined (b) can be redefined
(c) cannot return value (d) should be redefined
10. Laocal variables are also called; (AJK-17)(SWL-14)
(a)  Static variable (b) Automatic variable
(c) Register variable (d) Run time varial
11. Memory is allocated to a local variable at the time of its: (FSD-14)/ (LHR-14)
(a) Declaration (b) Destruction
(c) Definition (d) First reference

SHORT QUESTIONSANSIWERS
From PTB Exercise: l

1.  What is function? How many types of fy
Ans. A function is a group of statements thard
about a function's name, return type, an i
the function. The C standard library provides ni
are two type of functions user defige

? Discuss briefly. (LHR-14) (SWL-14) (FSD-14) (SGD-14)
) (GRW/G1-16) (GRW-19) (D.GK - 19)

3. How is function call is made C'px
(BWP-15) (BWP-14) (RWP-14)
Ans. T
id’ parameters. A function definition provides the actual body of
vides numerous built-in funetions that your program can call.

raw=Vertical ();
void main()

\(

clrser()

Draw_Horizantal();

Draw_Ventical();
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Ans.

Ans.

Draw_Horizantal();
getch();
}

void Draw_Horizamal() E J
(
for(int i=1; i<=25;i++)
prind(“*7);
} O

void Draw_Vertical()
{

for(int j=1; j<=5;i++)
printf(**\(t\*\n");
}

}
Write a program that prompts the user to enter a g u@ nd thén reverse it .Write a function Reverse
to reverse the number .For example il user enters 2765 @ tion should reverse the number it so
that b 5672.The function should accept the numberas an input parameter and return the
reversed number
int reverse(int n); l
void main()
{.
intx,y;
clrser();
printf(“ENTER AN INTEGER”);
scanf{“%d”, &x),
y=reverse(x);
printf(“Actual No Is=%d\n’,
printf(“Reverse No is =%d™}

getch();
}

int reverse (int n

int is_Prime(int n);
void main({void)
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7.

Ans.

{
int num,ans;
clrser(0;

printf(“ENTER A NUMBER™);

scanf{“%d”,&num); %
ans=is_Prime(num);

printf(“YOUR GIVEN NO IS %d",ans);

getch();

J O

[
Int pj;

p=h

for(j=2:;j<nj++)
if(n%j==0)

{

p=0; O
break;

}

If(p=1)

return 1;

else

return 0;

}

OUTPUT

ENTER ANUMBER 17

YOUR GIVENNOIS 1
Write a program that prompts the nger ter the numbers and call a function Fraction to compute
its fractional .Write the ra that has one 1 input parameters and returns the fraction
of a number pass to it.
long factorial(int ):
void main()
{
Int n;
long fact;
clrser();
printf(“P,

\

e a Nogor Factorial™);

printf(“Fact
etch();

[Tahgfactorial(int ) |
int i;

long f;
f=1;
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for(i=1;i<=n;i++)
f=r*i;

return f;

)

QUTPUT

Please enter a No for Factorial 5
Factorial of your number=120

8.  Write a function GCD that ha s two input parameters and returns the tes on divisor of the
two numbers passed to it .Write a complete C program that inputs t a 1l the functions
GCD to pute the greatest divisor of the number entere

Ans. int ged(int, int );
void main()

{

intabr;

clrser();

printf(“please enter no of A & B™);
scanfl“%d%d", a&,&b);
r=ged(a,b);

print{(“GCD=%d"r);

getch();

)

l
(o

inti,m;

m=1;

for(i=2;i<=x;i++)

{

If(x%i=—=8&&y%i==0)
m=i;

return m;,

)

OUTPUT

please enter no of A & 10
GCD=5
From Punjab Board:
1.  What is functigh’and fun: all Statement?
(LHR-14) (SWL-14) (FSD-14) (SGD-14) (BWP-15) (BWP-14)

(RWP-14) (D.G.K-14) (GRW/G1-16) (GRW-19) (D.G.K - 19)
Ans. Inside e address is used to access the actual argument used in the call. This means that changes
ect the argument. By default, C uses call by value to pass arguments. In general, it
in a function cannat alter the arguments used to call the function.

2. n local and global variables?
KSMR/G1-16) (FSD/G1-16) (LHR/G1-15) (FSD/G1-15) (AJK/G1-16) (GRW/G1-16)
(RWP/G1-16) (LHR/G1-16) (D.G.K-14) (BWP-14) (MTN-19) (SGD-19) (GRW-19)
Anps. L iables are declared inside the function while global variables are declared outside the function. Local
es can be used in the function in which they are declared while global variables can be used by all
3.  Define the scope of local variable.(D.G.K/G1-16) (MTN/G1-16)

Ans. The portion of a program where a variable is used (accessed) is known as its scope. A local variable declared
in a function can only be used in that function only.
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4. What is life time of local variable? (SWL/G1-15)

Ans. The time period which a local variable exists in memory is called lifetime of a local ganable, local
variables are created when control enters into function. They are destroyed from memory fhen rol Yéturns
back to calling function.

5. What are Actual Parameters?(LHR-14) (SGD-14) (LHR-19)

Ans. The parameters used in the function call are called actual parameters/ argument. The!
that are passed to the function. The actual parameters may be in the form of cof

6.  Differentiate between function definition and function declaration / fum:tlon p

are the actual values

Ans.

Function Definition

1. Itis a set of stalement that is written to perform a
particular task

2. It must be defined before or after the main()
function.

3. It cannot be written inside the main() function.

7. Define function. Why is it used in a program? x
(FSD/G1-16)(ES 6) (BWPIGl-lﬁ] (AJK-19) (RWP-]QJ

Ans. A piece of code within a large program, which is written rfi
independent of the remaining code of the program. Functons aré the but]dmg blnck: of C program

size of pragram is reduced. The program can casily odified and debugged.
8. A e? (KSMR/G1-16) (AJK/G1-16)
Ans. if'yi ; defined function is called the function prototype. The function
on declaration. The function declaration statement is used to declare a
provides the information to the compiler about the user-defined
9, G1315)(MTN/G1-15)/(ATK/G1-15)(SWL-19)(SGD-19)(MTN-19)D.G K - 19)
Ans. i 01 f@rte thag arc part of the programming language are called built-in function ‘The
inction .These function can be used for different purposes. C-language
ons. The functions are defining in the header files. Four built-in function
printf(),scanf(),clrser(),and getch()
10. y farameter passing in the function? (D.G.K/G1-15) (RWP/G1-15)
Ans. Fpas anism used to pass p toap ubroutine) or function. The most
pass the value of the actual parameter (call by value), or to pass the address of the
ion where the actual parameter is stored (call by reference)
11
(SGD/G1-16) (AJK/G1-14) (SWL/G1-15) (BWP-15) (GRW-14) (RWP-14) (AJK-19)
Ans

Easy to write a program

Easy to understand and modify the program
iminate duplicate code

4. Reusability
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12, 'What are the two types of functions in C language?
(RWP/G1-16)(SWL-19)(SGD-19)(M TN
Ans. There are two types of function in C-language. These are built in function and user- defingsfifl
Built-In Functions The predefined function that are that are pant of the programmiin ge_are’called
built-in function .The built-in function are called library function .These function c: To
purposes. C-language has a large number of built-in functions. The functions arg
Four built-in function that are commonly used in C are printf(),scanf(),clrscr(),and

User-define function The function written by a user or programmer are call@ cfibed function .These

functions. A user-defined function is written to perform a specific task. '
13. What is lifetime of a variable? (MTN/G1-16)

Ans. The time period for which a variable exists in memory is called lifefifigipf a variable. Its lifetime starts when
it is created in memory and ends when it is destroyed from mejit agiable can only be used during its
lifetime.

14. Define function body.

Ans. The set of statement that are written between the curly bifaces j er'the header of function definition is

15. How does a function make programming easier? )

16. Define function header. (AJK/G1-14) (ESD/G14"
Ans.

z
g
5
o
e
S
g
5
a
2.
S
3
=
&
B
=2
5
3
7
[¢]
=)
5
3
2w
&
)
=
B
&
8
g
[v]
a
2
5
2
g
g
E
o
&
o,
2
=
g
8
%
g
&
B
B

17. 'What is meant by scope of a vari

Ans. A scope in any programming is a the program where a defined variable can have its existence and

beyond that variable it cannot bc A

in C programming languag ! ction or a block which is called local variables.

18. What is a string? (AJK-19)]

Ans. A string is a data typ 1 rammmg such as an integer and floating point unit, but is used to
represent text rathes 5. IQis comprised of a set of characters that can also contain spaces and
numbers. For ex ger” and the phrase "I ate 3 burgers” are both strings.

19. i able? (SWL-19)

Ans.  Scope refers tgf! riables. In other words, which parts of your program can see or use it.
3 global scope. Once defined, every part of your program can access

o be able to limit a variable's scope to a single function.

ction? (SWL-19)

har *fgets(char *str, int n, FILE *stream) reads a line from the specified stream

20. What i

SECTION I
LONG QUESTIONS

No long questions in this Chapter by Punjab Text Book Board.

XX X XX XX
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FILE HANDLIN

MULTIPLE CHOICE QUESTION

From PTB Exercise:
1. A file is stored in:
(a) ram (b) hard
(c) rom (d) cache
4, Which of the following functions is use write a&ng to file? (GRW-19) (SWL-19)
(@  puts() c()
() fputs()
From Punjab Board:
1. In the statement FILE* fp, the ents: (MTN-19) (AJK-19) (D.G.K-19)

(a) Variable
) Pointer
2. A binary stream is s (MTN/G1-15)
(b) Bytes
(d) Gigabytes
d to read character from a file. (RWP-18)
(b)  gete()
(d) fgets()
(SGD-18)
) 4
) 2

racter conversion may occur in: (D.G.K-14)

(a)
(c)  Output Stream (d) Input Stream

ext Stream (b) Binary Stream
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SHORT QUESTIONS ANSWERS

From PTB Exercise:

1. What is stream? Illustrate the difference between text and binary streams

Ans. In computer science, a stream is a sequence of data elements made available o
thought of as items on a convey or belt being processed one at a time rathgi i
already operated on a lot of text files and a few binary files. The major diff
a text file contains lexlual information in the form of alphabcts. digits afi

e. A stream can be
batches. We have

modes.
Ans. File can be apened in basic 3 modes : Reading Mode, Writing ing Mode. If File is not present
on the path specified then New File can be created using Writ Mode. Generally we used to

open following types of file in C
File Opening Mode Chart:

Returns if FILE-
Mode Meaning
Y Exists
™+ Reading + Writing [New data is M the beginning overwriting existing data
w+ Reading + Writing é‘l Existing
at Reading + Appending ppended at the end of file
From Punjab Board:

1.  Define stream.
Ans. InC, the stream is a common, logiealSh
common form, a stream is a logical
the screen, the keyboard, a pp

(SGD-14) (SGD-19) (FSD-19)
rface to the various devices that comprise the computer. In its most
o a file. As C defines the term "file", it can refer to a disk file,

r mpul/outpul device and program is called stream. It is a general
S as a sequence of bytes. The stream may be input stream or output

te. In a binary stream, there is one-to-one relationship between the bytes
evice. The number of bytes written or read is the same as the number of
Or

3. line marker. (BWP/G1-16)
Ans. escape sequence ‘\n’ is used to insert a new line on the output device and in a text data
“\n” indicates the ends-of —line character or new-line marker. In a text editor (such as TC
tepad), when enter key is pressed, a new line character *\n’ is automatically inserted at the end of
a
4. nclion is used to close a file in C language? (RWP/G1-16) (BWP-15) (GRW-14) (LHR/G1-

Ans. Thefile (hmh text and binary) should be closed after reading/writing.Closing a file is performed using library
function fclose() fclose(fptr); //fptr is the file pointer associated with file to be closed.
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5. What is the use of data file? (MTN/G1-16)

Ans. A logical interface between data file or input/output device and program is called stream. J1s a general name
given 10 a flow of data. The data flows as a sequence of bytes. The stream may be inp Butput
stream. A flow of data from input device to computer is called input stream. For exan rogramdoaded
in memory reads data from input device such as keyboard. Similarly, a program réads data fjomgfata file

stored on disk. The data flows frem keybaard or disk to computer memory.A flow o Omputer to
output device is called output stream. For example, a program loaded in memongsen iom to output
device such as monitor, similarly, a program writes data into data file on disk. The | flows frorn computer

memory to monitor or disk. -
Simply in short One way to get input into a program or to display outpuff

input and standard output, respectively. All that means is that to read in'data, we use, 8
functions) and to write out data, we use printf()

s 1o use standard
anf() (or a few other

6. Compare binary and text stream / Name twao types of streams uosed i

(KSMR/ G1-16) (RWP-19)(RWP-19)

Ams. There are two types of streams.
7 Textstream
»  Binary stream
Text Stream:
»  Aextstream is a sequences of characters.
»  Character translations may occur in a text streamy
»  There may not be one to one relation between the

is represented as carriage return.
ritten and those on the external device.

Binary Stream:
»  Itisasequence of bytes. l
»  The number of bytes written or read’
there is one to one relation betwe; t
No character tr: r in binary stream.
TEXT STREAM BINARY STREAM
A text file contains textual informati A binary file contains bytes or a compiled version
alphabets, digits and special characters bols. of a text file.
A text file stores data in the form of alphd its and | A binary file contains a sequence or a collection of
other special symbols by storin I and | bytes which are not in a human readable format, For
are in a human readable format, Fo ean i example, files with .exe, .mp3, etc extension. It
a.IxL, .c, elc ion Tepr custom data.
A small error in a textu: A small error in a binary file corrupts the file
eliminated when seen. W and is not easy to detect.
Since the data is not human readable it also adds to
the security of the content as one might not be able
to get data if the structure is not known.
A binary stream doesn't do this. There is perhaps an
implicit assumption that a file opened in text mode
might actually consist only of printable characters
and cursor control characters.

fp
Fp=fopen(“c:\WcWXYZ.DAT™,"17);
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File Opening Modes:
> “r” open a text file for reading, each file must exists before reading
» “w” open a text file for writing, if the file already exists then it contents are over
exists, it will be created.
» “a” open a text file for opened. Data is appended at the end of existing file. If th
will be created.
» “r+”opens a file for both reading and writing, The file must already exists.
¥ “w+" open a file for reading and writing, its contents are overwritten. If the
created.
» “at+” opens a text file for both reading and appending. Of the file d@€s not exists
reading and writing.
% The fopen function returns the null pointer, if it fails to open the filemost corpm
not exist).
8.  What is text file. (D.G.K-14) (BWP-14)
Ans. All text file functions and types in C come from the stdio lib:
and we need only one source for input information and ong
on stdin (standard in) and stdount (standard out), and in Y i
stream, certain character conversion may occur. For exafiple;s *fuence of characters flows fmm main
memory to output device, a carriage return (“\r’) is cof [ifto'giew line. It means that there may not be a
one-to-one relationship between the characters
9.  Define file pointer. (LHR/G1-15)
Ans. File pointer is a pointer which is used to handle and keepgrackipn the files being accessed. A new data type
called “FILE" is used to declare file pointeri/This data@ype is defined in stdio.h file.
Simply we can say A file pointer is a poinfy i&of type FILE. FILE is a special data structure, which is
defined in the ‘stdio h’ header file. It is 6ld the information of a data file opened in memory.
10. Define EOF marker in file. 4)’/

oes not exists, it is
it 15 created for both
on reason is file does

ry. When W& need text I/O in a C program,
sink fnr output information, you can rely

Ans. The data source is usually called a file or stream<Iinthe"C Standard Library, the character reading functions
such as getchar return a value | to the symuhc value (macro) EOF to indicate that an end-of-
file condition has occurred.

Simply EOF stands for End-Of-File. Ity I character. It is automatically inserted at the end of each data
file. When program is reading ential file, it reds data upto the required data item or end-of —

line character is reached. In . ris used to detect the end-of-line.
11. ! (D.G.K/G1-16)
Ans. 7
Sequential Access: i y gymethod, information in a file is accessed sequentially one record after
another. ,
Direct Access necessary to process every record in a file
s access method is a slight modification of the direct access method.
12. dicated? (MTN-19) (D.G.K -19)

Ans. Short fo ¥is a code placed by a computer afier a file's last byte of data. EOF marks are
and storage. Files are stored in blocks, and the end marker helps the computer

SECTION Il
LONG QUESTIONS

No long questions in this Chapter by Punjab Text Book Board.

3X 3K X 3
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EXAMS TIPS

1. Walk Before An Exam

It’s been proven that exercise can boost your memory and brain power. Research conducted by of the
University of Illinois provides evidence that about 20 minutes exercise before an exam can impro
Compaosite of 20 student brains taking the same test
After sitting quiecly  Afer 20 minute
[
2. Speak Out Loud Instead of Simply Reading
Although this may make you look a little crazy, give it a go! Yo g how much more you can remember when

you've said it out loud. Warning: Don’t try this in a crowded library

3. Reward Yourself With A Tr

There are many ways to integr;
a simple way to motivate yi

ifito your habits so you learn how to study for exams more efficiently. Here’s
‘Gummy Bears:
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4. Teach What You Have Learned

The best way to test if you really understand something is to try to teach it to someone else. If you can’t get any i5ten to
you explain the Pythagorean Theorem, why not teach n class of stuffed animals!

"

Get New Study Hacks on a Daily Basis

Join GoCongr for free and you’ll have ac
secrets to better academic results

tudy Groups in which students from all over the world share their

5. Create Mental Associations

eas by creating a visual overview of different connections. Read more
learn here.




Computer [Part-11] Solved Past Papers 165 | Page

6. Draw Diagrams
Drawing diagrams will help you to visualise information which would be hard to describe.
memory in your mind which can be recalled in an exam. You may even be asked to draw or{labe
as the human heart in your exam so get practicing!

cr Yvisual
such

7. Times New Roman is the Fastest Font to Read

Simply put — there’s a reason why Times New Roman is the de}.l

‘'on most applications!

This isfeas read.
This is tofread.

7/22; m;j fﬂvrm@./

not easy to read.

1y istractions by blocking websites for a certain amount of time. Discover
more student apps to ghake studen! asier in our blog post “12 Student Apps Yaun Don't Want to Miss!™.
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9. Watch a Dacumentary on the Topic

Documentaries are an entertaining way of compacting an entire story into a short timeframe fThis you
remember key details from a story plus you may even get extra credit for mentioning that,yol e initiative
and watched a film aboult the topic!

Check out the infographic in this blog post which helps you decide which documentary to

10. Search Google Like a Pro

Save time when researching sources online by mastering the biggest search epgi
the tips in this image to find what ycu need at your fingertips:

eworld! Google. Follow

NS JEts you search exactly for that word. It
& your search lerms in them.

Is0 its synonyms 1o appear in the result. The abave query
for music classes, lessons, coaching etc.

Ihis oporator to soarch within a spocHic websito only.
| verticle bar biotise | shirt | chemise
5 query will search wabsiles Ihat have any anadwo/all of Iha larms

.. Two Periods movies 1850..1670

Include Iwo periods when you wanl lo search wilhin two number ranges

Sorom / S)
m—p—— m;:&‘h—;;;,com Splashsys
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11. Create Flashcards for Quick Memory Buzz

Quickly test your knowledge of key concepts, definitions, quotes and formulas with flashcards. 8ign u ongr
now to create your first Flashcard deck like the one below now!

12. Take Regular Study Breaks

orednformation but
50 minutes study as
30 minutes does nat

When your brain is working, you need ta take regular study breaks to help your brainabsorl’
also 1o keep you motivated and focused when you are working. Take a short break aft
your focus and concentration will become impaired after this period, anything new.
get assimilated.

STUDY BREAK

take cra or clse

13. Listen to the Correct Type of Musi¢

In our blog post “Music for Studving: 10 ick the Best Studv Music” we looked into the area of how the
correct types of music can lead to e F i Hidying by elevating your mood. Have you made your Mozart
Spotify playlist yet?

gfereatures of habit with favourite seats in the library but information retention actually improves when
& places where you study. Check out this Buzzfeed video for more study hacks for exams:
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15. Practice, Practice, Practice...

Practicing sample answers to past exam questions can help train
your brain to retrieve information. Create realistic, exam-like
condition and test your understanding by using our new Quiz
tool. Try our general Knowledge Quiz below:

16. Don't Stay Up All Night Before an Exam

Make sure to get adequate rest the nights leading up to your
exams. When you sleep, your brain assimilates the
information you have learned when studying so getting a good
night’s sleep will help you remember those pesky math’s
formulas you need for your exam!

Don’t make this your sleep schedule:

ITS TINEFO0 PART
¥ | SHOULD
PROBABLY GO TO BED.

17. Discover News Ways to Learn
) ichnology to your advantage by
watching educational TED Talks or downloading useful dictionary apps e npile. Read more about the benefiis
of learning how to studv for exams with technology .
18. Use Scents or Gum to Jog Your Memory

This may seem a bit random but spraying an unfamiliar séept
that can help jog your memory when you spray it again just before
waork the same way.

19. Study in a Group
Studying in a graup ¢
tool is an innovative
ideas and interact v

-._
20. Meditat
Meditation is one of the study methods that can help students stay focused when studying. Not only will meditation help
yau concentrate when studying but it will help reduce pre-exam stress as it improves both mental and physical health.



